







UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEN-X) COURSE EXAMINATION-APRIL 2019  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

MAY 10, 2019  
PAGE : 61

SEAT	NAME OF CANDIDATE	CENTRE	<---PAPER-I/V--->	<---PAPER-II/VI--->	<---PAPER-III/VII--->	<---PAPER-IV--->	SRPI-X	RSLP
			IN GR GP CR C*G	IN EX TOT GR GP CR C*G	IN GR GP CR C*G	IN GR GP CR C*G		
Sub.: 1.	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)						
Sub.: 4.	PROF. PRACT-3	(IN:50/25) (Cr.:3)						
Sub.: 7.	ELECTIVE - 10	(IN:100/50) (Cr.:3)						
Sub.: 2.	ARCH. REF. & DETAILS-8	(IN:100/50, EX:100/50) (Cr.:6)						
Sub.: 5.	ADV. BLDG. CONSTR. STRUC	(IN:100/50) (Cr.:3)						
Sub.: 3.	ARCH. THEORIES-4	(IN:50/25) (Cr.:2)						
Sub.: 6.	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)						

58951 DHOTRE GANESH HARSH POOJA

66	B	9	3	24	58	58	116	D	6	6	36	33	B	8	2	16	30	C	7	3	21	6.44	
52	B	5	3	15	105	120	225	D	6	16	96	66	B	8	3	24	5.97						
SRPI :-	SEN-I :	6.06	SEN-II :	5.78	SEN-III :	5.31	SEN-IV :	6.03	SEN-V :	5.97													
SRPI :-	SEN-VI :	5.91	SEN-VII :	6.44	SEN-VIII :	6.00	SEN-IX :	6.17	SEN-X :	6.44													
GRAND TOTAL :																							
OSPI :																							

58956 /GANGAR JINISHA VIJAY RASMI

60	C	7	3	21	65	69	133	B	8	6	48	30	C	7	2	14	27	E	5	3	15	7.44	
65	B	8	3	24	125	140	265	B	8	16	128	58	D	6	3	18	638						
SRPI :-	SEN-I :	9.67	SEN-II :	7.95	SEN-III :	7.75	SEN-IV :	7.36	SEN-V :	7.03													
SRPI :-	SEN-VI :	7.00	SEN-VII :	6.64	SEN-VIII :	5.00	SEN-IX :	6.50	SEN-X :	7.44													
GRAND TOTAL :																							
OSPI :																							

58961 /GAUR ADITI LATTA

59	D	6	3	18	68	54	122	C	7	6	42	25	E	5	2	10	25	E	5	3	15	6.03	
63	C	7	3	21	113	110	223	D	6	16	96	51	E	5	3	15	524						
SRPI :-	SEN-I :	5.55	SEN-II :	6.00	SEN-III :	5.65	SEN-IV :	6.31	SEN-V :	5.11													
SRPI :-	SEN-VI :	5.14	SEN-VII :	5.14	SEN-VIII :	9.00	SEN-IX :	5.59	SEN-X :	6.03													
GRAND TOTAL :																							
OSPI :																							

58962 /GAWALE CHAITALI AVINASH KAVITA

66	B	8	3	24	60	55	115	D	6	6	36	32	C	7	2	14	30	C	7	3	21	7.53	
65	B	8	3	24	120	140	260	B	8	16	128	65	B	8	3	24	640						
SRPI :-	SEN-I :	7.64	SEN-II :	7.91	SEN-III :	7.93	SEN-IV :	7.36	SEN-V :	7.00													
SRPI :-	SEN-VI :	6.07	SEN-VII :	7.11	SEN-VIII :	6.00	SEN-IX :	7.47	SEN-X :	7.53													
GRAND TOTAL :																							
OSPI :																							

58963 /GAWAND SAURASH PRADEEP RAJANI

59	E	5	3	15	53	56	112	D	6	6	36	30	C	7	2	14	30	C	7	3	21	6.86	
55	D	6	3	18	130	130	260	B	8	16	128	50	E	5	3	15	587						
SRPI :-	SEN-I :	3.75	SEN-II :	3.93	SEN-III :	5.00	SEN-IV :	5.75	SEN-V :	5.96													
SRPI :-	SEN-VI :	5.95	SEN-VII :	5.61	SEN-VIII :	9.00	SEN-IX :	6.75	SEN-X :	6.86													
GRAND TOTAL :																							
OSPI :																							

58968 /GERSAMALE KALYANI GANDESHKANT MILIN

51E	B	5	3	15	100E	60F	160																
51E	B	5	3	15	5.83	5.35	5.72	5.72	5.81	5.72													
SRPI :-	SEN-I :	5.15	SEN-II :	5.67	SEN-III :	6.00	SEN-IV :	6.53	SEN-V :	0.00													
SRPI :-	SEN-VI :	5.15	SEN-VII :	5.67	SEN-VIII :	6.00	SEN-IX :	6.53	SEN-X :	0.00													
GRAND TOTAL :																							
OSPI :																							

58969 /GOSAV KIRIT DINESH MENKA

51E	B	5	3	15	100E	60F	160																
51E	B	5	3	15	5.83	5.35	5.72	5.72	5.81	5.72													
SRPI :-	SEN-I :	5.15	SEN-II :	5.67	SEN-III :	6.00	SEN-IV :	6.53	SEN-V :	0.00													
SRPI :-	SEN-VI :	5.15	SEN-VII :	5.67	SEN-VIII :	6.00	SEN-IX :	6.53	SEN-X :	0.00													
GRAND TOTAL :																							
OSPI :																							

58970 /GUREKAR PRADIPTE BALEKRISHNA RAJANI

60	C	7	3	21	92	60	112	D	6	6	36	32	C	7	2	14	33	B	8	3	24	6.75	
53	B	5	3	15	115	140	255	C	7	16	112	60	C	7	3	21	605						
SRPI :-	SEN-I :	6.50	SEN-II :	7.62	SEN-III :	7.93	SEN-IV :	7.58	SEN-V :	7.00													
SRPI :-	SEN-VI :	6.75	SEN-VII :	5.64	SEN-VIII :	6.00	SEN-IX :	6.42	SEN-X :	6.75													
GRAND TOTAL :																							
OSPI :																							

8:0.5042A: 8:0.5043A: 8:0.5045A: 8:0.5047: 8:0.5049: 8:0.5051: 8:0.5053: 8:0.5055: 8:0.5057: 8:0.5059: 8:0.5061: 8:0.5063: 8:0.5065: 8:0.5067: 8:0.5069: 8:0.5071: 8:0.5073: 8:0.5075: 8:0.5077: 8:0.5079: 8:0.5081: 8:0.5083: 8:0.5085: 8:0.5087: 8:0.5089: 8:0.5091: 8:0.5093: 8:0.5095: 8:0.5097: 8:0.5099: 8:0.5101: 8:0.5103: 8:0.5105: 8:0.5107: 8:0.5109: 8:0.5111: 8:0.5113: 8:0.5115: 8:0.5117: 8:0.5119: 8:0.5121: 8:0.5123: 8:0.5125: 8:0.5127: 8:0.5129: 8:0.5131: 8:0.5133: 8:0.5135: 8:0.5137: 8:0.5139: 8:0.5141: 8:0.5143: 8:0.5145: 8:0.5147: 8:0.5149: 8:0.5151: 8:0.5153: 8:0.5155: 8:0.5157: 8:0.5159: 8:0.5161: 8:0.5163: 8:0.5165: 8:0.5167: 8:0.5169: 8:0.5171: 8:0.5173: 8:0.5175: 8:0.5177: 8:0.5179: 8:0.5181: 8:0.5183: 8:0.5185: 8:0.5187: 8:0.5189: 8:0.5191: 8:0.5193: 8:0.5195: 8:0.5197: 8:0.5199: 8:0.5201: 8:0.5203: 8:0.5205: 8:0.5207: 8:0.5209: 8:0.5211: 8:0.5213: 8:0.5215: 8:0.5217: 8:0.5219: 8:0.5221: 8:0.5223: 8:0.5225: 8:0.5227: 8:0.5229: 8:0.5231: 8:0.5233: 8:0.5235: 8:0.5237: 8:0.5239: 8:0.5241: 8:0.5243: 8:0.5245: 8:0.5247: 8:0.5249: 8:0.5251: 8:0.5253: 8:0.5255: 8:0.5257: 8:0.5259: 8:0.5261: 8:0.5263: 8:0.5265: 8:0.5267: 8:0.5269: 8:0.5271: 8:0.5273: 8:0.5275: 8:0.5277: 8:0.5279: 8:0.5281: 8:0.5283: 8:0.5285: 8:0.5287: 8:0.5289: 8:0.5291: 8:0.5293: 8:0.5295: 8:0.5297: 8:0.5299: 8:0.5301: 8:0.5303: 8:0.5305: 8:0.5307: 8:0.5309: 8:0.5311: 8:0.5313: 8:0.5315: 8:0.5317: 8:0.5319: 8:0.5321: 8:0.5323: 8:0.5325: 8:0.5327: 8:0.5329: 8:0.5331: 8:0.5333: 8:0.5335: 8:0.5337: 8:0.5339: 8:0.5341: 8:0.5343: 8:0.5345: 8:0.5347: 8:0.5349: 8:0.5351: 8:0.5353: 8:0.5355: 8:0.5357: 8:0.5359: 8:0.5361: 8:0.5363: 8:0.5365: 8:0.5367: 8:0.5369: 8:0.5371: 8:0.5373: 8:0.5375: 8:0.5377: 8:0.5379: 8:0.5381: 8:0.5383: 8:0.5385: 8:0.5387: 8:0.5389: 8:0.5391: 8:0.5393: 8:0.5395: 8:0.5397: 8:0.5399: 8:0.5401: 8:0.5403: 8:0.5405: 8:0.5407: 8:0.5409: 8:0.5411: 8:0.5413: 8:0.5415: 8:0.5417: 8:0.5419: 8:0.5421: 8:0.5423: 8:0.5425: 8:0.5427: 8:0.5429: 8:0.5431: 8:0.5433: 8:0.5435: 8:0.5437: 8:0.5439: 8:0.5441: 8:0.5443: 8:0.5445: 8:0.5447: 8:0.5449: 8:0.5451: 8:0.5453: 8:0.5455: 8:0.5457: 8:0.5459: 8:0.5461: 8:0.5463: 8:0.5465: 8:0.5467: 8:0.5469: 8:0.5471: 8:0.5473: 8:0.5475: 8:0.5477: 8:0.5479: 8:0.5481: 8:0.5483: 8:0.5485: 8:0.5487: 8:0.5489: 8:0.5491: 8:0.5493: 8:0.5495: 8:0.5497: 8:0.5499: 8:0.5501: 8:0.5503: 8:0.5505: 8:0.5507: 8:0.5509: 8:0.5511: 8:0.5513: 8:0.5515: 8:0.5517: 8:0.5519: 8:0.5521: 8:0.5523: 8:0.5525: 8:0.5527: 8:0.5529: 8:0.5531: 8:0.5533: 8:0.5535: 8:0.5537: 8:0.5539: 8:0.5541: 8:0.5543: 8:0.5545: 8:0.5547: 8:0.5549: 8:0.5551: 8:0.5553: 8:0.5555: 8:0.5557: 8:0.5559: 8:0.5561: 8:0.5563: 8:0.5565: 8:0.5567: 8:0.5569: 8:0.5571: 8:0.5573: 8:0.5575: 8:0.5577: 8:0.5579: 8:0.5581: 8:0.5583: 8:0.5585: 8:0.5587: 8:0.5589: 8:0.5591: 8:0.5593: 8:0.5595: 8:0.5597: 8:0.5599: 8:0.5601: 8:0.5603: 8:0.5605: 8:0.5607: 8:0.5609: 8:0.5611: 8:0.5613: 8:0.5615: 8:0.5617: 8:0.5619: 8:0.5

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V	PAPER-II/VI	PAPER-III/VII-5	PAPER-IV	SRPL-X	RESLT							
LN	GP	CR	C+G	LN	EX	TOT GP	GP	CR	C+G	LN	GP	CR	C+G	SRPL-X	RESLT
Sub: 1	ENVIRONMENTAL STUDIES-5	(LN:100/50) (CR: 3)	Sub: 12	ARCH. REP. & DETAILS-6	(LN:100/50, EX:100/50) (CR: 6)	Sub: 3	ARCH. THEORIES-4	(LN:50/25) (CR: 2)							
Sub: 4	PROP. PRACT-2	(LN:50/25) (CR: 3)	Sub: 5	ADV. BLDG. CONSTR. SPAN	(LN:100/50) (CR: 3)	Sub: 16	DESIGN DISS.-2	(LN:200/100, EX:200/100) (CR: 1.5)							
Sub: 7	RECURSIVE - 10	(LN:100/50) (CR: 3)													

5615 / GUPTA SONALI ORPPAKASH SUNITA

ALC

5621 / JAIRAV SANDEEP VIKAS VANDITA

ALC

5622 / JAIRAV SHUBHAM CHANDRASEN SAVITRA

ALC

5624 / JALAN AYUSHI SABIITA

ALC

5626 / JAYALAKSHINI S

ALC

5634 / RAU NUSHAH MAUDUKURAK ABHILASHA

ALC

5636 / KANDEKAR PRACHITI CHEETAN ATULIA

ALC

5645 / YARLA DIVYANI KAUSHIK GEETA

ALC

5653 / KHAN WASSEM GESU MOMINA

ALC

5657 / RAJAVARER VAPUN SHIVAM KARIJEDDA

ALC



B:O-5042A; B:O-5043A; \*;O-5045A; #:O-225; +:EXMP.CARRIED;/:FEMALE; A:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; R:RESERVED; -:DYSLEXIA; A/A:ABS; A:ABSENT; NULL:NULL & VOID.;  
 GPA: GRADE POINT AVERAGE=SUM OF C+G / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
 GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; AD: ADMISSION CANCELLED; RW: PROVISIONAL; KC: O.5050.  
 Course Grades: -Grade-O(Outstanding)= 10pt.; Grade-A(Excellent)= 9pt.; Grade-B(Very Good)= 8pt.; Grade-C(Good)= 7pt.; Grade-D(Fair)= 6pt.; Grade-E(Satisfactory)= 5pt.; Grade-F(Fail)= 4pt.

OFFICE MEMORANDUM FOR THE RECORD FROM THE DEPARTMENT OF ARCHITECTURE  
 COLLEGE OF ARCHITECTURE, V.J.P. CAMPUS, COLLEGE OF ARCHITECTURE

DATE: 10/10/2016  
 PAGE: 1 of 1

SRNO	NAME OF CANDIDATE	ENROLLMENT NO.	SEM	CR	CG	MARKS	PERCENTAGE	STATUS	REMARKS
5661	KOLASBELL DEVIAN VANDHEE LEVI	1211000501022431	VI	10	3	20	62	55	146
			CO	7	3	24	43	125	239
			SRPT I	SEN-I	7.01	SEN-I	5.00	SEN-I	7.70
			SRPT II	SEN-II	7.16	SEN-II	5.87	SEN-II	7.00
			SRPT III	SEN-III	6.97	SEN-III	5.87	SEN-III	7.00
			SRPT IV	SEN-IV	6.11	SEN-IV	7.00	SEN-IV	7.00
			SRPT V	SEN-V	6.11	SEN-V	7.00	SEN-V	7.00
			SRPT VI	SEN-VI	5.59	SEN-VI	6.11	SEN-VI	7.00
			SRPT VII	SEN-VII	6.11	SEN-VII	7.00	SEN-VII	7.00
			SRPT VIII	SEN-VIII	6.11	SEN-VIII	7.00	SEN-VIII	7.00
			SRPT IX	SEN-IX	6.11	SEN-IX	7.00	SEN-IX	7.00
			SRPT X	SEN-X	6.11	SEN-X	7.00	SEN-X	7.00
			SRPT XI	SEN-XI	6.11	SEN-XI	7.00	SEN-XI	7.00
			SRPT XII	SEN-XII	6.11	SEN-XII	7.00	SEN-XII	7.00
			SRPT XIII	SEN-XIII	6.11	SEN-XIII	7.00	SEN-XIII	7.00
			SRPT XIV	SEN-XIV	6.11	SEN-XIV	7.00	SEN-XIV	7.00
			SRPT XV	SEN-XV	6.11	SEN-XV	7.00	SEN-XV	7.00
			SRPT XVI	SEN-XVI	6.11	SEN-XVI	7.00	SEN-XVI	7.00
			SRPT XVII	SEN-XVII	6.11	SEN-XVII	7.00	SEN-XVII	7.00
			SRPT XVIII	SEN-XVIII	6.11	SEN-XVIII	7.00	SEN-XVIII	7.00
			SRPT XIX	SEN-XIX	6.11	SEN-XIX	7.00	SEN-XIX	7.00
			SRPT XX	SEN-XX	6.11	SEN-XX	7.00	SEN-XX	7.00
			SRPT XXI	SEN-XXI	6.11	SEN-XXI	7.00	SEN-XXI	7.00
			SRPT XXII	SEN-XXII	6.11	SEN-XXII	7.00	SEN-XXII	7.00
			SRPT XXIII	SEN-XXIII	6.11	SEN-XXIII	7.00	SEN-XXIII	7.00
			SRPT XXIV	SEN-XXIV	6.11	SEN-XXIV	7.00	SEN-XXIV	7.00
			SRPT XXV	SEN-XXV	6.11	SEN-XXV	7.00	SEN-XXV	7.00
			SRPT XXVI	SEN-XXVI	6.11	SEN-XXVI	7.00	SEN-XXVI	7.00
			SRPT XXVII	SEN-XXVII	6.11	SEN-XXVII	7.00	SEN-XXVII	7.00
			SRPT XXVIII	SEN-XXVIII	6.11	SEN-XXVIII	7.00	SEN-XXVIII	7.00
			SRPT XXIX	SEN-XXIX	6.11	SEN-XXIX	7.00	SEN-XXIX	7.00
			SRPT XXX	SEN-XXX	6.11	SEN-XXX	7.00	SEN-XXX	7.00
			SRPT XXXI	SEN-XXXI	6.11	SEN-XXXI	7.00	SEN-XXXI	7.00
			SRPT XXXII	SEN-XXXII	6.11	SEN-XXXII	7.00	SEN-XXXII	7.00
			SRPT XXXIII	SEN-XXXIII	6.11	SEN-XXXIII	7.00	SEN-XXXIII	7.00
			SRPT XXXIV	SEN-XXXIV	6.11	SEN-XXXIV	7.00	SEN-XXXIV	7.00
			SRPT XXXV	SEN-XXXV	6.11	SEN-XXXV	7.00	SEN-XXXV	7.00
			SRPT XXXVI	SEN-XXXVI	6.11	SEN-XXXVI	7.00	SEN-XXXVI	7.00
			SRPT XXXVII	SEN-XXXVII	6.11	SEN-XXXVII	7.00	SEN-XXXVII	7.00
			SRPT XXXVIII	SEN-XXXVIII	6.11	SEN-XXXVIII	7.00	SEN-XXXVIII	7.00
			SRPT XXXIX	SEN-XXXIX	6.11	SEN-XXXIX	7.00	SEN-XXXIX	7.00
			SRPT XL	SEN-XL	6.11	SEN-XL	7.00	SEN-XL	7.00
			SRPT XLI	SEN-XLI	6.11	SEN-XLI	7.00	SEN-XLI	7.00
			SRPT XLII	SEN-XLII	6.11	SEN-XLII	7.00	SEN-XLII	7.00
			SRPT XLIII	SEN-XLIII	6.11	SEN-XLIII	7.00	SEN-XLIII	7.00
			SRPT XLIV	SEN-XLIV	6.11	SEN-XLIV	7.00	SEN-XLIV	7.00
			SRPT XLV	SEN-XLV	6.11	SEN-XLV	7.00	SEN-XLV	7.00
			SRPT XLVI	SEN-XLVI	6.11	SEN-XLVI	7.00	SEN-XLVI	7.00
			SRPT XLVII	SEN-XLVII	6.11	SEN-XLVII	7.00	SEN-XLVII	7.00
			SRPT XLVIII	SEN-XLVIII	6.11	SEN-XLVIII	7.00	SEN-XLVIII	7.00
			SRPT XLIX	SEN-XLVIX	6.11	SEN-XLVIX	7.00	SEN-XLVIX	7.00
			SRPT L	SEN-L	6.11	SEN-L	7.00	SEN-L	7.00
			SRPT LI	SEN-LI	6.11	SEN-LI	7.00	SEN-LI	7.00
			SRPT LII	SEN-LII	6.11	SEN-LII	7.00	SEN-LII	7.00
			SRPT LIII	SEN-LIII	6.11	SEN-LIII	7.00	SEN-LIII	7.00
			SRPT LIV	SEN-LIV	6.11	SEN-LIV	7.00	SEN-LIV	7.00
			SRPT LV	SEN-LV	6.11	SEN-LV	7.00	SEN-LV	7.00
			SRPT LVI	SEN-LVI	6.11	SEN-LVI	7.00	SEN-LVI	7.00
			SRPT LVII	SEN-LVII	6.11	SEN-LVII	7.00	SEN-LVII	7.00
			SRPT LVIII	SEN-LVIII	6.11	SEN-LVIII	7.00	SEN-LVIII	7.00
			SRPT LVIX	SEN-LVIX	6.11	SEN-LVIX	7.00	SEN-LVIX	7.00
			SRPT LX	SEN-LX	6.11	SEN-LX	7.00	SEN-LX	7.00
			SRPT LXI	SEN-LXI	6.11	SEN-LXI	7.00	SEN-LXI	7.00
			SRPT LXII	SEN-LXII	6.11	SEN-LXII	7.00	SEN-LXII	7.00
			SRPT LXIII	SEN-LXIII	6.11	SEN-LXIII	7.00	SEN-LXIII	7.00
			SRPT LXIV	SEN-LXIV	6.11	SEN-LXIV	7.00	SEN-LXIV	7.00
			SRPT LXV	SEN-LXV	6.11	SEN-LXV	7.00	SEN-LXV	7.00
			SRPT LXVI	SEN-LXVI	6.11	SEN-LXVI	7.00	SEN-LXVI	7.00
			SRPT LXVII	SEN-LXVII	6.11	SEN-LXVII	7.00	SEN-LXVII	7.00
			SRPT LXVIII	SEN-LXVIII	6.11	SEN-LXVIII	7.00	SEN-LXVIII	7.00
			SRPT LXIX	SEN-LXIX	6.11	SEN-LXIX	7.00	SEN-LXIX	7.00
			SRPT LXX	SEN-LXX	6.11	SEN-LXX	7.00	SEN-LXX	7.00
			SRPT LXXI	SEN-LXXI	6.11	SEN-LXXI	7.00	SEN-LXXI	7.00
			SRPT LXXII	SEN-LXXII	6.11	SEN-LXXII	7.00	SEN-LXXII	7.00
			SRPT LXXIII	SEN-LXXIII	6.11	SEN-LXXIII	7.00	SEN-LXXIII	7.00
			SRPT LXXIV	SEN-LXXIV	6.11	SEN-LXXIV	7.00	SEN-LXXIV	7.00
			SRPT LXXV	SEN-LXXV	6.11	SEN-LXXV	7.00	SEN-LXXV	7.00
			SRPT LXXVI	SEN-LXXVI	6.11	SEN-LXXVI	7.00	SEN-LXXVI	7.00
			SRPT LXXVII	SEN-LXXVII	6.11	SEN-LXXVII	7.00	SEN-LXXVII	7.00
			SRPT LXXVIII	SEN-LXXVIII	6.11	SEN-LXXVIII	7.00	SEN-LXXVIII	7.00
			SRPT LXXIX	SEN-LXXIX	6.11	SEN-LXXIX	7.00	SEN-LXXIX	7.00
			SRPT LXXX	SEN-LXXX	6.11	SEN-LXXX	7.00	SEN-LXXX	7.00
			SRPT LXXXI	SEN-LXXXI	6.11	SEN-LXXXI	7.00	SEN-LXXXI	7.00
			SRPT LXXXII	SEN-LXXXII	6.11	SEN-LXXXII	7.00	SEN-LXXXII	7.00
			SRPT LXXXIII	SEN-LXXXIII	6.11	SEN-LXXXIII	7.00	SEN-LXXXIII	7.00
			SRPT LXXXIV	SEN-LXXXIV	6.11	SEN-LXXXIV	7.00	SEN-LXXXIV	7.00
			SRPT LXXXV	SEN-LXXXV	6.11	SEN-LXXXV	7.00	SEN-LXXXV	7.00
			SRPT LXXXVI	SEN-LXXXVI	6.11	SEN-LXXXVI	7.00	SEN-LXXXVI	7.00
			SRPT LXXXVII	SEN-LXXXVII	6.11	SEN-LXXXVII	7.00	SEN-LXXXVII	7.00
			SRPT LXXXVIII	SEN-LXXXVIII	6.11	SEN-LXXXVIII	7.00	SEN-LXXXVIII	7.00
			SRPT LXXXIX	SEN-LXXXIX	6.11	SEN-LXXXIX	7.00	SEN-LXXXIX	7.00
			SRPT LXXXX	SEN-LXXXX	6.11	SEN-LXXXX	7.00	SEN-LXXXX	7.00
			SRPT LXXXXI	SEN-LXXXXI	6.11	SEN-LXXXXI	7.00	SEN-LXXXXI	7.00
			SRPT LXXXXII	SEN-LXXXXII	6.11	SEN-LXXXXII	7.00	SEN-LXXXXII	7.00
			SRPT LXXXXIII	SEN-LXXXXIII	6.11	SEN-LXXXXIII	7.00	SEN-LXXXXIII	7.00
			SRPT LXXXXIV	SEN-LXXXXIV	6.11	SEN-LXXXXIV	7.00	SEN-LXXXXIV	7.00
			SRPT LXXXXV	SEN-LXXXXV	6.11	SEN-LXXXXV	7.00	SEN-LXXXXV	7.00
			SRPT LXXXXVI	SEN-LXXXXVI	6.11	SEN-LXXXXVI	7.00	SEN-LXXXXVI	7.00
			SRPT LXXXXVII	SEN-LXXXXVII	6.11	SEN-LXXXXVII	7.00	SEN-LXXXXVII	7.00
			SRPT LXXXXVIII	SEN-LXXXXVIII	6.11	SEN-LXXXXVIII	7.00	SEN-LXXXXVIII	7.00
			SRPT LXXXXIX	SEN-LXXXXIX	6.11	SEN-LXXXXIX	7.00	SEN-LXXXXIX	7.00
			SRPT LXXXXX	SEN-LXXXXX	6.11	SEN-LXXXXX	7.00	SEN-LXXXXX	7.00
			SRPT LXXXXXI	SEN-LXXXXXI	6.11	SEN-LXXXXXI	7.00	SEN-LXXXXXI	7.00
			SRPT LXXXXXII	SEN-LXXXXXII	6.11	SEN-LXXXXXII	7.00	SEN-LXXXXXII	7.00
			SRPT LXXXXXIII	SEN-LXXXXXIII	6.11	SEN-LXXXXXIII	7.00	SEN-LXXXXXIII	7.00
			SRPT LXXXXXIV	SEN-LXXXXXIV	6.11	SEN-LXXXXXIV	7.00	SEN-LXXXXXIV	7.00
			SRPT LXXXXXV	SEN-LXXXXXV	6.11	SEN-LXXXXXV	7.00	SEN-LXXXXXV	7.00
			SRPT LXXXXXVI	SEN-LXXXXXVI	6.11	SEN-LXXXXXVI	7.00	SEN-LXXXXXVI	7.00
			SRPT LXXXXXVII	SEN-LXXXXXVII	6.11	SEN-LXXXXXVII	7.00	SEN-LXXXXXVII	7.00
			SRPT LXXXXXVIII	SEN-LXXXXXVIII	6.11	SEN-LXXXXXVIII	7.00	SEN-LXXXXXVIII	7.00
			SRPT LXXXXXIX	SEN-LXXXXXIX	6.11	SEN-LXXXXXIX	7.00	SEN-LXXXXXIX	7.00
			SRPT LXXXXXX	SEN-LXXXXXX	6.11	SEN-LXXXXXX	7.00	SEN-LXXXXXX	7.00
			SRPT LXXXXXXI	SEN-LXXXXXXI	6.11	SEN-LXXXXXXI	7.00	SEN-LXXXXXXI	7.00
			SRPT LXXXXXXII	SEN-LXXXXXXII	6.11	SEN-LXXXXXXII	7.00	SEN-LXXXXXXII	7.00
			SRPT LXXXXXXIII	SEN-LXXXXXXIII	6.11	SEN-LXXXXXXIII	7.00	SEN-LXXXXXXIII	7.00
			SRPT LXXXXXXIV	SEN-LXXXXXXIV	6.11	SEN-LXXXXXXIV	7.00	SEN-LXXXXXXIV	7.00
			SRPT LXXXXXXV	SEN-LXXXXXXV	6.11	SEN-LXXXXXXV	7.00	SEN-LXXXXXXV	7.00
			SRPT LXXXXXXVI	SEN-LXXXXXXVI	6.11	SEN-LXXXXXXVI	7.00	SEN-LXXXXXXVI	7.00
			SRPT LXXXXXXVII	SEN-LXXXXXXVII	6.11	SEN-LXXXXXXVII	7.00	SEN-LXXXXXXVII	7.00
			SRPT LXXXXXXVIII	SEN-LXXXXXXVIII	6.11	SEN-LXXXXXXVIII	7.00	SEN-LXXXXXXVIII	7.00
			SRPT LXXXXXXIX	SEN-LXXXXXXIX	6.11	SEN-LXXXXXXIX	7.00	SEN-LXXXXXXIX	7.00
			SRPT LXXXXXXX	SEN-LXXXXXXX	6.11	SEN-LXXXXXXX	7.00	SEN-LXXXXXXX	7.00
			SRPT LXXXXXXXI	SEN-LXXXXXXXI	6.11	SEN-LXXXXXXXI	7.00	SEN-LXXXXXXXI	7.00
			SRPT LXXXXXXXII	SEN-LXXXXXXXII	6.11	SEN-LXXXXXXXII	7.00	SEN-LXXXXXXXII	7.00
			SRPT LXXXXXXXIII	SEN-LXXXXXXXIII	6.11	SEN-LXXXXXXXIII	7.00	SEN-LXXXXXXXIII	7.00
			SRPT LXXXXXXXIV	SEN-LXXXXXXXIV	6.11	SEN-LXXXXXXXIV	7.00	SEN-LXXXXXXXIV	7.00
			SRPT LXXXXXXXV	SEN-LXXXXXXXV	6.11	SEN-LXXXXXXXV	7.00	SEN-LXXXXXXXV	7.00
			SRPT LXXXXXXXVI	SEN-LXXXXXXXVI	6.11	SEN-LXXXXXXXVI	7.00	SEN-LXXXXXXXVI	7.00
			SRPT LXXXXXXXVII	SEN-LXXXXXXXVII	6.11	SEN-LXXXXXXXVII	7.00	SEN-LXXXXXXXVII	7.00
			SRPT LXXXXXXXVIII	SEN-LXXXXXXXVIII	6.11	SEN-LXXXXXXXVIII	7.00	SEN-LXXXXXXXVIII	7.00
			SRPT LXXXXXXXIX	SEN-LXXXXXXXIX	6.11	SEN-LXXXXXXXIX	7.00	SEN-LXXXXXXXIX	7.00
			SRPT LXXXXXXX	SEN-LXXXXXXX					



SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V	PAPER-II/VI	PAPER-III/VII	PAPER-IV	RSLT										
IN	GP	CR	C+G	IN	EX	TOT	GP	CR	C+G	IN	GP	CR	C+G	IN	GP	CR	C+G
Sub.:1	NAV/NAVIL SURESH-5	(LN:100/50) (Cr.:3)	Sub.:2	ARCH. REP. & DETAILING-8	(LN:100/50, EX:100/50) (Cr.:6)	Sub.:3	ARCH. THEORIES-4	(LN:50/25) (Cr.:3)									
Sub.:4	PROF. REACT-3	(LN:50/25) (Cr.:3)	Sub.:5	ADV. BLDG. CONST. STUDY	(LN:100/50) (Cr.:3)	Sub.:6	DESIGN DISS.-2	(LN:200/100, EX:200/100) (Cr.:16)									
Sub.:7	ELECTIVE - 10	(LN:100/50) (Cr.:3)															

6034 / NAVYANIKAR NAVIL HARPO KANCHAN

ADC

6038	MILIND DHIVAJ ANANT SUVAPANA	4	57	D	6	3	18	60	75	125	B	8	6	48	33	B	8	2	16	30	C	7	3	21
			58	D	6	3	18	125	150	275	B	8	16	129	57	D	6	3	18					
			SGPI : -	SEN-I :	7.47	SEN-II :	7.64	SEN-III :	5.81	SEN-IV :	7.47	SEN-V :	6.64											
			SGPI : -	SEN-VI :	7.11	SEN-VII :	7.00	SEN-VIII :	10.00	SEN-IX :	6.96	SEN-X :	7.42											
			CGPI :																					
			GRAND TOTAL :																					
			CGPI :																					

6030 NIKHIL SAGAR BHAD PRATIBHA

ADC

6031	NISHCHAY KUNDA	4	55	D	6	3	18	50	52	102	E	5	6	30	38	O	10	2	20	33	B	9	3	24
			56	B	8	3	24	125	106	231	D	6	16	96	63	C	7	3	21					
			SGPI : -	SEN-I :	6.94	SEN-II :	9.06	SEN-III :	7.00	SEN-IV :	6.21	SEN-V :	6.42											
			SGPI : -	SEN-VI :	5.66	SEN-VII :	5.36	SEN-VIII :	7.00	SEN-IX :	6.52	SEN-X :	6.47											
			CGPI :																					
			GRAND TOTAL :																					
			CGPI :																					

6034 / PRANJAL BIMAL GAURAN JISNA

ADC

6035	PANJHAL DISHA DEEPAK PUVUVA	4	64	C	7	3	21	63	65	128	C	7	6	42	34	B	8	2	16	34	B	9	3	24
			53	E	5	3	15	120	145	265	B	8	16	129	65	B	8	3	24					
			SGPI : -	SEN-I :	5.00	SEN-II :	8.97	SEN-III :	7.64	SEN-IV :	7.59	SEN-V :	8.31											
			SGPI : -	SEN-VI :	7.44	SEN-VII :	7.85	SEN-VIII :	7.00	SEN-IX :	7.67	SEN-X :	7.50											
			CGPI :																					
			GRAND TOTAL :																					
			CGPI :																					

6040 PATEL ABHIRAM SURESHKUMAR NEETA

ADC

6044	NAVIL BHAGYASHREE CHANDRANANT SARAS	4	55	D	6	3	18	120	100	220	D	6	16	96	60	C	7	3	21					
			53	E	5	3	15	140	145	285	A	9	16	144	58	D	6	3	18					
			SGPI : -	SEN-I :	8.35	SEN-II :	8.53	SEN-III :	6.94	SEN-IV :	7.75	SEN-V :	6.57											
			SGPI : -	SEN-VI :	7.00	SEN-VII :	6.65	SEN-VIII :	9.00	SEN-IX :	7.03	SEN-X :	0.00											
			CGPI :																					
			GRAND TOTAL :																					
			CGPI :																					

6047 / PATIL RAJAL JAYKRDAN LATA

ADC

71	A	9	3	27	68	72	140	A	9	6	54	41	O	10	2	20	33	B	9	3	24			
53	E	5	3	15	140	145	285	A	9	16	144	58	D	6	3	18								
			SGPI : -	SEN-I :	7.06	SEN-II :	8.00	SEN-III :	7.64	SEN-IV :	7.56	SEN-V :	7.31											
			SGPI : -	SEN-VI :	7.61	SEN-VII :	7.78	SEN-VIII :	9.00	SEN-IX :	7.42	SEN-X :	8.35											
			CGPI :																					
			GRAND TOTAL :																					
			CGPI :																					

@:O.5042A; @:O.5043A; @:O.5045A; #:O.22%; +:EXMP. CARRIED;/:FEMALE; AA:ABSENT; P:PASS;S: F:FAIL;B:EXMP CAN BE CLAIMED; RR:RESERVED; -:ILY/SLIXIA / AA/ABS: ABSENT; NULL:NULL & VOID./  
GPA:GRADE POINT AVERAGE-SEM OR CYS / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.



ATTESTED TRUE COPY



SEAT NAME OF CANDIDATE CENTRE <--- PAPER-I / V ---> <--- PAPER-II / VI ---> <--- PAPER-III / VII ---> <--- PAPER-IV --->  
 Sub.: 1. ENVIRONMENTAL STUDIES-5 (LN:100/50) (Cr.:3) Sub.: 2. ARCH. PRP. & DETAILS-8 (LN:100/50, EX:100/50) (Cr.:6) Sub.: 3. ARCH. THEORIES-4 (LN:50/25) (Cr.:3)  
 Sub.: 4. PROF. PRACT-3 (LN:50/25) (Cr.:3) Sub.: 5. ADV. BLDG. CONST. STRU (LN:100/50) (Cr.:3) Sub.: 6. DESIGN DISS.-2 (LN:200/100, EX:200/100) (Cr.:16)  
 Sub.: 7. ELECTIVE - 10 (LN:100/50) (Cr.:3)

6077 / PREEMA S KUMAR 4  
 50 E 5 3 15 55 60 115 D 6 6 36 34 B 6 2 16 31 C 7 3 21 GRAND TOTAL: 595 6.28 P  
 50 E 5 3 15 113 120 223 D 6 16 96 72 A 9 3 27 GRAND TOTAL: 595 6.28 P  
 SGPI :- SEM-I : 8.00 SEM-II : 7.59 SEM-III : 6.03 SEM-IV : 6.31 SEM-V : 6.53  
 SGPI :- SEM-VI : 6.19 SEM-VII : 6.22 SEM-VIII : 8.00 SEM-IX : 6.69 SEM-X : 6.28 CGPI : 6.7180.04  
 AOC

6063 / SHANI KRISHA MITIN IBENA 4  
 60 C 7 3 21 62 65 127 C 7 6 42 45 O 10 2 20 30 C 7 3 21 GRAND TOTAL: 647 7.25 P  
 50 D 6 3 18 120 135 255 C 7 16 112 72 A 9 3 27 GRAND TOTAL: 647 7.25 P  
 SGPI :- SEM-I : 8.22 SEM-II : 9.03 SEM-III : 6.54 SEM-IV : 7.66 SEM-V : 7.72  
 SGPI :- SEM-VI : 7.03 SEM-VII : 7.53 SEM-VIII : 9.00 SEM-IX : 7.33 SEM-X : 7.25 CGPI : 7.60  
 54 E 5 3 15 74 70 144 A 9 6 54 37 A 9 2 18 31 C 7 3 21 GRAND TOTAL: 672 8.00 P  
 62 C 7 3 21 125 155 280 A 9 16 144 54 E 5 3 15 GRAND TOTAL: 672 8.00 P  
 SGPI :- SEM-I : 7.47 SEM-II : 7.81 SEM-III : 6.28 SEM-IV : 6.75 SEM-V : 7.64  
 SGPI :- SEM-VI : 7.64 SEM-VII : 6.31 SEM-VIII : 9.00 SEM-IX : 8.14 SEM-X : 9.00 CGPI : 7.42

6000 / SHEETTY HIRSHIKESH SATISH ASHA 4  
 53 E 5 3 15 50 50 100 E 5 6 30 35 A 6 2 18 27 B 5 3 15 GRAND TOTAL: 556 5.92 P  
 50 E 5 3 15 112 110 222 D 6 16 96 69 B 8 3 24 GRAND TOTAL: 556 5.92 P  
 SGPI :- SEM-I : 7.92 SEM-II : 6.67 SEM-III : 5.36 SEM-IV : 6.47 SEM-V : 6.97  
 SGPI :- SEM-VI : 6.36 SEM-VII : 5.56 SEM-VIII : 7.00 SEM-IX : 6.86 SEM-X : 5.92 CGPI : 6.40  
 6101 / SHEETTY VIRMA VENUGOPAL VIDYA AOC

6102 / SHINPI PRIYANKA SATISH PAJESHER 4  
 50 E 5 3 15 69 51 110 D 6 6 36 25 E 5 2 10 27 E 5 3 15 GRAND TOTAL: 550 5.66 P  
 50 E 5 3 15 128 102 230 D 6 16 96 57 D 6 3 18 GRAND TOTAL: 550 5.66 P  
 SGPI :- SEM-I : 7.78 SEM-II : 8.06 SEM-III : 7.83 SEM-IV : 7.31 SEM-V : 7.89  
 SGPI :- SEM-VI : 6.61 SEM-VII : 6.29 SEM-VIII : 10.00 SEM-IX : 6.44 SEM-X : 5.66 CGPI : 7.24

6103 / SHINDE ANIL ANRUSH AKSHADA 4  
 50 E 5 3 15 69 54 123 C 7 6 42 31 C 7 2 14 32 C 7 3 21 GRAND TOTAL: 623 7.08 P  
 66 B 9 3 24 130 122 252 C 7 16 112 70 A 9 3 27 GRAND TOTAL: 623 7.08 P  
 SGPI :- SEM-I : 7.42 SEM-II : 7.67 SEM-III : 6.69 SEM-IV : 7.33 SEM-V : 7.75  
 SGPI :- SEM-VI : 7.17 SEM-VII : 6.94 SEM-VIII : 9.00 SEM-IX : 6.94 SEM-X : 7.08 CGPI : 7.08

6104 / SHINDE RONAL MADAN VINAY 4  
 59 D 6 3 18 55 62 117 D 6 6 36 36 A 9 2 18 34 B 8 3 24 GRAND TOTAL: 620 6.54 P  
 50 E 5 3 15 122 130 252 C 7 16 112 72 A 9 3 27 GRAND TOTAL: 620 6.54 P  
 SGPI :- SEM-I : 6.64 SEM-II : 7.31 SEM-III : 5.95 SEM-IV : 7.0 SEM-V : 7.09  
 SGPI :- SEM-VI : 6.94 SEM-VII : 7.00 SEM-VIII : 10.00 SEM-IX : 6.50 SEM-X : 6.94 CGPI : 6.94



8:0. 5042A; 8:0. 5043A; \*8:0. 5045A; #8:0. 229; +: EXMP. CARRIED; /: FEMALE; AA: ABSENT; P: PASSES; F: FAIL; E: EXMP CAN BE CLAIMED; PR: RESERVED; -: DYSLEXIA; AA/ABS: ABSENT; NULL: NULL & VOID; .  
 GPA: GRADE POINT AVERAGE-SEMI OF CGS / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
 GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; PRV: PROVISIONAL; MCC: 0.5050.  
 Course Grades: -Grade-O(Outstanding) = 10pt., Grade-A(Excellent) = 9pt., Grade-B(Very Good) = 8pt., Grade-C(Good) = 7pt., Grade-D(Fair) = 6pt., Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 0pt.

SEAT NAME OF CANDIDATE  
CENTRE  
Sub-1: ENVIRONMENTAL STUDIES-5 (LN:100/50) (Cr.:3) Sub-1:2. ARCH. APP. & DETAILS-8 (LN:100/50, EX:100/50) (Cr.:6) Sub-1:3. ARCH. THEORIES-4 (LN:50/25) (Cr.:2)  
Sub-1:4. PROF. PRACT-3 (LN:50/25) (Cr.:3) Sub-1:5. ADV. BLDG. CONST. STRU (LN:100/50) (Cr.:3) Sub-1:6. DESIGN DISS.-2 (LN:200/100, EX:200/100) (Cr.:16)  
Sub-1:7. ELECTIVE - 10 (LN:100/50) (Cr.:3)

6105 SINGH ALAKH BALMANT KUSUM  
4  
52 E 5 3 15 59 62 120 C 7 6 42 39 O 10 2 20 27 E 5 3 15  
50 E 5 3 15 110 130 240 C 7 16 112 69 B 8 3 24 GRAND TOTAL: 566 6.75  
SRPI :- SEN-I : 6.61 SEN-II : 6.35 SEN-III : 5.42 SEN-IV : 6.72 SEN-V : 6.33  
SRPI :- SEN-VI : 6.65 SEN-VII : 6.58 SEN-VIII : 7.00 SEN-IX : 7.22 SEN-X : 6.75  
OSPI : 6.55

6111 SOLANKI AJIT JAGESH JAYSHREE  
4  
50 E 5 3 15 51 58 109 E 5 6 30 34 B 8 2 16 31 C 7 3 21  
50 E 5 3 15 110 130 240 C 7 16 112 70 A 9 3 27 GRAND TOTAL: 584 6.56  
SRPI :- SEN-I : 6.25 SEN-II : 6.31 SEN-III : 5.53 SEN-IV : 6.72 SEN-V : 6.16  
SRPI :- SEN-VI : 6.42 SEN-VII : 6.47 SEN-VIII : 7.00 SEN-IX : 6.06 SEN-X : 6.56  
OSPI : 6.31

6119 TALATI DEWANI PARESH SUNIYA  
4  
50 D 6 3 18 60 60 120 C 7 6 42 39 O 10 2 20 28 D 6 3 18  
50 E 5 3 15 135 135 270 B 8 16 128 69 B 8 3 24 GRAND TOTAL: 650 7.61  
SRPI :- SEN-I : 7.44 SEN-II : 6.67 SEN-III : 5.75 SEN-IV : 5.61 SEN-V : 6.72  
SRPI :- SEN-VI : 7.53 SEN-VII : 7.72 SEN-VIII : 9.00 SEN-IX : 7.91 SEN-X : 7.61  
OSPI : 7.06

6123 TRIMWADI SHRETI PAJENDRA SANDHYA  
4  
50 E 5 3 15 60 54 116 D 6 6 36 27 E 5 2 10 30 C 7 3 21  
50 E 5 3 15 130 118 248 C 7 16 112 54 E 5 3 15 GRAND TOTAL: 575 6.22  
SRPI :- SEN-I : 7.35 SEN-II : 6.62 SEN-III : 6.28 SEN-IV : 6.64 SEN-V : 6.75  
SRPI :- SEN-VI : 6.78 SEN-VII : 6.47 SEN-VIII : 7.00 SEN-IX : 6.64 SEN-X : 6.22  
OSPI : 6.72

6126 TRIMWADI AARTI SHILPAJI SUNIYA  
4  
50 E 5 3 15 60 54 116 D 6 6 36 27 E 5 2 10 35 A 6 3 27  
50 E 5 3 15 120 116 236 D 6 16 96 72 A 6 3 27 GRAND TOTAL: 622 6.97  
SRPI :- SEN-I : 8.44 SEN-II : 8.67 SEN-III : 6.56 SEN-IV : 7.42 SEN-V : 7.17  
SRPI :- SEN-VI : 6.97 SEN-VII : 7.06 SEN-VIII : 6.00 SEN-IX : 6.97  
OSPI : 7.29

6127 TRIMWADI GIRISH SHAHUKANT PRITYA  
4  
50 E 5 3 15 62 54 116 D 6 6 36 27 E 5 2 10 30 C 7 3 21  
50 E 5 3 15 130 118 248 C 7 16 112 54 E 5 3 15 GRAND TOTAL: 575 6.22  
SRPI :- SEN-I : 7.35 SEN-II : 6.62 SEN-III : 6.28 SEN-IV : 6.64 SEN-V : 6.75  
SRPI :- SEN-VI : 6.78 SEN-VII : 6.47 SEN-VIII : 7.00 SEN-IX : 6.64 SEN-X : 6.22  
OSPI : 6.72

6133 TRIMWADI SWAPALI RASHIKANT SHOBHA  
4  
50 E 5 3 15 58 54 112 D 6 6 36 30 C 7 2 14 36 A 6 3 27  
50 E 5 3 15 120 116 236 D 6 16 96 71 A 6 3 27 GRAND TOTAL: 585 6.35  
SRPI :- SEN-I : 5.00 SEN-II : 5.11 SEN-III : 5.35 SEN-IV : 5.97 SEN-V : 5.65  
SRPI :- SEN-VI : 5.14 SEN-VII : 5.72 SEN-VIII : 7.00 SEN-IX : 6.16 SEN-X : 6.35  
OSPI : 5.65

6134 TRIMWADI PRESHITA PRAVIN BHATIBHA  
4  
50 D 6 3 19 52 65 117 D 6 6 36 31 C 7 2 14 34 B 8 3 24  
50 E 5 3 15 128 130 258 C 7 16 112 70 A 6 3 27 GRAND TOTAL: 626 7.00  
SRPI :- SEN-I : 5.94 SEN-II : 6.67 SEN-III : 5.92 SEN-IV : 6.58 SEN-V : 5.28  
SRPI :- SEN-VI : 5.97 SEN-VII : 6.08 SEN-VIII : 7.00 SEN-IX : 6.25 SEN-X : 7.00  
OSPI : 6.35

6135 TRIMWADI SHRETI AJIT UJJWALA  
4  
50 D 6 3 19 52 65 117 D 6 6 36 31 C 7 2 14 34 B 8 3 24  
50 E 5 3 15 128 130 258 C 7 16 112 70 A 6 3 27 GRAND TOTAL: 626 7.00  
SRPI :- SEN-I : 5.94 SEN-II : 6.67 SEN-III : 5.92 SEN-IV : 6.58 SEN-V : 5.28  
SRPI :- SEN-VI : 5.97 SEN-VII : 6.08 SEN-VIII : 7.00 SEN-IX : 6.25 SEN-X : 7.00  
OSPI : 6.35



Grade: Grade-D(Outstanding)- 10pt., Grade-A(Excellent)- 9pt., Grade-B(Very Good)- 8pt., Grade-C(Good)- 7pt., Grade-D(Fair)- 6pt., Grade-E(Satisfactory)- 5pt., Grade-F(Fail)- 4pt., Grade-G(Discontinue)- 3pt., Grade-H(Withdrawn)- 2pt., Grade-I(Deadweight)- 1pt.

Grade: Grade-D(Outstanding)- 10pt., Grade-A(Excellent)- 9pt., Grade-B(Very Good)- 8pt., Grade-C(Good)- 7pt., Grade-D(Fair)- 6pt., Grade-E(Satisfactory)- 5pt., Grade-F(Fail)- 4pt., Grade-G(Discontinue)- 3pt., Grade-H(Withdrawn)- 2pt., Grade-I(Deadweight)- 1pt.

Grade: Grade-D(Outstanding)- 10pt., Grade-A(Excellent)- 9pt., Grade-B(Very Good)- 8pt., Grade-C(Good)- 7pt., Grade-D(Fair)- 6pt., Grade-E(Satisfactory)- 5pt., Grade-F(Fail)- 4pt., Grade-G(Discontinue)- 3pt., Grade-H(Withdrawn)- 2pt., Grade-I(Deadweight)- 1pt.

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-XI) CROSS EXAMINATION-APRIL 2019  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

MAY 10, 2019  
PAGE : 69

SEAT NAME OF CANDIDATE  
Sub.:1. ENVIRONMENTAL STUDIES-5 (LN:100/50) (Cr.:3) Sub.:2. ARCH. REF. & DETAILS-8 (LN:100/50, EX:100/50) (Cr.:6) Sub.:3. ARCH. THEORIES-4 (LN:50/25) (Cr.:2)  
Sub.:4. PROF. PRACT-3 (LN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONST. STRU (LN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (LN:200/100, EX:200/100) (Cr.:16)  
Sub.:7. ELECTIVE - 10 (LN:100/50) (Cr.:3)

SEAT	NAME OF CANDIDATE	CENTRE	IN	EX	TOT	GP	CR	C*G	IN	GP	CR	C*G	IN	GP	CR	C*G	SRP1-X	RSLT	
6141	VIJAY NERKAN DEEP PAJ KHISRGA		60	56	50	106	5	6	30	26	6	2	12	35	6	3	27	P	
			50	120	100	220	6	16	96	64	7	3	21	GRAND TOTAL: 564			6.17		
			SRP1 :- SEM-I :	7.06	SRM-II :	7.64	SRM-III :	5.67	SRM-IV :	6.78	SRM-V :	7.11							
			SRP1 :- SEM-VI :	6.94	SRM-VII :	7.14	SRM-VIII :	10.00	SRM-IX :	6.93	SRM-X :	6.17							
			GRAND TOTAL :																
			OSPT :																
			OSPT :																
6142	MAJEE AYUSHI ARNAV SWATI		51	51	64	115	6	6	36	27	6	2	10	34	6	3	24	P	
			50	103	137	240	7	16	112	50	5	3	15	GRAND TOTAL: 567			6.21		
			SRP1 :- SEM-I :	6.44	SRM-II :	6.78	SRM-III :	6.36	SRM-IV :	7.17	SRM-V :	6.36							
			SRP1 :- SEM-VI :	6.33	SRM-VII :	6.28	SRM-VIII :	5.00	SRM-IX :	6.31	SRM-X :	6.31							
			GRAND TOTAL :																
			OSPT :																
			OSPT :																
6143	MANI SNEHAL UDAY SANJITA		56	52	55	107	5	6	30	25	5	2	10	33	6	3	24	P	
			50	105	120	225	6	16	96	60	7	3	21	GRAND TOTAL: 556			5.94		
			SRP1 :- SEM-I :	6.15	SRM-II :	6.08	SRM-III :	6.03	SRM-IV :	6.25	SRM-V :	5.92							
			SRP1 :- SEM-VI :	6.31	SRM-VII :	6.36	SRM-VIII :	9.00	SRM-IX :	6.09	SRM-X :	5.94							
			GRAND TOTAL :																
			OSPT :																
			OSPT :																

#:O. 5042A: #:O. 5043A: #:O. 5043A: #:O. 225: #:EXM. CARRIED:/:FEMALE. AA:ABSENT: P:PASSES: F:FAIL:E:EXM CAN BE CLAIMED: R:RESERVED: -:Dyalexia: AA/ABS: ABSENT: NULL:NULL & VOID.:  
GPA:GRADE POINT AVERAGE-SUM OF CGS / SUM OF C: GRADE F:BELOW 50%; GRADE B:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C: CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; KC:K.O. 5050.  
Course Grades:-Grade-(Outstanding) = 10pt.; Grade-(Excellent) = 9pt.; Grade-(Very Good) = 8pt.; Grade-(Good) = 7pt.; Grade-(D(Fair)) = 6pt.; Grade-(Satisfactory) = 5pt.; Grade-(Full) = 4pt.  
-----  
ATTESTED TRUE COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	ASLT
			IN	EX	TOT	IN	EX	TOT	IN	EX	TOT	IN	EX	TOT		
Sub.:1. ENVIRONMENTAL STUDIES-5	(IN:100/50) (CF.:3)	Sub.:2. ARCH.REP.& DETAILING-8	(IN:100/50,EX:100/50) (CF.:6)	Sub.:3. ARCH.THEORIES-4	(IN:50/25) (CF.:2)	Sub.:4. PROF. PRACT-3	(IN:50/25) (CF.:3)	Sub.:5. ADV.BLDG.CONSTRS STRU	(IN:100/50) (CF.:3)	Sub.:6. DESIGN DISS.-2	(IN:200/100,EX:200/100) (CF.:16)	Sub.:7. ELECTIVE - 10	(IN:100/50) (CF.:3)			

5191 KADMAIKAR MAYURESH DDAY VARSHA  
1 MUMBAI

50	E	5	3	15	52	52	104	E	5	6	30	25	E	5	2	10	25	E	5	3	15	
SGPI :-	SEM-I :	6.19	SEM-II :	5.17	SEM-III :	5.11	SEM-IV :	3.47	SEM-V :	5.00	SEM-VI :	5.00	SEM-VII :	5.00	SEM-VIII :	5.00	SEM-IX :	5.00	SEM-X :	5.00	SEM-XI :	5.00
GRAND TOTAL: 516																						
CGPI: 5.42																						

5892 /AHER SHEETA CHANDRAKANT LATA  
4 NAVI-MUMBAI

52	E	5	3	15	70	65	135	B	8	6	48	30	C	7	2	14	35	A	9	3	27	
SGPI :-	SEM-I :	6.17	SEM-II :	6.61	SEM-III :	6.69	SEM-IV :	5.64	SEM-V :	6.58	SEM-VI :	7.22	SEM-VII :	7.22	SEM-VIII :	7.22	SEM-IX :	7.25	SEM-X :	7.25	SEM-XI :	7.25
GRAND TOTAL: 633																						
CGPI: 6.49																						

5897 /AMLE VAIDHI NANDAR SANDHYA  
4 NAVI-MUMBAI

73+	A	9	3	27	62+	60	122	C	7	6	42	35+	A	9	2	18	34+	B	8	3	24	
SGPI :-	SEM-I :	6.64	SEM-II :	6.61	SEM-III :	5.72	SEM-IV :	7.22	SEM-V :	7.33	SEM-VI :	7.19	SEM-VII :	7.19	SEM-VIII :	7.19	SEM-IX :	7.19	SEM-X :	7.19	SEM-XI :	7.19
GRAND TOTAL: 527																						
CGPI: 6.91																						

5899 /AAS DEVIKA KRISHNACHANDRA SHANKLI  
4 NAVI-MUMBAI

72	A	9	3	27	64	60	124	C	7	6	42	36	A	9	2	18	32	C	7	3	21	
SGPI :-	SEM-I :	6.25	SEM-II :	6.11	SEM-III :	7.03	SEM-IV :	6.61	SEM-V :	6.65	SEM-VI :	7.08	SEM-VII :	7.08	SEM-VIII :	7.08	SEM-IX :	7.08	SEM-X :	7.08	SEM-XI :	7.08
GRAND TOTAL: 636																						
CGPI: 6.75																						

5900 /ARJUN LAKSHMANAN SANDHYA  
4 NAVI-MUMBAI

60	C	7	3	21	130	120	250	C	7	16	112	75	O	10	3	30	30	C	7	3	21	
SGPI :-	SEM-I :	7.39	SEM-II :	8.75	SEM-III :	8.36	SEM-IV :	8.14	SEM-V :	8.19	SEM-VI :	8.19	SEM-VII :	8.19	SEM-VIII :	8.19	SEM-IX :	8.19	SEM-X :	8.19	SEM-XI :	8.19
GRAND TOTAL: 631																						
CGPI: 7.92																						

5903 /AYARRAR RAJITHA RAJIVORA SHEENA  
4 NAVI-MUMBAI

50+	E	5	3	15	51+	55	106	E	5	6	30	25+	E	5	2	10	25+	E	5	3	15	
SGPI :-	SEM-I :	5.61	SEM-II :	5.61	SEM-III :	5.17	SEM-IV :	5.14	SEM-V :	5.22	SEM-VI :	5.22	SEM-VII :	5.22	SEM-VIII :	5.22	SEM-IX :	5.22	SEM-X :	5.22	SEM-XI :	5.22
GRAND TOTAL: 515																						
CGPI: 5.20																						

5905 /BADKAR BHAVANA ANUR ARBUTA  
4 NAVI-MUMBAI

63	C	7	3	21	58	60	118	D	6	6	36	30	C	7	2	14	27	E	5	3	15	
SGPI :-	SEM-I :	6.44	SEM-II :	6.19	SEM-III :	5.92	SEM-IV :	6.83	SEM-V :	6.36	SEM-VI :	6.83	SEM-VII :	6.83	SEM-VIII :	6.83	SEM-IX :	6.83	SEM-X :	6.83	SEM-XI :	6.83
GRAND TOTAL: 614																						
CGPI: 6.83																						

5906 /BIRAJGA KRISHNA KISHOR NEETA  
4 NAVI-MUMBAI

70	A	9	3	27	144	130	274	B	8	16	128	59	D	6	3	18	29	D	6	3	18	
SGPI :-	SEM-I :	7.44	SEM-II :	7.17	SEM-III :	7.19	SEM-IV :	7.97	SEM-V :	7.97	SEM-VI :	7.97	SEM-VII :	7.97	SEM-VIII :	7.97	SEM-IX :	7.97	SEM-X :	7.97	SEM-XI :	7.97
GRAND TOTAL: 657																						
CGPI: 7.69																						

B:O.5042A: @:O.5043A: \*O.5045A/ @:O.229: \*ENNR.CARRIED:/:FRNALS: AN:ABSENT: P:PASSERS: F:FAIR:E:EXPP CAN BE CLAIMED: RR:RESERVED: -:Dyslexia : AM/ABS: ABSENT: NULL:NULL & VOID.  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C: GRADE F:BELOW 50% GRADE E:50% & ABOVE AND BELOW 55% GRADE D:55% & ABOVE AND BELOW 60% GRADE C:60% & ABOVE AND BELOW 65%  
GRADE B:65% & ABOVE AND BELOW 69% GRADE A:70% & ABOVE AND BELOW 75% GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C: CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:O.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.;Grade-A(Excellent)= 9pt.;Grade-B(Very Good)= 8pt.;Grade-C(Good)= 7pt.;Grade-D(Fair)= 6pt.;Grade-E(Satisfactory)= 5pt.;Grade-F(Fail)= 4pt.



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

ATTESTED TRUE COPY



SRAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V-->		PAPER-II/VI-->		PAPER-III/VII-->		PAPER-IV-->		SGPI-X	NSLT		
			IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G		
Sub.:1.	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Ct.:3)	Sub.:12.	ARCH. REP. & DETAILING-8	(IN:100/50, EX:100/50) (Ct.:6)	Sub.:3.	ARCH. THEORIES-4	(IN:50/25) (Ct.:2)						
Sub.:4.	PROF. PRACT-3	(IN:50/25) (Ct.:3)	Sub.:15.	ADV. BLDG. CONST. STRU	(IN:100/50) (Ct.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Ct.:16)						
Sub.:7.	ELECTIVE - 10	(IN:100/50) (Ct.:3)												

5929 / DALVI SHREYA SANTOSH VIDULA  
4 NAVI-MUMBAI

56	D	6	3	18	80	70	150	0	10	6	60	36	A	9	2	18	30	0	10	3	30	8.83	P		
64	C	7	3	21	144	148	292	A	9	16	144	70	A	9	3	27	7.69								
SGPI	--	SEM-I	:	7.58	SEM-II	:	6.86	SEM-III	:	7.75	SEM-IV	:	7.19	SEM-V	:	7.69									
SGPI	--	SEM-VI	:	6.25	SEM-VII	:	7.19	SEM-VIII	:	7.00	SEM-IX	:	7.94	SEM-X	:	8.83									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5934 / DESHMUKH ANURAG DEEPAK SHROTRI  
4 NAVI-MUMBAI

60	C	7	3	21	80	63	143	A	9	6	54	35	A	9	2	18	32	C	7	3	21	6.58	P		
67	B	8	3	24	150	135	285	A	9	16	144	71	A	9	3	27	8.58								
SGPI	--	SEM-I	:	9.25	SEM-II	:	7.92	SEM-III	:	8.39	SEM-IV	:	7.72	SEM-V	:	8.58									
SGPI	--	SEM-VI	:	8.36	SEM-VII	:	7.94	SEM-VIII	:	6.00	SEM-IX	:	8.56	SEM-X	:	8.58									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5935 / DESHMUKH SIDDHANTA SANJAY SHARADAJA  
4 NAVI-MUMBAI

55	D	6	3	18	65	51	116	D	6	6	36	29	D	6	2	12	27	E	5	3	15	6.00	P		
60	C	7	3	21	120	110	230	D	6	16	96	58	D	6	3	18	6.36								
SGPI	--	SEM-I	:	6.39	SEM-II	:	5.53	SEM-III	:	5.64	SEM-IV	:	6.08	SEM-V	:	6.36									
SGPI	--	SEM-VI	:	6.33	SEM-VII	:	5.31	SEM-VIII	:	7.00	SEM-IX	:	6.59	SEM-X	:	6.00									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5936 / DHAPARE PRAVARA PRAOIT PRAOIT  
4 NAVI-MUMBAI

63	C	7	3	21	70	70	140	A	9	6	54	32	C	7	2	14	32	C	7	3	21	8.22	P		
62	C	7	3	21	140	132	280	A	9	16	144	62	C	7	3	21	8.47								
SGPI	--	SEM-I	:	7.30	SEM-II	:	7.53	SEM-III	:	7.83	SEM-IV	:	7.58	SEM-V	:	8.47									
SGPI	--	SEM-VI	:	7.33	SEM-VII	:	7.75	SEM-VIII	:	9.00	SEM-IX	:	7.28	SEM-X	:	8.22									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5937 / DIXIT ANHARVA PRASAD CHITRA  
4 NAVI-MUMBAI

58	D	6	3	18	80	65	145	A	9	6	54	38	O	10	2	20	35	A	9	3	27	8.81	P		
66	B	8	3	24	152	135	287	A	9	16	144	76	O	10	3	30	8.75								
SGPI	--	SEM-I	:	6.58	SEM-II	:	5.78	SEM-III	:	5.75	SEM-IV	:	5.89	SEM-V	:	5.75									
SGPI	--	SEM-VI	:	5.47	SEM-VII	:	6.39	SEM-VIII	:	8.00	SEM-IX	:	7.17	SEM-X	:	8.81									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5938 / FREDERICK STANLEY PUNITRA  
4 NAVI-MUMBAI

51	E	5	3	15	50	50	100	E	5	6	30	29	D	6	2	12	32	C	7	3	21	5.47	P		
56	D	6	3	18	100	105	205	E	5	16	80	63	C	7	3	21	5.75								
SGPI	--	SEM-I	:	5.92	SEM-II	:	5.53	SEM-III	:	5.86	SEM-IV	:	5.67	SEM-V	:	5.75									
SGPI	--	SEM-VI	:	5.00	SEM-VII	:	5.11	SEM-VIII	:	9.00	SEM-IX	:	5.61	SEM-X	:	5.47									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5941 / GAMADE VINIT NANOAKISHORE DESHPALI  
4 NAVI-MUMBAI

50	E	5	3	15	60	51	111	D	6	6	36	27	E	5	2	10	35	A	9	3	27	5.75	P		
57	D	6	3	18	102	106	208	E	5	16	80	61	C	7	3	21	5.00								
SGPI	--	SEM-I	:	5.86	SEM-II	:	5.17	SEM-III	:	5.17	SEM-IV	:	5.00	SEM-V	:	5.00									
SGPI	--	SEM-VI	:	5.00	SEM-VII	:	5.14	SEM-VIII	:	6.00	SEM-IX	:	5.78	SEM-X	:	5.75									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

5943 / GERANI DHARMA RAVI BASHI  
4 NAVI-MUMBAI

50	E	5	3	15	67	58	125	C	7	6	42	29	D	6	2	12	25	E	5	3	15	6.61	P		
60	B	8	3	24	134	120	254	C	7	16	112	59	D	6	3	18	6.03								
SGPI	--	SEM-I	:	7.11	SEM-II	:	6.06	SEM-III	:	5.86	SEM-IV	:	6.36	SEM-V	:	6.03									
SGPI	--	SEM-VI	:	7.06	SEM-VII	:	6.56	SEM-VIII	:	6.00	SEM-IX	:	7.39	SEM-X	:	6.61									
CGPI	:		:																						
GRAND TOTAL:																									
CGPI:																									

8:0-5042A, 8:0-5043A, 8:0-5045A, 8:0-229: +:EMP. CARRIED./:FEMALE: NA:ABSENT: P:ASSES: F:FAIL:E:EXM CAN BE CLAIMED: RI:RESERVED: -:Dyalaxia: NA/ABS: ABSENT: NULL:NULL & VOID./  
GR:GRADE POINT AVERAGE-SUM OF CGP / SUM OF C: GRADE F:RISK 50%: GRADE E:50% & ABOVE AND BELOW 55%: GRADE D:55% AND ABOVE AND BELOW 60%: GRADE C:60% & ABOVE AND BELOW 65%:  
GRADE B:65% & ABOVE AND BELOW 69%: GRADE A:70% & ABOVE AND BELOW 75%: GRADE O:75% & ABOVE/  
GRADE F:GRADE POINTS BELOW 5: GRADE E:GRADE POINTS 5 TO 5.99: GRADE D:GRADE POINTS 6 TO 6.99: GRADE C:GRADE POINTS 7 TO 7.99: GRADE B:GRADE POINTS 8 TO 8.99:  
GRADE A:GRADE POINTS 9 TO 9.99: GRADE O:GRADE POINTS 10/ C:GRADE POINTS: A:ADMISSION CANCELLED: RP:PROVISIONAL: RC:O.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt., Grade-F(Poor)= 0pt.

ATTESTED TRUE COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RESULT	
5951	GIDH SWARNIL GANESH SAYLI 4 NAVI-MUMBAI		67	B	8	3	24	134	52	102	E	5	6	30	26	E	5	2	10	29	D	6	3	18	5.86	P
			50	E	5	3	15	5.81	SEM-II:	5.86	SEM-III:	5.47	SEM-IV:	6.00	SEM-V:	5.89										
			SGPI :-	SEM-VI:	5.83	SEM-VII:	6.50	SEM-VIII:	0.00	SEM-IX:	5.89	SEM-X:	5.86	CGPI:	6.00											
5954	GOSADIA KASHYAP VINOD TRUPTI 4 NAVI-MUMBAI		60	C	7	3	21	60	60	120	C	7	6	42	33	B	8	2	16	32	C	7	3	21	7.58	P
			67	B	8	3	24	136	130	266	B	8	16	138	60	C	7	3	21	7.19						
			SGPI :-	SEM-I:	7.16	SEM-II:	6.58	SEM-III:	6.58	SEM-IV:	7.06	SEM-V:	7.19	CGPI:	7.23											
			SGPI :-	SEM-VI:	7.12	SEM-VII:	7.06	SEM-VIII:	8.00	SEM-IX:	7.61	SEM-X:	7.58													
5958	GUPTA ANJITA AJAY NAKITA 4 NAVI-MUMBAI		60	C	7	3	21	74	50	124	C	7	6	42	34	B	8	2	16	25	E	5	3	15	7.06	P
			72	A	9	3	27	136	110	246	C	7	16	112	63	C	7	3	21	7.50						
			SGPI :-	SEM-I:	7.16	SEM-II:	7.50	SEM-III:	7.06	SEM-IV:	7.14	SEM-V:	7.50	CGPI:	7.29											
			SGPI :-	SEM-VI:	7.00	SEM-VII:	7.14	SEM-VIII:	9.00	SEM-IX:	7.11	SEM-X:	7.06													
5960	GUPTA SHUBAM MANOJ SAVITRI 4 NAVI-MUMBAI		62	C	7	3	21	53	55	108	E	5	6	30	28	D	6	2	12	27	E	5	3	15	5.75	P
			50	E	5	3	15	100	120	220	D	6	16	96	59	D	6	3	18	6.64						
			SGPI :-	SEM-I:	8.19	SEM-II:	6.56	SEM-III:	6.08	SEM-IV:	7.00	SEM-V:	6.64	CGPI:	6.58											
			SGPI :-	SEM-VI:	6.69	SEM-VII:	6.06	SEM-VIII:	8.00	SEM-IX:	5.58	SEM-X:	5.75													
5961	HABIA NIKITA REVANT AVANT 4 NAVI-MUMBAI		61	C	7	3	21	55	60	115	D	6	6	36	35	A	9	2	18	32	C	7	3	21	7.47	P
			66	B	8	3	24	130	130	260	B	8	16	128	61	C	7	3	21	6.70						
			SGPI :-	SEM-I:	7.36	SEM-II:	6.19	SEM-III:	7.03	SEM-IV:	7.53	SEM-V:	6.70	CGPI:	7.25											
			SGPI :-	SEM-VI:	7.31	SEM-VII:	6.92	SEM-VIII:	8.00	SEM-IX:	8.11	SEM-X:	7.47													
5965	JADHAV PRADYESH PRATAP PRATIBHA 4 NAVI-MUMBAI		60	C	7	3	21	90	50	100	E	5	6	30	33	B	8	2	16	32	C	7	3	21	5.83	P
			62	C	7	3	21	114	100	214	E	5	16	80	62	C	7	3	21	5.67						
			SGPI :-	SEM-I:	5.31	SEM-II:	5.56	SEM-III:	5.44	SEM-IV:	5.50	SEM-V:	5.67	CGPI:	5.70											
			SGPI :-	SEM-VI:	5.97	SEM-VII:	5.36	SEM-VIII:	8.00	SEM-IX:	5.67	SEM-X:	5.83													
5969	JAIN SHWETA 4 NAVI-MUMBAI		61	C	7	3	21	55	55	110	D	6	6	36	26	E	5	2	10	28	D	6	3	18	7.17	P
			70	A	9	3	27	134	130	264	B	8	16	128	56	D	6	3	18	5.86						
			SGPI :-	SEM-I:	6.78	SEM-II:	6.61	SEM-III:	5.97	SEM-IV:	6.42	SEM-V:	5.86	CGPI:	6.6780.08											
			SGPI :-	SEM-VI:	6.83	SEM-VII:	6.47	SEM-VIII:	9.00	SEM-IX:	6.89	SEM-X:	7.17													
5972	JOSHI APEKSHA SHUBOM ANJALI 4 NAVI-MUMBAI		64	C	7	3	21	85	70	155	O	10	6	60	29	D	6	2	12	35	A	9	3	27	8.67	P
			65	B	8	3	24	150	140	290	A	9	16	144	68	B	8	3	24	8.61						
			SGPI :-	SEM-I:	7.50	SEM-II:	7.92	SEM-III:	8.28	SEM-IV:	8.08	SEM-V:	8.61	CGPI:	8.07											
			SGPI :-	SEM-VI:	8.36	SEM-VII:	7.86	SEM-VIII:	8.00	SEM-IX:	7.42	SEM-X:	8.67													

8:0.5042A, 8:0.5043A, \*8:0.5045A, 8:0.229, +EXM, CARRIED, /PENALTY, AA:ABSENT, P:PASS, F:FAIL, E:EXM CAN BE CLAIMED, RR:RESERVED, -:DYLEKIA, / AM/ABS: ABSENT, NULL, NULL & VOID, /  
GPA: GRADE POINT AVERAGE-SUM OF CGS / SUM OF C/ GRADE F BELOW 50% / GRADE E: 50% & ABOVE AND BELOW 55% / GRADE D: 55% AND ABOVE AND BELOW 60% / GRADE C: 60% & ABOVE AND BELOW 65% /  
GRADE B: 65% & ABOVE AND BELOW 69% / GRADE A: 70% & ABOVE AND BELOW 75% / GRADE O: 75% & ABOVE, /  
GRADE F: GRADE POINTS BELOW 5, / GRADE E: GRADE POINTS 5 TO 5.99, / GRADE D: GRADE POINTS 6 TO 6.99, / GRADE C: GRADE POINTS 7 TO 7.99, / GRADE B: GRADE POINTS 8 TO 8.99, /  
GRADE A: GRADE POINTS 9 TO 9.99, / GRADE O: GRADE POINTS 10, / C: CREDIT POINTS, / G: GRADE POINTS, / AC: ADMISSION CANCELLED, / RPV: PROVISIONAL, / MCC: O.50650, /  
Course Grades: Grade-O(Overstanding) = 10pt., Grade-A(Excellent) = 9pt., Grade-B(Very Good) = 8pt., Grade-C(Good) = 7pt., Grade-D(Fair) = 6pt., Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 0pt.,

ATTESTED TRUE COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-XI) CBSCS EXAMINATION-OCTOBER 2020  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

OCTOBER 26, 2020  
PAGE 1 65

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPT-X	RESULT													
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPT-X									
Sub.1: ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)	Sub.2: ARCH. REP. & DETAILS-8	(IN:100/50, EX:100/50) (Cr.:6)	Sub.3: ARCH. THEORIES-4	(IN:50/25) (Cr.:2)	Sub.4: ADV. BLDG. CONSTR. STRU	(IN:100/50) (Cr.:3)	Sub.5: DESIGN DISC.-2	(IN:200/100, EX:200/100) (Cr.:16)																				
Sub.1: PROF. PRACT-3	(IN:50/25) (Cr.:3)																												
Sub.7: ELECTIVE - 10	(IN:100/50) (Cr.:3)																												
5973	JOSHI NIDHI RAJENDRA JEOTHI	4 NAVI-MUMBAI	63	C	7	3	21	60	55	115	D	6	6	36	30	C	7	2	14	32	C	7	3	21	6.92	P			
			62	C	7	3	21	120	120	240	C	7	16	112	68	B	8	3	24	7.57	GRAND TOTAL: 610								
			SGPT	-	SEM-I	:	7.83	SEM-II	:	8.19	SEM-III	:	7.67	SEM-IV	:	7.53	SEM-V	:	7.57	SEM-VI	:	7.62	GRAND TOTAL: 610						
			SGPT	-	SEM-VII	:	7.81	SEM-VIII	:	7.81	SEM-IX	:	7.00	SEM-X	:	7.39	SEM-XI	:	6.92	SEM-XII	:	7.62	GRAND TOTAL: 610						
5974	JOSHI SAIRAJ SHIVAJI RATNAMALA	4 NAVI-MUMBAI	62	C	7	3	21	69	60	129	C	7	6	42	25	E	5	2	10	28	D	6	3	18	7.33	P			
			70	A	9	3	27	146	120	266	B	8	16	128	56	D	6	3	18	6.50	GRAND TOTAL: 636								
			SGPT	-	SEM-I	:	6.53	SEM-II	:	6.78	SEM-III	:	5.67	SEM-IV	:	6.50	SEM-V	:	6.50	SEM-VI	:	6.50	GRAND TOTAL: 636						
			SGPT	-	SEM-VII	:	6.53	SEM-VIII	:	6.17	SEM-IX	:	8.00	SEM-X	:	7.31	SEM-XI	:	7.33	SEM-XII	:	7.33	GRAND TOTAL: 636						
			CGPT:																										
			CGPT:																										
5976	JOSHI TANVI AVADHOOT DEEPA	4 NAVI-MUMBAI	58	D	6	3	18	55	53	108	E	5	6	30	31	C	7	2	14	30	C	7	3	21	7.03	P			
			62	C	7	3	21	140	130	270	B	8	16	128	60	C	7	3	21	6.78	GRAND TOTAL: 619								
			SGPT	-	SEM-I	:	7.19	SEM-II	:	6.76	SEM-III	:	6.69	SEM-IV	:	6.78	SEM-V	:	7.06	SEM-VI	:	7.06	GRAND TOTAL: 619						
			SGPT	-	SEM-VII	:	6.58	SEM-VIII	:	7.47	SEM-IX	:	8.00	SEM-X	:	7.39	SEM-XI	:	7.03	SEM-XII	:	7.03	GRAND TOTAL: 619						
			CGPT:																										
			CGPT:																										
5977	KABRA NISHITA RAJESH YANDANA	4 NAVI-MUMBAI	57	D	6	3	18	70	60	130	B	8	6	48	35	A	9	2	18	30	C	7	3	21	7.81	P			
			69	B	8	3	24	150	128	278	B	8	16	128	65	B	8	3	24	7.31	GRAND TOTAL: 664								
			SGPT	-	SEM-I	:	6.92	SEM-II	:	6.89	SEM-III	:	6.44	SEM-IV	:	7.31	SEM-V	:	7.53	SEM-VI	:	7.53	GRAND TOTAL: 664						
			SGPT	-	SEM-VII	:	7.33	SEM-VIII	:	7.03	SEM-IX	:	8.00	SEM-X	:	8.06	SEM-XI	:	7.81	SEM-XII	:	7.81	GRAND TOTAL: 664						
			CGPT:																										
			CGPT:																										
5978	KADAM AKSHATA KUNATH ANITA	4 NAVI-MUMBAI	64	C	7	3	21	60	52	112	D	6	6	36	35	A	9	2	18	30	C	7	3	21	7.64	P			
			74	A	9	3	27	142	118	260	B	8	16	128	66	B	8	3	24	7.14	GRAND TOTAL: 641								
			SGPT	-	SEM-I	:	7.22	SEM-II	:	7.56	SEM-III	:	7.17	SEM-IV	:	7.14	SEM-V	:	6.67	SEM-VI	:	6.67	GRAND TOTAL: 641						
			SGPT	-	SEM-VII	:	8.03	SEM-VIII	:	7.22	SEM-IX	:	5.00	SEM-X	:	7.33	SEM-XI	:	7.64	SEM-XII	:	7.64	GRAND TOTAL: 641						
			CGPT:																										
			CGPT:																										
5979	KADAM DEENADAY MORAR MALTI	4 NAVI-MUMBAI	52	E	5	3	15	75	51	126	C	7	6	42	25	E	5	2	10	32	C	7	3	21	6.64	P			
			55	D	6	3	18	130	119	249	C	7	16	112	60	C	7	3	21	5.33	GRAND TOTAL: 599								
			SGPT	-	SEM-I	:	5.89	SEM-II	:	5.39	SEM-III	:	5.08	SEM-IV	:	6.11	SEM-V	:	5.33	SEM-VI	:	5.33	GRAND TOTAL: 599						
			SGPT	-	SEM-VII	:	5.22	SEM-VIII	:	5.36	SEM-IX	:	8.00	SEM-X	:	6.08	SEM-XI	:	6.64	SEM-XII	:	6.64	GRAND TOTAL: 599						
			CGPT:																										
			CGPT:																										
5980	KADAM BABUL UDAY UMILTA	4 NAVI-MUMBAI	65	B	8	3	24	75	53	128	C	7	6	42	38	O	10	2	20	32	C	7	3	21	7.58	P			
			65	B	8	3	24	144	112	256	C	7	16	112	75	O	10	3	30	7.42	GRAND TOTAL: 659								
			SGPT	-	SEM-I	:	7.22	SEM-II	:	8.14	SEM-III	:	6.53	SEM-IV	:	8.67	SEM-V	:	7.42	SEM-VI	:	7.42	GRAND TOTAL: 659						
			SGPT	-	SEM-VII	:	7.56	SEM-VIII	:	8.14	SEM-IX	:	7.00	SEM-X	:	7.53	SEM-XI	:	7.58	SEM-XII	:	7.58	GRAND TOTAL: 659						
			CGPT:																										
			CGPT:																										
5982	KADAM SOHAM PRADEEP PRANALI	4 NAVI-MUMBAI	58	D	6	3	18	60	62	122	C	7	6	42	32	C	7	2	14	32	C	7	3	21	7.36	P			
			62	C	7	3	21	140	135	275	B	8	16	128	61	C	7	3	21	7.19	GRAND TOTAL: 642								
			SGPT	-	SEM-I	:	7.36	SEM-II	:	6.08	SEM-III	:	6.61	SEM-IV	:	7.14	SEM-V	:	7.19	SEM-VI	:	7.19	GRAND TOTAL: 642						
			SGPT	-	SEM-VII	:	6.81	SEM-VIII	:	6.94	SEM-IX	:	8.00	SEM-X	:	7.17	SEM-XI	:	7.36	SEM-XII	:	7.36	GRAND TOTAL: 642						
			CGPT:																										
			CGPT:																										

B:O.5042A; @:O.5043A; \*O.5045A; #:O.229; +:EXM-CARRIED; -:FINAL; A:ABSENT; P:ASSES; F:FAIL; R:EXM CAN BE CLAIMED; RR:RESERVED; -:Dyslexia; A:ABSENT; M:ILL; N:NULL & VOID; GPA:GRADE POINT AVERAGE-SUM OF C+G / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 75%; GRADE D:75% & ABOVE; GRADE B:65% & ABOVE AND BELOW 60%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE; GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99; GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: O.5050; Course Grades:-Grade-(Outstanding)= 10pt., Grade-(Excellent)= 9pt., Grade-(Very Good)= 8pt., Grade-(Good)= 7pt., Grade-(Satisfactory)= 5pt., Grade-(Fair)= 4pt.

ATTESTED TRUE COPY

PRINCIPAL

BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM-X) CBOS EXAMINATION-OCTOBER 2020  
COLLEGE: 316 Bharati Vidyapeeth's College of Architecture

OCTOBER 26, 2020  
PAGE : 66

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V		PAPER-II/VI		PAPER-III/VII		PAPER-IV		SGPI-X	RSLT															
			IN	GR	EX	TOT	GR	CR	IN	GR	GP	CR															
5991	KANNI RAHUL ASHOK RAGINI 4 NAVI-MUMBAI		60	C	7	3	21	140	125	265	B	8	6	48	25	E	5	2	10	32	C	7	3	21	7.58	P	
			60	C	7	3	21	6.28	SEM-I:	7.75	SEM-II:	6.72	SEM-III:	7.22	SEM-IV:	7.22	SEM-V:	5.94									
			SGPI	--	SEM-I:	7.81	SEM-VI:	6.47	SEM-VII:	7.00	SEM-IX:	6.89	SEM-X:	7.58													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
5993	KENDRI SHRAVANI MERINATH UJWALA 4 NAVI-MUMBAI		62	C	7	3	21	60	65	125	C	7	6	42	30	C	7	2	14	32	C	7	3	21	7.00	P	
			60	C	7	3	21	122	135	257	C	7	16	112	61	C	7	3	21	8.33							
			SGPI	--	SEM-I:	7.81	SEM-VI:	6.47	SEM-VII:	7.22	SEM-VIII:	10.00	SEM-IX:	7.44	SEM-X:	7.00											
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
5998	KHARDE NIKIYA PRABHAKAR PREMA 4 NAVI-MUMBAI		60	C	7	3	21	70	68	138	B	8	6	48	33	B	8	2	16	35	A	9	3	21	8.44	P	
			67	B	8	3	24	150	140	290	A	9	16	144	68	B	8	3	24	8.11							
			SGPI	--	SEM-I:	7.94	SEM-VI:	6.72	SEM-VII:	8.47	SEM-VIII:	8.94	SEM-IX:	7.31	SEM-X:	8.44											
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
5999	KHATRIKAR VARUN SHYAM KARISHMA 4 NAVI-MUMBAI		51+	E	5	3	15	50+	AA					25+	E	5	2	10	25+	E	5	3	15	5.36	F		
			5F	E				65F	AA					52+	E	5	3	15									
			SGPI	--	SEM-I:	7.50	SEM-VI:	6.03	SEM-VII:	6.22	SEM-VIII:	7.11	SEM-IX:	5.36													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
6000	KHATIBI MOHAMMED FAISAL SAJIDA 4 NAVI-MUMBAI		52+	E	5	3	15	54+	52	106	E	5	6	30	25+	E	5	2	10	25+	E	5	3	15	5.53	P	
			51+	E	5	3	15	110+	110	220	D	6	16	96	55+	E	5	3	15	5.44							
			SGPI	--	SEM-I:	6.19	SEM-VI:	5.64	SEM-VII:	5.58	SEM-VIII:	5.06	SEM-IX:	5.44													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
6003	KHOJKA ROTVIJ KANESH SEENA 4 NAVI-MUMBAI		59	D	6	3	18	80	60	140	A	9	6	54	36	A	9	2	18	32	C	7	3	21	7.44	P	
			62	C	7	3	21	142	117	259	C	7	16	112	69	B	8	3	24	6.08							
			SGPI	--	SEM-I:	5.97	SEM-VI:	6.94	SEM-VII:	5.31	SEM-VIII:	7.64	SEM-IX:	6.08													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
6006	KOLI VIKASHIL NIKANTH RASHEE 4 NAVI-MUMBAI		62	C	7	3	21	73	68	141	A	9	6	54	32	C	7	2	14	29	D	6	3	18	7.44	P	
			52	E	5	3	15	134	145	279	B	8	16	128	56	D	6	3	18	6.11							
			SGPI	--	SEM-I:	8.58	SEM-VI:	7.17	SEM-VII:	5.78	SEM-VIII:	6.64	SEM-IX:	6.11													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								
6008	KSHIRSAGAR AJAY CHUDAPPA ANJU 4 NAVI-MUMBAI		50	E	5	3	15	55	58	113	D	6	6	36	27	E	5	2	10	25	E	5	3	15	5.69	P	
			55	D	6	3	18	106	115	221	D	6	16	96	52	E	5	3	15	5.72							
			SGPI	--	SEM-I:	5.81	SEM-VI:	6.11	SEM-VII:	6.22	SEM-VIII:	6.64	SEM-IX:	5.72													
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cf.:3)		Sub.:2. ARCH. REP. & DETAILING-B (IN:100/50, EX:100/50) (Cf.:6)		Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cf.:2)																				
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cf.:3)		Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cf.:3)		Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cf.:16)																				
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cf.:3)																								

Q:O. 5042A: 8:O. 5043A: 4:O. 5045A: 4:O. 229: 4:EXM. CARRIED//FEMALE; AA/ABSENT; P:PASSES; F:FAIL/E:EXM CAN BE CLAIMED; RR:RESERVED; -D:JAYK; AA/ABS. ABSENT; M:L:NULL & VOID.  
 GRA: GRADE POINT AVERAGE-SUM OF CAG / 50M OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
 GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:10% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
 GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; REV: PROVISIONAL; RCC: O. 5050.  
 Course Grades:-Grade-0(Outstanding)= 10pt.; Grade-A(Excellent)= 9pt.; Grade-B(Very Good)= 8pt.; Grade-C(Good)= 7pt.; Grade-D(Fair)= 6pt.; Grade-E(Satisfactory)= 5pt.; Grade-F(Poor)= 4pt.

ATTESTED TRUE COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI





SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/II/III/IV	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RESLT
Sub-1	ENVIRONMENT STUDIES-5	(IN:100/50) (Cr.:3)	Sub-2	ARCH. REP. & DETAILING-8	(IN:100/50, EX:100/50) (Cr.:6)	Sub-3	ARCH. THEORIES-4	(IN:50/25) (Cr.:2)	Sub-4	PROF. PRACT-3	(IN:50/25) (Cr.:3)	Sub-5	ADV. BLDG. CONST. STRU	(IN:100/50) (Cr.:3)	Sub-6	DESIGN DIS.-2	(IN:200/100, EX:200/100) (Cr.:16)					
Sub-7	ELECTIVE - 10	(IN:100/50) (Cr.:3)																				

6039 /NAIK POOJA ANURAGH REKHA  
4 NAVI-MUMBAI  
63 C 7 3 21 65 55 120 C 7 6 42 37 A 9 2 18 25 E 5 3 15  
65 B 8 3 24 156 115 271 B 8 16 128 61 C 7 3 21 GRAND TOTAL: 642 7.47  
SGPI :- SEM-I : 6.64 SEM-II : 6.81 SEM-III : 6.50 SEM-IV : 6.72 SEM-V : 6.72  
SGPI :- SEM-VI : 5.81 SEM-VII : 6.78 SEM-VIII : 8.00 SEM-IX : 6.53 SEM-X : 7.47  
CGPI: 6.7380.02

6041 NAIR PRAATHANA RAJURMAN PRAMITIA  
4 NAVI-MUMBAI  
56 D 6 3 18 75 50 125 C 7 6 42 25 E 5 2 10 32 C 7 3 21  
57 D 6 3 18 138 100 238 D 6 16 96 60 C 7 3 21 GRAND TOTAL: 593 6.28  
SGPI :- SEM-I : 7.58 SEM-II : 6.33 SEM-III : 6.06 SEM-IV : 6.39 SEM-V : 6.50  
SGPI :- SEM-VI : 6.36 SEM-VII : 6.17 SEM-VIII : 8.00 SEM-IX : 7.22 SEM-X : 6.28  
CGPI: 6.61

6042 NALAVARE PRANAV PRAHARAKAR PRAADHYA  
4 NAVI-MUMBAI  
65 B 8 3 24 58 52 110 D 6 6 36 32 C 7 2 14 30 C 7 3 21  
60 C 7 3 21 134 110 244 C 7 16 112 60 C 7 3 21 GRAND TOTAL: 601 6.92  
SGPI :- SEM-I : 6.58 SEM-II : 6.83 SEM-III : 5.81 SEM-IV : 6.86 SEM-V : 5.81  
SGPI :- SEM-VI : 5.61 SEM-VII : 5.44 SEM-VIII : 8.00 SEM-IX : 6.11 SEM-X : 6.92  
CGPI: 6.30

6043 NARODAN ROKHAF RAVI SANDHYA  
4 NAVI-MUMBAI  
73 A 9 3 27 72 62 134 B 8 6 48 29 D 6 3 12 29 D 6 3 18  
72 A 9 3 27 140 135 275 B 8 16 128 59 D 6 3 18 GRAND TOTAL: 671 7.72  
SGPI :- SEM-I : 8.11 SEM-II : 7.75 SEM-III : 7.25 SEM-IV : 7.28 SEM-V : 6.56  
SGPI :- SEM-VI : 5.86 SEM-VII : 7.47 SEM-VIII : 9.00 SEM-IX : 7.75 SEM-X : 7.72  
CGPI: 7.41

6045 /NARAKAR SONAL PRANOD PRAMITIA  
4 NAVI-MUMBAI  
61 C 7 3 21 66 63 129 C 7 6 42 30 C 7 2 14 27 E 5 3 15  
67 B 8 3 24 142 128 270 B 8 16 128 63 C 7 3 21 GRAND TOTAL: 647 7.36  
SGPI :- SEM-I : 7.86 SEM-II : 8.50 SEM-III : 7.39 SEM-IV : 8.56 SEM-V : 7.58  
SGPI :- SEM-VI : 6.11 SEM-VII : 7.35 SEM-VIII : 9.00 SEM-IX : 6.67 SEM-X : 7.36  
CGPI: 7.56

6047 /NAVALE PRAADHYA ANNAASHEE SUNITA  
4 NAVI-MUMBAI  
50 E 5 3 15 62 58 120 C 7 6 42 29 D 6 3 12 33 B 8 3 24  
53 C 7 3 21 112 115 227 D 6 16 96 61 C 7 3 21 GRAND TOTAL: 583 6.42  
SGPI :- SEM-I : 6.76 SEM-II : 5.21 SEM-III : 5.17 SEM-IV : 5.64 SEM-V : 5.72  
SGPI :- SEM-VI : 6.14 SEM-VII : 5.61 SEM-VIII : 6.00 SEM-IX : 6.58 SEM-X : 6.42  
CGPI: 5.93

6048 /NEDIYIRIPETI SHREYASI VENUGOPALAN GEETA  
4 NAVI-MUMBAI  
53 E 5 3 15 65 65 130 B 8 6 48 34 B 8 2 16 32 C 7 3 21  
56 D 6 3 18 132 136 268 B 8 16 128 64 C 7 3 21 GRAND TOTAL: 637 7.42  
SGPI :- SEM-I : 7.67 SEM-II : 6.97 SEM-III : 6.08 SEM-IV : 6.58 SEM-V : 5.69  
SGPI :- SEM-VI : 5.19 SEM-VII : 6.17 SEM-VIII : 10.00 SEM-IX : 6.44 SEM-X : 7.42  
CGPI: 6.63

6049 /NITAMAR MANALI MAHERROGA KANISHA  
4 NAVI-MUMBAI  
55 D 6 3 18 64 64 128 C 7 6 42 32 C 7 2 14 27 E 5 3 15  
64 C 7 3 21 122 134 256 C 7 16 112 62 C 7 3 21 GRAND TOTAL: 624 6.75  
SGPI :- SEM-I : 8.03 SEM-II : 8.75 SEM-III : 8.39 SEM-IV : 8.17 SEM-V : 7.33  
SGPI :- SEM-VI : 7.50 SEM-VII : 5.44 SEM-VIII : 0.00 SEM-IX : 6.28 SEM-X : 6.75  
CGPI: 7.52

8:0.5042A, 8:0.5043A, 8:0.5045A, 8:0.229; \*EXHIB. CARRIED; \*\*FINAL; A: ABSENT; P: PASSES; F: FAIL; E: EXEMPT CAN BE CLAIMED; R: RESERVED; -: DYSLEXIA / AA/AB: ABSENT/ NULL/NULL & VOID.;  
GPA: GRADE POINT AVERAGE-SUM OF CAG / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ACC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: 0.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt. COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI



SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V->			PAPER-II/VI->			PAPER-III/VII->			PAPER-IV->			SGPI-X	RESULT			
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RESULT	
Sub-1	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)	Sub-2	ARCH. REP. & DETAILING-8	(IN:100/50, EX:100/50) (Cr.:6)	Sub-3	ARCH. THEORIES-4	(IN:50/25) (Cr.:2)	Sub-4	PROF. PRACT-3	(IN:50/25) (Cr.:3)	Sub-5	ADV. BLDG. CONSTA STRUC	(IN:100/50) (Cr.:3)	Sub-6	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)		
Sub-7	ELECTIVE - 10	(IN:100/50) (Cr.:3)																	

6071 PATIL ADHYAK SANJAY SANGITA  
4 NAVI-MUMBAI

52	E	5	3	15	60	62	122	C	7	6	42	26	E	5	2	10	32	C	7	3	21	6.64	P	
56	D	6	1	18	138	115	253	C	7	16	112	62	C	7	3	21	6.22	GRAND TOTAL:	603			6.64		
SGPI	--	SEM-I	:	5.92	SEM-II	:	6.03	SEM-III	:	5.03	SEM-IV	:	5.22	SEM-V	:	5.22	SEM-VI	:	5.42					
SGPI	--	SEM-VII	:	5.00	SEM-VIII	:	5.03	SEM-IX	:	9.00	SEM-X	:	6.25	SEM-XI	:	6.64	CGPI	:	5.75					

6072 /PATIL HANSHALI DNYANESHVAR SUNITA  
4 NAVI-MUMBAI

50	E	5	3	15	63	55	118	D	6	6	36	27	E	3	2	10	25	E	5	3	15	5.94	P	
65	B	8	3	24	110	121	231	D	6	16	96	56	D	6	3	18	5.42	GRAND TOTAL:	572			5.94		
SGPI	--	SEM-I	:	7.06	SEM-II	:	6.39	SEM-III	:	5.78	SEM-IV	:	5.92	SEM-V	:	5.42	SEM-VI	:	5.42					
SGPI	--	SEM-VII	:	5.14	SEM-VIII	:	5.25	SEM-IX	:	7.00	SEM-X	:	5.00	SEM-XI	:	5.94	CGPI	:	5.82					

6078 /PATIL RAVINA BHARAT SASMITA  
4 NAVI-MUMBAI

67	B	8	3	24	55	55	110	D	6	6	36	32	C	7	2	14	31	B	8	3	24	6.19	P	
70	A	9	3	27	114	105	219	E	5	16	80	57	D	6	3	18	8.03	GRAND TOTAL:	588			6.19		
SGPI	--	SEM-I	:	6.61	SEM-II	:	7.08	SEM-III	:	7.08	SEM-IV	:	7.03	SEM-V	:	8.03	SEM-VI	:	6.19					
SGPI	--	SEM-VII	:	6.19	SEM-VIII	:	7.39	SEM-IX	:	8.00	SEM-X	:	6.97	SEM-XI	:	6.19	CGPI	:	7.00					

6082 /PATIL SAILI SARTISH SHAKUNTALA  
4 NAVI-MUMBAI

61	C	7	3	21	58	56	114	D	6	6	36	25	E	5	2	10	27	E	5	3	15	6.01	P	
63	C	7	3	21	120	108	228	D	6	16	96	55	D	6	3	18	6.17	GRAND TOTAL:	573			6.01		
SGPI	--	SEM-I	:	6.06	SEM-II	:	6.94	SEM-III	:	5.25	SEM-IV	:	6.14	SEM-V	:	6.17	SEM-VI	:	6.17					
SGPI	--	SEM-VII	:	5.72	SEM-VIII	:	6.17	SEM-IX	:	8.00	SEM-X	:	6.28	SEM-XI	:	6.03	CGPI	:	6.17					

6086 PATOLE ANTAIRIKSH RAVI NEELAM  
4 NAVI-MUMBAI

62	C	7	3	21	57	54	111	D	6	6	36	35	A	9	2	18	33	B	8	3	24	7.28	P	
74	A	9	3	27	136	104	240	C	7	16	112	65	B	8	3	24	8.03	GRAND TOTAL:	620			7.28		
SGPI	--	SEM-I	:	8.19	SEM-II	:	7.64	SEM-III	:	6.86	SEM-IV	:	7.67	SEM-V	:	8.03	SEM-VI	:	7.28					
SGPI	--	SEM-VII	:	7.89	SEM-VIII	:	8.00	SEM-IX	:	10.00	SEM-X	:	7.42	SEM-XI	:	7.28	CGPI	:	7.77					

6092 /PICHODKAR GARGI DORAGESH NANDINI  
4 NAVI-MUMBAI

50	E	5	3	15	50	53	103	E	5	6	30	25	E	5	2	10	30	C	7	3	21	5.17	P	
50	E	5	3	15	100	101	201	E	5	16	80	52	E	5	3	15	5.19	GRAND TOTAL:	511			5.17		
SGPI	--	SEM-I	:	6.22	SEM-II	:	6.89	SEM-III	:	5.11	SEM-IV	:	5.33	SEM-V	:	5.19	SEM-VI	:	5.19					
SGPI	--	SEM-VII	:	5.00	SEM-VIII	:	5.00	SEM-IX	:	5.53	SEM-X	:	5.17	SEM-XI	:	5.17	CGPI	:	5.47					

6093 PIPALIYA SONU JAYENDRA NITABEN  
4 NAVI-MUMBAI

50	E	5	3	15	70	50	120	C	7	6	42	30	C	7	2	14	28	D	6	3	18	6.92	P	
68	B	8	3	24	136	115	251	C	7	16	112	68	B	8	3	24	7.33	GRAND TOTAL:	615			6.92		
SGPI	--	SEM-I	:	7.22	SEM-II	:	7.78	SEM-III	:	7.86	SEM-IV	:	8.11	SEM-V	:	7.33	SEM-VI	:	7.33					
SGPI	--	SEM-VII	:	6.69	SEM-VIII	:	7.17	SEM-IX	:	7.00	SEM-X	:	7.25	SEM-XI	:	6.92	CGPI	:	7.35					

6095 POKAR ROHAN RAJCHANDR ANITA  
4 NAVI-MUMBAI

67	B	8	3	24	50	50	100	E	5	6	30	29	D	6	2	12	33	B	8	3	24	6.17	P	
57	D	6	3	18	128	110	238	D	6	16	96	58	D	6	3	18	6.78	GRAND TOTAL:	582			6.17		
SGPI	--	SEM-I	:	7.23	SEM-II	:	7.08	SEM-III	:	6.08	SEM-IV	:	6.75	SEM-V	:	6.78	SEM-VI	:	6.17					
SGPI	--	SEM-VII	:	6.97	SEM-VIII	:	6.89	SEM-IX	:	7.00	SEM-X	:	6.11	SEM-XI	:	6.17	CGPI	:	6.69					

#10.5042A, #10.5043A, #10.5045A, #10.229, #EXMP. CARRIED, #TERRACE, #A:ABSENT, #P:PASS, #F:FAIL, #E:EXMP CAN BE CLAIMED, #R:RESERVED, #D:DUPLICATE, #NA/ABS: ABSENT, #NULL:NULL & VOID.  
GPA: GRADE POINT AVERAGE-SUM OF CGP / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; D: GRADE POINTS; ACC: ADMISSION CANCELLED; RPV: PROVISIONAL/ RCO: O.5050.  
Course Grades: -Grade-0(outstanding)- 10pt., Grade-Attkcellent)- 9pt., Grade-0lvery Good)- 8pt., Grade-C(0ood)- 7pt., Grade-D(fair)- 6pt., Grade-E(satisfactory)- 5pt., Grade-F(0l) 4pt.



PRINCIPAL  
HARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

SEAT NAME OF CANDIDATE CENTRE  
 PAPER-I/V  
 IN GR GP CR C+G  
 PAPER-II/VI  
 IN EX TOT GR GP CR C+G  
 PAPER-III/VII  
 IN GR GP CR C+G  
 PAPER-IV  
 IN GR GP CR C+G  
 SGPI-X  
 RESULT

Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH. REP. & DETAIL-D-8 (IN:100/50, EX:100/50) (Cr.:6) Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:12)  
 Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONSTR. STRU (IN:100/50) (Cr.:3) Sub.:6. DECISION DISC.-2 (IN:200/100, EX:200/100) (Cr.:15)

6096 PRADEEP MAHESH SHIRKAR  
 4 NAVI-MUMBAI  
 60 8 3 24 58 55 113 D 6 6 36 39 0 10 2 20 33 B 8 3 24  
 74 A 9 3 27 7.83 SEM-I: 7.22 SEM-II: 7.44 SEM-III: 7.53 SEM-IV: 7.17  
 SGPI: SEM-I: 7.04 SEM-VI: 7.04 SEM-VII: 8.28 SEM-VIII: 9.00 SEM-IX: 7.58 SEM-X: 7.70  
 GRAND TOTAL: 651 7.78  
 CGPI: 7.6580.10

6099 RAHATE ADESH RAJENDRA RAJANI  
 4 NAVI-MUMBAI  
 50 D 6 3 18 50 50 100 E 5 6 30 25 E 5 2 10 30 C 7 3 21  
 56 D 6 3 18 122 100 222 D 6 16 96 54 D 6 3 18 6.44  
 SGPI: SEM-I: 7.94 SEM-II: 7.06 SEM-III: 6.14 SEM-IV: 6.92 SEM-V: 6.44  
 SGPI: SEM-VI: 7.00 SEM-VII: 5.97 SEM-VIII: 9.00 SEM-IX: 6.47 SEM-X: 5.86  
 GRAND TOTAL: 546 5.86  
 CGPI: 6.76

6107 BATHOD PRITVAJ JAYESH VANSINA  
 4 NAVI-MUMBAI  
 67 B 8 3 24 50 50 100 E 5 6 30 27 E 5 2 10 26 E 5 3 15  
 50 B 5 3 15 128 100 228 D 6 16 96 54 E 5 3 15 6.28  
 SGPI: SEM-I: 7.14 SEM-II: 6.86 SEM-III: 6.28 SEM-IV: 6.59 SEM-V: 6.28  
 SGPI: SEM-VI: 7.03 SEM-VII: 5.78 SEM-VIII: 8.00 SEM-IX: 5.94 SEM-X: 5.69  
 GRAND TOTAL: 552 5.69  
 CGPI: 6.48

6111 /ROKADE SURABHI SURESH ANITA  
 4 NAVI-MUMBAI  
 69 B 8 3 24 68 60 128 C 7 6 42 30 C 7 2 14 34 B 8 3 24  
 50 E 5 3 15 130 125 255 C 7 16 112 63 C 7 3 21 8.89  
 SGPI: SEM-I: 5.97 SEM-II: 6.39 SEM-III: 6.17 SEM-IV: 6.81 SEM-V: 6.89  
 SGPI: SEM-VI: 6.19 SEM-VII: 7.50 SEM-VIII: 6.00 SEM-IX: 6.83 SEM-X: 7.00  
 GRAND TOTAL: 629 7.00  
 CGPI: 6.61

6112 RUNGTA ISHMA ANON SABITA  
 4 NAVI-MUMBAI  
 64 C 7 3 21 68 70 138 B 9 6 48 30 C 7 2 14 30 C 7 3 21  
 58 B 8 3 24 150 130 280 A 9 16 144 60 C 7 3 21 8.14  
 SGPI: SEM-I: 7.42 SEM-II: 7.00 SEM-III: 6.81 SEM-IV: 8.00 SEM-V: 8.11  
 SGPI: SEM-VI: 7.31 SEM-VII: 8.56 SEM-VIII: 9.00 SEM-IX: 7.89 SEM-X: 8.14  
 GRAND TOTAL: 670 8.14  
 CGPI: 7.76

6113 /SADHANI NAVEETA ASHOK CHANDRA  
 4 NAVI-MUMBAI  
 60 C 7 3 21 53 55 108 E 5 6 30 26 E 5 2 10 28 D 6 3 18  
 50 E 5 3 15 100 110 210 H 5 16 80 58 D 6 3 18 5.67  
 SGPI: SEM-I: 7.39 SEM-II: 6.78 SEM-III: 6.11 SEM-IV: 6.53 SEM-V: 5.67  
 SGPI: SEM-VI: 5.22 SEM-VII: 5.81 SEM-VIII: 8.00 SEM-IX: 6.22 SEM-X: 5.33  
 GRAND TOTAL: 540 5.33  
 CGPI: 6.21

6114 /SAGARE PRANALI SURESH JAYASHRI  
 4 NAVI-MUMBAI  
 66 B 8 3 24 68 50 118 D 6 6 36 28 D 6 2 12 32 C 7 3 21  
 52 E 5 3 15 144 110 254 C 7 16 112 60 C 7 3 21 6.69  
 SGPI: SEM-I: 7.00 SEM-II: 6.75 SEM-III: 6.20 SEM-IV: 7.33 SEM-V: 6.53  
 SGPI: SEM-VI: 6.42 SEM-VII: 6.57 SEM-VIII: 6.00 SEM-IX: 6.25 SEM-X: 6.69  
 GRAND TOTAL: 610 6.69  
 CGPI: 6.63

6118 SALIAN TEJAS SADIJ JYOTI  
 4 NAVI-MUMBAI  
 58E D 6 3 18 55E 30F 85 25E E 5 2 10 32E C 7 3 21  
 55E D 6 3 18 104E 60F 164 59E D 6 3 18 478  
 SGPI: SEM-I: 5.97 SEM-II: 5.69 SEM-III: 5.42 SEM-IV: 5.97 SEM-V: 5.47  
 SGPI: SEM-VI: 5.56 SEM-VII: 5.42 SEM-VIII: 7.00 SEM-IX: 6.28 SEM-X: 0.00  
 GRAND TOTAL: 478  
 CGPI: 6.63

8:0.5042A; 8:0.5043A; 8:0.5045A; 8:0.229; +:EXMP. CARRIED//:FINAL; A:ABSENT; F:PASSES; F:FAIL; E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyalekic / AA/ABS; ABSENT; NULL; NULL & VOID.;  
 GPA: GRADE POINT AVERAGE-SUM OF CAG / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELS; RV: PROVISIONAL; MCC: 0.5050.  
 Course Grades: -Grade-O(Outstanding)= 10pt.; Grade-A(Excellent)= 9pt.; Grade-B(Very Good)= 8pt.; Grade-C(Good)= 7pt.; Grade-D(Fair)= 6pt.; Grade-E(Satisfactory)= 5pt.; Grade-F(Poor)= 4pt.  
 ATTENDED TRUE COPY



PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

SEAT NAME OF CANDIDATE CENTRE  
Sub: 1. ENVIRONMENT STUDIES-5 (IN:100/50) (CF.:3) Sub: 2. ARCH. REP. & DETAILING-8 (IN:100/50, EX:100/50) (CF.:6) Sub: 3. ARCH. THEORIES-4 (IN:50/25) (CF.:2)  
Sub: 4. PROF. PRACT-3 (IN:50/25) (CF.:3) Sub: 5. ADV. BLDG. CONSTS STRU (IN:100/50) (CF.:3) Sub: 6. DESIGN OIBS.-2 (IN:200/100, EX:200/100) (CF.:16)  
Sub: 7. ELECTIVE - 10 (IN:100/50) (CF.:3)

SEAT	NAME OF CANDIDATE	CENTRE	IN	EX	TOF	GR	GP	CR	C+G	IN	EX	TOF	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	CGPT-X	REMARK
6119	SALUNKHE DIVYA VIRAS LATA 4 NAVI-MUMBAI		60	C	7	3	21	58	60	118	0	6	6	36	29	D	6	2	12	29	D	6	3	18	599	5.44	P	
6122	SANAS RAJOL GANESH PORNINA 4 NAVI-MUMBAI		50	E	5	3	15	106	140	246	C	7	16	112	57	D	6	3	18	6.47								
6123	SARGETA VEERANANI POH MALATHI 4 NAVI-MUMBAI		55	D	6	3	18	50	60	110	D	6	6	36	32	C	7	2	14	33	B	8	3	24	608	6.72	P	
6125	SAPLE CHINMAY SHIVARAM SUDHAKRNI 4 NAVI-MUMBAI		60	C	7	3	21	114	125	239	D	6	16	96	55	D	6	3	18	35	A	9	3	27	579	6.28	P	
6128	SAVLA PRIYAL JITESH GEKTA 4 NAVI-MUMBAI		51+	E	5	3	15	50+	55	105	E	5	6	30	33+	B	8	2	16	25+	E	5	3	15	554	6.06	P	
6136	SHAH KINJAL VIPUL KAJAL 4 NAVI-MUMBAI		54	E	5	3	15	67	75	142	A	9	6	54	34	B	8	2	16	30	C	7	3	21	673	8.19	P	
6138	SHANASANE NHRADVA KANALAKAR KARUNA 4 NAVI-MUMBAI		55E	D	6	3	18	10F	AA	AA										27E	R	5	3	15	193		F	
6140	SHAIKH SAKIB NAZIM SAJJIDA 4 NAVI-MUMBAI		51	E	5	3	15	50	60	110	D	6	6	36	25	E	5	2	10	27	E	5	3	15	559	6.06	P	

B:0.5042A; B:0.5043A; B:0.5045A; B:0.225; +EXMP. CARRIED; / FEMALE: AA:ABSENT; P: PASSES; F: FAIL; E: EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyalexia / AA/ABS: ABSENT; NULL:NULL & VOID.  
GRA:GRADE POINT AVERAGE-SUM OF CAG / SUM OF C/ GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE 0:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE 0:(Outstanding) = 10pt.; Grade-A(Excellent) = 9pt.; Grade-B(Very Good) = 8pt.; Grade-C(Good) = 7pt.; Grade-D(Fair) = 6pt.; Grade-E(Satisfactory) = 5pt.; Grade-F(Fail) = 0pt.  
Course Grades:-Grade-0(Outstanding) = 10pt.; Grade-A(Excellent) = 9pt.; Grade-B(Very Good) = 8pt.; Grade-C(Good) = 7pt.; Grade-D(Fair) = 6pt.; Grade-E(Satisfactory) = 5pt.; Grade-F(Fail) = 0pt.



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

ATTENDED TRUE COPY





SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V-->		PAPER-II/VI-->		PAPER-III/VII-->		PAPER-IV-->		SGPI-X	RESLT
			IN	GR	IN	EX	IN	EX	IN	GR	SGPI-X	
Sub.:1.	ENVIRONMENTL STUDIES-5	(IN:100/50) (Cf.:3)	Sub.:2.	ARCH. RES. & DETAILG-8	(IN:100/50, EX:100/50) (Cf.:6)	Sub.:3.	ARCH. THEORIES-4	(IN:50/25) (Cf.:2)				
Sub.:4.	PROF. PRACT-3	(IN:50/25) (Cf.:3)	Sub.:5.	ADV. BLDG. CONSTA STRU	(IN:100/50) (Cf.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cf.:16)				
Sub.:7.	ELECTIVE - 10	(IN:100/50) (Cf.:3)										

6548 /SHREY VIBHA VENUGOPAL VIDYA  
4 NAVI-MUMBAI

52+	E	5	3	15	50+	56	106	E	5	6	30	25+	E	5	2	10	26+	E	5	3	15		
51+	E	5	3	15	124+	132	256	C	7	16	112	51+	E	5	3	15	GRAND TOTAL:	567			5.89	P	
SGPI :-	SEM-I :	6.69	SEM-II :	9.11	SEM-III :	7.53	SEM-IV :	8.28	SEM-V :	7.78							CCPI :	7.7280.03					
	SEM-VI :	6.42	SEM-VII :	6.39	SEM-VIII :	9.00	SEM-IX :	8.78	SEM-X :	5.89													

#:0.5042A; #:0.5043A; #:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSSS; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia ; AA/ABS: ABSENT; BULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF Cgd / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE P:GRADE POINTS BELOW 5; GRADE S:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; REV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-0(Outstanding)= 10pt.,Grade-1(Excellent)= 9pt.,Grade-2(Very Good)= 8pt.,Grade-3(Good)= 7pt.,Grade-4(Fair)= 6pt.,Grade-5(Satisfactory)= 5pt., Grade-6(Fail)= 0pt.

ATTESTED TRUE COPY



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

SEAT	NAME OF CANDIDATE	CENTRE	<---PAPER-I/V--->	<---PAPER-II/VI--->	<---PAPER-III/VII--->	<---PAPER-IV--->	SGPI-X	RSLT
			IN GR GP CR C+G	IN EX TOT GR GP CR C+G	IN GR GP CR C+G	IN GR GP CR C+G		

Sub.:1. ENVIRNMTL STUDIES-5 (IN:100/50)(Cr.:3) Sub.:2. ARCH.REP.& DETAILG-8 (IN:100/50,EX:100/50)(Cr.:6) Sub.:3. ARCH.THEORIES-4 (IN:50/25)(Cr.:2)  
Sub.:4. PROF. PRACT-3 (IN:50/25)(Cr.:3) Sub.:5. ADV.BLDG.CONSTR& STRU (IN:100/50)(Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100,EX:200/100)(Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50)(Cr.:3)

6840 ADEP SAURABH ISHMAR ADEP 4 NAVI-MUMBAI  
70 A 9 3 27 52 52 104 E 5 6 30 27 E 5 2 10 32 C 7 3 21  
53 E 5 3 15 124 110 234 D 6 16 96 56 D 6 3 18 GRAND TOTAL: 576 6.03  
SGPI :- SEM-I : 8.28 SEM-II : 8.58 SEM-III : 7.14 SEM-IV : 7.14 SEM-V : 6.58  
SGPI :- SEM-VI : 6.58 SEM-VII : 5.78 SEM-VIII : 6.00 SEM-IX : 7.39 SEM-X : 6.03  
CGPI: 7.01

6842 /ADSUL MANSI RAJU RACHANA 4 NAVI-MUMBAI  
56 D 6 3 18 61 62 123 C 7 6 42 30 C 7 2 14 32 C 7 3 21  
55 D 6 3 18 137 115 252 C 7 16 112 73 A 9 3 27 GRAND TOTAL: 621 7.00  
SGPI :- SEM-I : 5.72 SEM-II : 6.86 SEM-III : 5.22 SEM-IV : 5.92 SEM-V : 5.28  
SGPI :- SEM-VI : 5.97 SEM-VII : 6.69 SEM-VIII : 7.00 SEM-IX : 8.11 SEM-X : 7.00  
CGPI: 6.34

6843 /AGARWAL SHIVANI JAGDISH NEELAM 4 NAVI-MUMBAI  
75 O 10 3 30 60 70 130 B 8 6 48 35 A 9 2 18 36 A 9 3 27  
63 C 7 3 21 154 130 284 A 9 16 144 75 O 10 3 30 GRAND TOTAL: 698 8.83  
SGPI :- SEM-I : 7.81 SEM-II : 7.56 SEM-III : 5.53 SEM-IV : 5.94 SEM-V : 5.94  
SGPI :- SEM-VI : 6.14 SEM-VII : 5.78 SEM-VIII : 6.00 SEM-IX : 9.06 SEM-X : 8.83  
CGPI: 6.91

6852 /BANGAR PARNAVI SHRIKANT RAJASHREE 4 NAVI-MUMBAI  
65 B 8 3 24 65 65 130 B 8 6 48 31 C 7 2 14 29 D 6 3 18  
68 B 8 3 24 152 140 292 A 9 16 144 62 C 7 3 21 GRAND TOTAL: 677 8.14  
SGPI :- SEM-I : 8.56 SEM-II : 8.86 SEM-III : 8.42 SEM-IV : 8.78 SEM-V : 9.31  
SGPI :- SEM-VI : 8.81 SEM-VII : 8.64 SEM-VIII : 9.00 SEM-IX : 7.89 SEM-X : 8.14  
CGPI: 8.62

6854 /BARI DEVYANI CHANDRAKANT VIDYA 4 NAVI-MUMBAI  
65 B 8 3 24 68 65 133 B 8 6 48 35 A 9 2 18 34 B 8 3 24  
62 C 7 3 21 126 120 246 C 7 16 112 68 B 8 3 24 GRAND TOTAL: 643 7.53  
SGPI :- SEM-I : 7.94 SEM-II : 7.61 SEM-III : 5.56 SEM-IV : 6.47 SEM-V : 6.72  
SGPI :- SEM-VI : 6.58 SEM-VII : 6.25 SEM-VIII : 6.00 SEM-IX : 7.06 SEM-X : 7.53  
CGPI: 6.82

6859 /BHAGAT PRACHI SUNIL MINAXI 4 NAVI-MUMBAI  
63 C 7 3 21 64 60 124 C 7 6 42 33 B 8 2 16 33 B 8 3 24  
74 A 9 3 27 158 135 293 A 9 16 144 61 C 7 3 21 GRAND TOTAL: 681 8.19  
SGPI :- SEM-I : 7.00 SEM-II : 8.14 SEM-III : 7.58 SEM-IV : 9.17 SEM-V : 8.92  
SGPI :- SEM-VI : 7.94 SEM-VII : 7.78 SEM-VIII : 8.00 SEM-IX : 8.00 SEM-X : 8.19  
CGPI: 8.08

6862 BHATI MUJEEB FATMAZ AKILA 4 NAVI-MUMBAI  
63 C 7 3 21 60 74 134 B 8 6 48 30 C 7 2 14 28 D 6 3 18  
55 D 6 3 18 134 144 278 B 8 16 128 65 B 8 3 24 GRAND TOTAL: 653 7.53  
SGPI :- SEM-I : 8.61 SEM-II : 9.44 SEM-III : 8.56 SEM-IV : 8.42 SEM-V : 7.81  
SGPI :- SEM-VI : 8.25 SEM-VII : 7.11 SEM-VIII : 7.00 SEM-IX : 8.75 SEM-X : 7.53  
CGPI: 8.22

6863 /BHATKAR YAGNIKA VIKAS VISHAKHA 4 NAVI-MUMBAI  
67 B 8 3 24 63 50 113 D 6 6 36 30 C 7 2 14 32 C 7 3 21  
56 D 6 3 18 150 100 250 C 7 16 112 66 B 8 3 24 GRAND TOTAL: 614 6.92  
SGPI :- SEM-I : 8.83 SEM-II : 8.36 SEM-III : 7.72 SEM-IV : 7.67 SEM-V : 8.03  
SGPI :- SEM-VI : 7.28 SEM-VII : 7.11 SEM-VIII : 7.00 SEM-IX : 8.28 SEM-X : 6.92  
CGPI: 7.76

ATTESTED TRUE COPY  
PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI



@:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt.,Grade-F(Fail)= 0pt.

SEAT	NAME OF CANDIDATE	CENTRE	<-PAPER-I/V-->	<-PAPER-II/VI-->	<-PAPER-III/VII-->	<-PAPER-IV-->	SGPI-X	RSLT
			IN GR GP CR C*G	IN EX TOT GR GP CR C*G	IN GR GP CR C*G	IN GR GP CR C*G		
Sub.:1.	ENVIRNMTL STUDIES-5	(IN:100/50)(Cr.:3)						
Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)						
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)						
Sub.:2.	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)						
Sub.:5.	ADV.BLDG.CONST& STRU	(IN:100/50)(Cr.:3)						
Sub.:3.	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)						
Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)						

6866	/BHOIR AKSHATA YASHWANT RENUKA	4 NAVI-MUMBAI	65 B 8 3 24	60 53 113 D 6 6 36	25 E 5 2 10	33 B 8 3 24		
			58 D 6 3 18	148 110 258 C 7 16 112	50 E 5 3 15	GRAND TOTAL: 602	6.64	P
			SGPI :- SEM-I : 6.47 SEM-II : 6.61 SEM-III : 5.25 SEM-IV : 5.81 SEM-V : 5.11	SGPI :- SEM-VI : 5.81 SEM-VII : 6.53 SEM-VIII : 7.00 SEM-IX : 6.78 SEM-X : 6.64				
			CGPI: 6.15					

6867	/BHOIR HARIDNYA HITESH SHITAL	4 NAVI-MUMBAI	61 C 7 3 21	69 58 127 C 7 6 42	30 C 7 2 14	35 A 9 3 27		
			58 D 6 3 18	143 123 266 B 8 16 128	65 B 8 3 24	GRAND TOTAL: 642	7.61	P
			SGPI :- SEM-I : 7.28 SEM-II : 7.56 SEM-III : 7.17 SEM-IV : 7.47 SEM-V : 7.25	SGPI :- SEM-VI : 7.19 SEM-VII : 6.56 SEM-VIII : 7.00 SEM-IX : 8.56 SEM-X : 7.61				
			CGPI: 7.39					

6868	/BHOIR MALAV BHASKAR JYOSTNA	4 NAVI-MUMBAI	63 C 7 3 21	68 53 121 C 7 6 42	33 B 8 2 16	31 C 7 3 21		
			62 C 7 3 21	145 110 255 C 7 16 112	64 C 7 3 21	GRAND TOTAL: 629	7.06	P
			SGPI :- SEM-I : 6.03 SEM-II : 5.92 SEM-III : 5.47 SEM-IV : 6.53 SEM-V : 6.31	SGPI :- SEM-VI : 6.06 SEM-VII : 6.36 SEM-VIII : 6.00 SEM-IX : 8.28 SEM-X : 7.06				
			CGPI: 6.43					

6870	/BHOSALE ABOLI UMESH URMILA	4 NAVI-MUMBAI	80 O 10 3 30	68 70 138 B 8 6 48	39 O 10 2 20	32 C 7 3 21		
			65 B 8 3 24	140 143 283 A 9 16 144	65 B 8 3 24	GRAND TOTAL: 702	8.64	P
			SGPI :- SEM-I : 8.53 SEM-II : 9.47 SEM-III : 8.03 SEM-IV : 7.92 SEM-V : 8.22	SGPI :- SEM-VI : 7.92 SEM-VII : 8.17 SEM-VIII : 8.00 SEM-IX : 8.72 SEM-X : 8.64				
			CGPI: 8.38					

6871	/BHOSALE MANGESH NARESH SANGEETA	4 NAVI-MUMBAI	52 E 5 3 15	58 50 108 E 5 6 30	30 C 7 2 14	25 E 5 3 15		
			51 E 5 3 15	147 100 247 C 7 16 112	56 D 6 3 18	GRAND TOTAL: 569	6.08	P
			SGPI :- SEM-I : 6.33 SEM-II : 5.97 SEM-III : 5.22 SEM-IV : 6.00 SEM-V : 5.33	SGPI :- SEM-VI : 6.17 SEM-VII : 5.36 SEM-VIII : 5.00 SEM-IX : 7.08 SEM-X : 6.08				
			CGPI: 5.90					

6876	/CHAUDHARI AISHWARYA RUPKUMAR PRADNYA	4 NAVI-MUMBAI	51 E 5 3 15	54 70 124 C 7 6 42	25 E 5 2 10	25 E 5 3 15		
			68 B 8 3 24	145 140 285 A 9 16 144	59 D 6 3 18	GRAND TOTAL: 637	7.44	P
			SGPI :- SEM-I : 6.22 SEM-II : 6.06 SEM-III : 6.42 SEM-IV : 6.28 SEM-V : 7.00	SGPI :- SEM-VI : 6.00 SEM-VII : 5.89 SEM-VIII : 6.00 SEM-IX : 6.89 SEM-X : 7.44				
			CGPI: 6.44					

6877	/CHAUDHARI POOJA RAJU RATNA	4 NAVI-MUMBAI	80 O 10 3 30	72 60 132 B 8 6 48	36 A 9 2 18	35 A 9 3 27		
			70 A 9 3 27	160 130 290 A 9 16 144	75 O 10 3 30	GRAND TOTAL: 718	9.00	
			SGPI :- SEM-I : 7.67 SEM-II : 7.03 SEM-III : 7.67 SEM-IV : 7.56 SEM-V : 7.56	SGPI :- SEM-VI : 7.17 SEM-VII : 7.42 SEM-VIII : 8.00 SEM-IX : 8.94 SEM-X : 9.00				
			CGPI: 7.79					

6879	/CHAVAN AADITI ARUN APARNA	4 NAVI-MUMBAI	60 C 7 3 21	60 50 110 D 6 6 36	28 D 6 2 12	33 B 8 3 24		
			55 D 6 3 18	120 100 220 D 6 16 96	66 B 8 3 24	GRAND TOTAL: 572	6.42	
			SGPI :- SEM-I : 8.22 SEM-II : 8.17 SEM-III : 6.03 SEM-IV : 6.92 SEM-V : 7.08	SGPI :- SEM-VI : 6.72 SEM-VII : 7.42 SEM-VIII : 8.00 SEM-IX : 8.56 SEM-X : 6.42				
			CGPI: 7.32					



@:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED./:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.; GPA:GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%; GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE; GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99; GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050. Course Grades:-Grade-0(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.





SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V		PAPER-II/VI		PAPER-III/VII		PAPER-IV		SGPI-X	RSLT							
			IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RSLT
Sub.:1.	ENVIRNMTL STUDIES-5	(IN:100/50)(Cr.:3)	Sub.:2.	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)	Sub.:3.	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)	Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)	Sub.:5.	ADV.BLDG.CONSTR STRU	(IN:100/50)(Cr.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)		
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)																	

6930 /HARNE KALYANI SUNIL ANITA  
4 NAVI-MUMBAI  
50E E 5 3 15 50E 20F 70 27E E 5 2 10 30E C 7 3 21  
50E E 5 3 15 111E 80F 191 79E 0 10 3 30 GRAND TOTAL: 497  
SGPI :- SEM-I : 7.58 SEM-II: 7.81 SEM-III: 6.22 SEM-IV: 6.00 SEM-V : 5.14  
SGPI :- SEM-VI: 5.00 SEM-VII: 5.75 SEM-VIII: 6.00 SEM-IX: 6.06 SEM-X : 0.00  
CGPI: ---

6931 HINGU NEJUL KISHOR CHETNA  
4 NAVI-MUMBAI  
65 B 8 3 24 58 65 123 C 7 6 42 27 E 5 2 10 32 C 7 3 21  
53 E 5 3 15 138 125 263 B 8 16 128 60 C 7 3 21 GRAND TOTAL: 623  
SGPI :- SEM-I : 7.42 SEM-II: 7.22 SEM-III: 6.17 SEM-IV: 6.06 SEM-V : 6.92  
SGPI :- SEM-VI: 6.17 SEM-VII: 6.56 SEM-VIII: 7.00 SEM-IX: 7.61 SEM-X : 7.25  
CGPI: 7.25

6932 /TYER HANSIKA GOPALKRISHNAN VIJAYASH  
REE  
4 NAVI-MUMBAI  
50 E 5 3 15 59 60 119 D 6 6 36 26 E 5 2 10 30 C 7 3 21  
50 E 5 3 15 150 140 290 A 9 16 144 59 D 6 3 18 GRAND TOTAL: 624  
SGPI :- SEM-I : 8.25 SEM-II: 7.94 SEM-III: 7.92 SEM-IV: 6.83 SEM-V : 7.61  
SGPI :- SEM-VI: 7.33 SEM-VII: 7.11 SEM-VIII: 7.00 SEM-IX: 7.81 SEM-X : 7.19  
CGPI: 7.19

6935 /JADHAV MANASI UMESH VRUSHALI  
4 NAVI-MUMBAI  
65 B 8 3 24 79 65 144 A 9 6 54 30 C 7 2 14 36 A 9 3 27  
68 B 8 3 24 144 130 274 B 8 16 128 66 B 8 3 24 GRAND TOTAL: 683  
SGPI :- SEM-I : 7.81 SEM-II: 7.67 SEM-III: 7.75 SEM-IV: 8.56 SEM-V : 8.47  
SGPI :- SEM-VI: 7.69 SEM-VII: 7.36 SEM-VIII: 7.00 SEM-IX: 8.42 SEM-X : 8.19  
CGPI: 7.94

6938 /JADHAV PRIYANKA PRATAP PRATIBHA  
4 NAVI-MUMBAI  
62 C 7 3 21 50 65 115 D 6 6 36 30 C 7 2 14 31 C 7 3 21  
51 E 5 3 15 137 125 262 B 8 16 128 71 A 9 3 27 GRAND TOTAL: 622  
SGPI :- SEM-I : 6.58 SEM-II: 6.25 SEM-III: 5.58 SEM-IV: 6.17 SEM-V : 5.94  
SGPI :- SEM-VI: 5.61 SEM-VII: 5.19 SEM-VIII: 5.00 SEM-IX: 6.25 SEM-X : 7.28  
CGPI: 7.28

6940 /JADHAV SHRUSHITI PRABHAKAR SAVALI  
4 NAVI-MUMBAI  
65 B 8 3 24 64 60 124 C 7 6 42 36 A 9 2 18 36 A 9 3 27  
63 C 7 3 21 128 130 258 C 7 16 112 62 C 7 3 21 GRAND TOTAL: 644  
SGPI :- SEM-I : 7.69 SEM-II: 7.75 SEM-III: 5.25 SEM-IV: 6.03 SEM-V : 5.42  
SGPI :- SEM-VI: 6.36 SEM-VII: 6.19 SEM-VIII: 6.00 SEM-IX: 7.78 SEM-X : 7.36  
CGPI: 6.62

6943 /JAIN PRAGYA FATEHLAL REKHA  
4 NAVI-MUMBAI  
60 C 7 3 21 54 62 116 D 6 6 36 30 C 7 2 14 27 E 5 3 15  
52 E 5 3 15 126 140 266 B 8 16 128 60 C 7 3 21 GRAND TOTAL: 611  
SGPI :- SEM-I : 8.39 SEM-II: 9.03 SEM-III: 6.61 SEM-IV: 6.39 SEM-V : 6.94  
SGPI :- SEM-VI: 5.94 SEM-VII: 6.67 SEM-VIII: 7.00 SEM-IX: 8.08 SEM-X : 6.94  
CGPI: 7.21

6944 /JAIN RIMZIM  
4 NAVI-MUMBAI  
65 B 8 3 24 72 75 147 A 9 6 54 35 A 9 2 18 36 A 9 3 27  
67 B 8 3 24 158 130 288 A 9 16 144 56 B 8 3 24 GRAND TOTAL: 704  
SGPI :- SEM-I : 7.94 SEM-II: 8.25 SEM-III: 8.03 SEM-IV: 8.53 SEM-V : 8.53  
SGPI :- SEM-VI: 8.17 SEM-VII: 7.75 SEM-VIII: 8.00 SEM-IX: 8.50 SEM-X : 8.75  
CGPI: 8.26



PRINCIPAL  
BHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

TESTED TRUE COPY

@:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;F:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.

Course Grades:-Grade-0(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) CBSSGS EXAMINATION-MAY 2021  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture  
JUNE 30, 2021  
PAGE : 64

SEAT	NAME OF CANDIDATE	CENTRE	<---PAPER-I/V--->	<---PAPER-II/VI--->	<---PAPER-III/VII--->	<---PAPER-IV--->	SGPI-X	RSLT
			IN GR GP CR C*G	IN EX TOT GR GP CR C*G	IN GR GP CR C*G	IN GR GP CR C*G		
Sub.:1.	ENVIRNMTL STUDIES-5	(IN:100/50)(Cr.:3)						
Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)						
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)						
Sub.:2.	ARCH. REP. & DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)						
Sub.:5.	ADV. BLDG. CONST& STRU	(IN:100/50)(Cr.:3)						
Sub.:3.	ARCH. THEORIES-4	(IN:50/25)(Cr.:2)						
Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)						

6945 /JAIN SEJAL RAKESH INDRA  
4 NAVI-MUMBAI  
0F F --- -- 0F AA --- -- 30E C 7 2 14 25E E 5 3 15  
SGPI :- SEM-I : 5.69 SEM-II: 5.03 SEM-III: 5.06 SEM-IV: 5.00 SEM-V : 5.00 GRAND TOTAL: 211  
SGPI :- SEM-VI: 5.08 SEM-VII: 5.78 SEM-VIII: 6.00 SEM-IX: 5.75 SEM-X : 0.00  
CGPI: ---

6948 /JIMAN ANKITA LAXMAN SUREKHA  
4 NAVI-MUMBAI  
70 A 9 3 27 64 55 119 D 6 6 36 36 A 9 2 18 33 B 8 3 24  
63 C 7 3 21 160 105 265 B 8 16 128 65 B 8 3 24 GRAND TOTAL: 651  
SGPI :- SEM-I : 8.11 SEM-II: 8.86 SEM-III: 7.28 SEM-IV: 7.67 SEM-V : 6.64  
SGPI :- SEM-VI: 7.25 SEM-VII: 7.94 SEM-VIII: 8.00 SEM-IX: 7.97 SEM-X : 7.72  
CGPI: 7.72

6949 JOEL CYRIL MINI JOSEPHINE  
4 NAVI-MUMBAI  
58 D 6 3 18 50 60 110 D 6 6 36 30 C 7 2 14 31 C 7 3 21  
51 E 5 3 15 147 120 267 B 8 16 128 67 B 8 3 24 GRAND TOTAL: 614  
SGPI :- SEM-I : 5.64 SEM-II: 6.31 SEM-III: 5.86 SEM-IV: 5.78 SEM-V : 5.53  
SGPI :- SEM-VI: 5.86 SEM-VII: 6.75 SEM-VIII: 6.00 SEM-IX: 8.47 SEM-X : 7.11  
CGPI: 7.7300.02

6950 /JOSE LIYA SUSAN LISSY  
4 NAVI-MUMBAI  
61 C 7 3 21 71 58 129 C 7 6 42 36 A 9 2 18 34 B 8 3 24  
71 A 9 3 27 144 110 254 C 7 16 112 68 B 8 3 24 GRAND TOTAL: 653  
SGPI :- SEM-I : 5.67 SEM-II: 5.61 SEM-III: 5.17 SEM-IV: 5.97 SEM-V : 5.50  
SGPI :- SEM-VI: 5.00 SEM-VII: 6.11 SEM-VIII: 6.00 SEM-IX: 8.06 SEM-X : 7.44  
CGPI: 6.06

6952 JOSHI CHAITANYA ANANT SANJEEVANI  
4 NAVI-MUMBAI  
65 B 8 3 24 70 65 135 B 8 6 48 39 0 10 2 20 33 B 8 3 24  
53 E 5 3 15 130 125 255 C 7 16 112 68 B 8 3 24 GRAND TOTAL: 648  
SGPI :- SEM-I : 7.81 SEM-II: 7.89 SEM-III: 7.78 SEM-IV: 7.69 SEM-V : 6.97  
SGPI :- SEM-VI: 8.00 SEM-VII: 7.28 SEM-VIII: 7.00 SEM-IX: 9.08 SEM-X : 7.42  
CGPI: 7.7300.02

6957 /JOSHI SHARVARI CHANDRASHEKHAR SHEET  
AL  
65 B 8 3 24 65 58 123 C 7 6 42 30 C 7 2 14 29 D 6 3 18  
58 D 6 3 18 140 120 260 B 8 16 128 63 C 7 3 21 GRAND TOTAL: 628  
SGPI :- SEM-I : 6.44 SEM-II: 6.39 SEM-III: 5.92 SEM-IV: 5.42 SEM-V : 5.83  
SGPI :- SEM-VI: 5.69 SEM-VII: 6.33 SEM-VIII: 6.00 SEM-IX: 7.31 SEM-X : 7.36  
CGPI: 6.28

6958 JOSHI SIDDHANT  
4 NAVI-MUMBAI  
69 B 8 3 24 70 50 120 C 7 6 42 30 C 7 2 14 32 C 7 3 21  
69 B 8 3 24 135 100 235 D 6 16 96 63 C 7 3 21 GRAND TOTAL: 618  
SGPI :- SEM-I : 6.61 SEM-II: 7.25 SEM-III: 6.53 SEM-IV: 7.06 SEM-V : 7.44  
SGPI :- SEM-VI: 8.50 SEM-VII: 7.06 SEM-VIII: 7.00 SEM-IX: 8.39 SEM-X : 6.72  
CGPI: 7.27

6962 KADAM PRANAY PRASHANT BHARTI  
4 NAVI-MUMBAI  
65 B 8 3 24 54 70 124 C 7 6 42 25 E 5 2 10 25 E 5 3 15  
50 E 5 3 15 120 140 260 B 8 16 128 64 C 7 3 21 GRAND TOTAL: 613  
SGPI :- SEM-I : 7.53 SEM-II: 7.22 SEM-III: 5.89 SEM-IV: 7.00 SEM-V : 5.75  
SGPI :- SEM-VI: 6.92 SEM-VII: 6.72 SEM-VIII: 7.00 SEM-IX: 7.89 SEM-X : 7.08  
CGPI: 6.89



ATTESTED TRUE COPY  
PRINCIPAL  
DHARATI VIDYAPEETH  
COLLEGE OF ARCHITECTURE  
NAVI MUMBAI

0:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;



GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; 6: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: 0.5050.  
 Course Grades: -Grade-0(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

UNIVERSITY OF MUMBAI  
 OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBSSGS EXAMINATION-MAY 2021  
 COLLEGE: 376 Bharati Vidyapeeth's College of Architecture  
 JUNE 30, 2021  
 PAGE : 66

SEAT	NAME OF CANDIDATE	CENTRE	<-PAPER-I/V-->	<-PAPER-II/VI-->	<-PAPER-III/VII-->	<-PAPER-IV-->	SGPI-X	RSLT
			IN GR GP CR C*G	IN EX TOT GR GP CR C*G	IN GR GP CR C*G	IN GR GP CR C*G		
Sub.:1.	ENVIRMTL STUDIES-5	(IN:100/50)(Cr.:3)						
Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)						
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)						
Sub.:2.	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)						
Sub.:5.	ADV.BLDG.CONST& STRU	(IN:100/50)(Cr.:3)						
Sub.:3.	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)						
Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)						

7004 /KULKARNI PRANJALI PANDURANG HRUDUL  
 4 NAVI-MUMBAI  
 67 B 8 3 24  
 57 D 6 3 18  
 SGPI :- SEM-I : 8.36 SEM-II: 7.44 SEM-III: 6.89 SEM-IV: 6.31 SEM-V : 7.22  
 SGPI :- SEM-VI: 7.44 SEM-VII: 6.81 SEM-VIII: 7.00 SEM-IX: 8.19 SEM-X : 8.44  
 GRAND TOTAL: 687  
 CGPI: 7.43

7006 LAD ANUJ NANDKUMAR RACHANA  
 4 NAVI-MUMBAI  
 60 C 7 3 21  
 58 D 6 3 18  
 SGPI :- SEM-I : 7.22 SEM-II: 6.31 SEM-III: 5.08 SEM-IV: 6.08 SEM-V : 5.56  
 SGPI :- SEM-VI: 5.47 SEM-VII: 5.44 SEM-VIII: 5.00 SEM-IX: 6.31 SEM-X : 6.25  
 GRAND TOTAL: 577  
 CGPI: 6.25

7008 LANJILE SHRAMAN RAJESH SHAMALI  
 4 NAVI-MUMBAI  
 60 C 7 3 21  
 67 B 8 3 24  
 SGPI :- SEM-I : 7.47 SEM-II: 6.67 SEM-III: 5.97 SEM-IV: 6.28 SEM-V : 5.69  
 SGPI :- SEM-VI: 6.56 SEM-VII: 6.31 SEM-VIII: 7.00 SEM-IX: 7.17 SEM-X : 6.22  
 GRAND TOTAL: 585  
 CGPI: 6.22

7014 /MAHAJAN ADITI GOPAL SEEMA  
 4 NAVI-MUMBAI  
 60 C 7 3 21  
 54 E 5 3 15  
 SGPI :- SEM-I : 6.00 SEM-II: 6.67 SEM-III: 5.22 SEM-IV: 5.89 SEM-V : 5.47  
 SGPI :- SEM-VI: 6.11 SEM-VII: 6.06 SEM-VIII: 6.00 SEM-IX: 7.08 SEM-X : 6.69  
 GRAND TOTAL: 607  
 CGPI: 6.69

7015 MAHAJAN VED SUHAS SUHASINI  
 4 NAVI-MUMBAI  
 50 E 5 3 15  
 58 D 6 3 18  
 SGPI :- SEM-I : 6.92 SEM-II: 7.19 SEM-III: 5.92 SEM-IV: 6.36 SEM-V : 5.75  
 SGPI :- SEM-VI: 6.03 SEM-VII: 7.11 SEM-VIII: 7.00 SEM-IX: 7.17 SEM-X : 7.44  
 GRAND TOTAL: 631  
 CGPI: 7.44

7020 /MALI SONAL YOGENDRA PRADNYA  
 4 NAVI-MUMBAI  
 64 C 7 3 21  
 64 C 7 3 21  
 SGPI :- SEM-I : 6.58 SEM-II: 6.47 SEM-III: 5.81 SEM-IV: 5.83 SEM-V : 5.33  
 SGPI :- SEM-VI: 5.33 SEM-VII: 6.42 SEM-VIII: 6.00 SEM-IX: 8.19 SEM-X : 7.08  
 GRAND TOTAL: 635  
 CGPI: 7.08

7025 MANDREKAR SANJAN RANJAN SANGEETA  
 4 NAVI-MUMBAI  
 50 E 5 3 15  
 50 E 5 3 15  
 SGPI :- SEM-I : 5.67 SEM-II: 6.14 SEM-III: 5.31 SEM-IV: 5.33 SEM-V : 5.00  
 SGPI :- SEM-VI: 5.22 SEM-VII: 5.08 SEM-VIII: 5.00 SEM-IX: 6.86 SEM-X : 5.17  
 GRAND TOTAL: 528  
 CGPI: 5.17

7029 MEHROTRA SARANSH SANJAY SHALINI  
 4 NAVI-MUMBAI  
 62E C 7 3 21  
 50E E 5 3 15  
 SGPI :- SEM-I : 7.61 SEM-II: 7.22 SEM-III: 6.31 SEM-IV: 6.00 SEM-V : 5.44  
 SGPI :- SEM-VI: 6.08 SEM-VII: 5.06 SEM-VIII: 5.00 SEM-IX: 7.11 SEM-X : 0.00  
 GRAND TOTAL: 458  
 CGPI: 5.51



PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

ATTESTED TRUE COPY

@:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID.;  
 GPA: GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
 GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;



GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: O.5050.  
 Course Grades: -Grade-O(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

UNIVERSITY OF MUMBAI  
 OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBSEGS EXAMINATION-MAY 2021  
 COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 30, 2021  
 PAGE : 69

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN GR	GP	CR	C*G	IN GR	GP	CR	C*G	SGPI-X	RSLT	
Sub.:1.	ENVIROMT STUDIES-5	(IN:100/50)(Cr.:3)	Sub.:2.	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)	Sub.:3.	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)	Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)	Sub.:5.	ADV.BLDG.CONSTR& STRU	(IN:100/50)(Cr.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)							
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)																						

7097 PATIL SIDDHANT MILIND ANITA  
 4 NAVI-MUMBAI  
 70 A 9 3 27 75 78 153 0 10 6 60 37 A 9 2 18 35 A 9 3 27 9.17  
 75 O 10 3 30 150 136 286 A 9 16 144 65 B 8 3 24 GRAND TOTAL: 721  
 SGPI :- SEM-I : 7.47 SEM-II : 8.42 SEM-III : 7.00 SEM-IV : 8.08 SEM-V : 7.33  
 SGPI :- SEM-VI : 8.03 SEM-VII : 7.69 SEM-VIII : 8.00 SEM-IX : 8.89 SEM-X : 9.17  
 CGPI: 8.01

7099 PATIL TEJAS RAJU SARALA  
 4 NAVI-MUMBAI  
 52 E 5 3 15 50 52 102 E 5 6 30 27 E 5 2 10 25 E 5 3 15 5.89  
 50 E 5 3 15 131 110 241 C 7 16 112 53 E 5 3 15 GRAND TOTAL: 550  
 SGPI :- SEM-I : 5.03 SEM-II : 5.06 SEM-III : 5.33 SEM-IV : 5.03 SEM-V : 5.00  
 SGPI :- SEM-VI : 5.47 SEM-VII : 5.39 SEM-VIII : 5.00 SEM-IX : 7.17 SEM-X : 5.89  
 CGPI: 5.46

7105 /PAKAR HARSHALI HARISHCHANDRA HARSHA  
 DA  
 4 NAVI-MUMBAI  
 60 C 7 3 21 130 120 250 C 7 16 112 60 C 7 3 21 27 E 5 3 15 6.42  
 SGPI :- SEM-I : 7.42 SEM-II : 6.64 SEM-III : 5.14 SEM-IV : 6.44 SEM-V : 6.06  
 SGPI :- SEM-VI : 5.53 SEM-VII : 6.39 SEM-VIII : 7.00 SEM-IX : 7.56 SEM-X : 6.42  
 CGPI: 6.43

7111 /PRASHANTH VAISHNAVI  
 4 NAVI-MUMBAI  
 50 E 5 3 15 50 65 115 D 6 6 36 31 C 7 2 14 25 E 5 3 15 5.81  
 50 E 5 3 15 104 132 236 D 6 16 96 59 D 6 3 18 GRAND TOTAL: 566  
 SGPI :- SEM-I : 5.64 SEM-II : 5.44 SEM-III : 5.69 SEM-IV : 5.72 SEM-V : 6.17  
 SGPI :- SEM-VI : 5.78 SEM-VII : 5.28 SEM-VIII : 5.00 SEM-IX : 6.81 SEM-X : 5.81  
 CGPI: 5.78

7112 RAJESHIRKE CHINMAY MAHESH MAYURI  
 4 NAVI-MUMBAI  
 65 B 8 3 24 62 70 132 B 8 6 48 34 B 8 2 16 29 D 6 3 18 7.83  
 68 B 8 3 24 130 140 270 B 8 16 128 68 B 8 3 24 GRAND TOTAL: 666  
 SGPI :- SEM-I : 6.36 SEM-II : 6.36 SEM-III : 5.81 SEM-IV : 5.89 SEM-V : 5.31  
 SGPI :- SEM-VI : 5.89 SEM-VII : 5.78 SEM-VIII : 6.00 SEM-IX : 7.89 SEM-X : 7.83  
 CGPI: 6.33

7118 RANE SAHIL SUNIL TANVI  
 4 NAVI-MUMBAI  
 60 C 7 3 21 65 58 123 C 7 6 42 44 O 10 2 20 36 A 9 3 27 8.03  
 65 B 8 3 24 148 128 276 B 8 16 128 71 A 9 3 27 GRAND TOTAL: 675  
 SGPI :- SEM-I : 8.25 SEM-II : 8.89 SEM-III : 8.00 SEM-IV : 7.92 SEM-V : 7.72  
 SGPI :- SEM-VI : 7.61 SEM-VII : 6.83 SEM-VIII : 7.00 SEM-IX : 7.94 SEM-X : 8.03  
 CGPI: 7.87

7133 SANDBHOR PRASAD DATTARAM VANDANA  
 4 NAVI-MUMBAI  
 63 C 7 3 21 73 60 133 B 8 6 48 30 C 7 2 14 30 C 7 3 21 8.14  
 67 B 8 3 24 151 130 281 A 9 16 144 61 C 7 3 21 GRAND TOTAL: 665  
 SGPI :- SEM-I : 8.58 SEM-II : 8.75 SEM-III : 7.97 SEM-IV : 7.83 SEM-V : 7.67  
 SGPI :- SEM-VI : 7.56 SEM-VII : 8.42 SEM-VIII : 9.00 SEM-IX : 9.00 SEM-X : 8.14  
 CGPI: 8.25

7134 /SATHE VAISHNAVI VASANT SMITA  
 4 NAVI-MUMBAI  
 67 B 8 3 24 70 72 142 A 9 6 54 33 B 8 2 16 32 C 7 3 21 8.69  
 74 A 9 3 27 147 150 297 A 9 16 144 73 A 9 3 27 GRAND TOTAL: 718  
 SGPI :- SEM-I : 8.17 SEM-II : 7.94 SEM-III : 7.50 SEM-IV : 7.58 SEM-V : 7.58  
 SGPI :- SEM-VI : 8.56 SEM-VII : 7.86 SEM-VIII : 8.00 SEM-IX : 8.22 SEM-X : 8.69  
 CGPI: 8.01

ATTESTED TRUE COPY  
 PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

@:O.5042A; @:O.5043A; \*:O.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.;  
 GPA: GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
 GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;



GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; 6: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: 0.5050.  
 Course Grades: -Grade-0(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

UNIVERSITY OF MUMBAI  
 OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBSGS EXAMINATION-MAY 2021  
 COLLEGE: 376 Bharati Vidyapeeth's College of Architecture  
 JUNE 30, 2021  
 PAGE : 71

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN GR	GP	CR	C*G	IN GR	GP	CR	C*G	SGPI-X	RSLT	
Sub.:1.	ENVIRNMTL STUDIES-5	(IN:100/50)(Cr.:3)	Sub.:2.	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)	Sub.:3.	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)	Sub.:4.	PROF. PRACT-3	(IN:50/25)(Cr.:3)	Sub.:5.	ADV.BLDG.CONSTR& STRU	(IN:100/50)(Cr.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)							
Sub.:7.	ELECTIVE - 10	(IN:100/50)(Cr.:3)																						

7163	/SHINDE SANIKA SUNIL DIPALI	4 NAVI-MUMBAI	61	C	7	3	21	78	70	148	A	9	6	54	35	A	9	2	18	36	A	9	3	27	P
			65	B	8	3	24	140	155	295	A	9	16	144	60	C	7	3	21	7.94					
			SGPI :-	SEM-I :	7.19	SEM-II :	8.47	SEM-III :	8.42	SEM-IV :	8.97	SEM-V :	7.94												
			SGPI :-	SEM-VI :	7.67	SEM-VII :	7.58	SEM-VIII :	8.00	SEM-IX :	9.19	SEM-X :	8.58												
			CGPI :																						

7164	/SHINDE SAUMYA MAHESH SANGEETA	4 NAVI-MUMBAI	69	B	8	3	24	68	75	143	A	9	6	54	31	C	7	2	14	33	B	8	3	24	P
			57	D	6	3	18	142	155	297	A	9	16	144	60	C	7	3	21	7.22					
			SGPI :-	SEM-I :	7.36	SEM-II :	6.92	SEM-III :	7.33	SEM-IV :	7.33	SEM-V :	7.22												
			SGPI :-	SEM-VI :	7.86	SEM-VII :	7.86	SEM-VIII :	8.00	SEM-IX :	7.89	SEM-X :	8.31												
			CGPI :																						

7166	/SHIRKE JANHAVI JANARDAN KALPANA	4 NAVI-MUMBAI	75	O	10	3	30	68	65	133	B	8	6	48	43	O	10	2	20	32	C	7	3	21	P
			60	C	7	3	21	146	140	286	A	9	16	144	64	C	7	3	21	6.03					
			SGPI :-	SEM-I :	7.08	SEM-II :	7.33	SEM-III :	6.50	SEM-IV :	6.44	SEM-V :	6.03												
			SGPI :-	SEM-VI :	6.97	SEM-VII :	7.50	SEM-VIII :	7.00	SEM-IX :	8.58	SEM-X :	8.47												
			CGPI :																						

7168	/SHOME SANJANA NABAKUMAR NANDITA	4 NAVI-MUMBAI	70	A	9	3	27	68	60	128	C	7	6	42	40	O	10	2	20	35	A	9	3	27	P
			53	E	5	3	15	150	150	300	O	10	16	160	70	A	9	3	27	5.75					
			SGPI :-	SEM-I :	6.47	SEM-II :	6.78	SEM-III :	6.25	SEM-IV :	5.97	SEM-V :	5.75												
			SGPI :-	SEM-VI :	6.86	SEM-VII :	5.25	SEM-VIII :	5.00	SEM-IX :	8.11	SEM-X :	8.83												
			CGPI :																						

7172	/SINGH DIVISHA	4 NAVI-MUMBAI	64	C	7	3	21	67	60	127	C	7	6	42	30	C	7	2	14	35	A	9	3	27	P
			64	C	7	3	21	146	150	296	A	9	16	144	65	B	8	3	24	7.19					
			SGPI :-	SEM-I :	7.42	SEM-II :	7.83	SEM-III :	7.53	SEM-IV :	7.11	SEM-V :	7.19												
			SGPI :-	SEM-VI :	7.33	SEM-VII :	7.17	SEM-VIII :	7.00	SEM-IX :	8.58	SEM-X :	8.14												
			CGPI :																						

7176	/SUPPAYA SAYALI GOVIND SWARNALI	4 NAVI-MUMBAI	50	E	5	3	15	62	65	127	C	7	6	42	36	A	9	2	18	31	C	7	3	21	P
			50	E	5	3	15	152	130	282	A	9	16	144	68	B	8	3	24	7.75					
			SGPI :-	SEM-I :	5.78	SEM-II :	5.69	SEM-III :	5.31	SEM-IV :	5.94	SEM-V :	6.31												
			SGPI :-	SEM-VI :	6.56	SEM-VII :	5.28	SEM-VIII :	5.00	SEM-IX :	7.11	SEM-X :	7.75												
			CGPI :																						

7178	/SURBHI RAJYARDHAN ILA SINHA	4 NAVI-MUMBAI	65	B	8	3	24	59	60	119	D	6	6	36	30	C	7	2	14	32	C	7	3	21	P
			58	D	6	3	18	139	120	259	C	7	16	112	65	B	8	3	24	7.06					
			SGPI :-	SEM-I :	8.25	SEM-II :	8.81	SEM-III :	7.36	SEM-IV :	7.78	SEM-V :	7.06												
			SGPI :-	SEM-VI :	7.44	SEM-VII :	7.58	SEM-VIII :	8.00	SEM-IX :	7.81	SEM-X :	6.92												
			CGPI :																						

7179	/SURTI PRIYANKA MAHENDRA SMITA	4 NAVI-MUMBAI	55	D	6	3	18	57	70	127	C	7	6	42	25	E	5	2	10	36	A	9	3	27	P
			57	D	6	3	18	122	140	262	B	8	16	128	58	D	6	3	18	7.25					
			SGPI :-	SEM-I :	5.03	SEM-II :	6.08	SEM-III :	5.64	SEM-IV :	5.94	SEM-V :	5.92												
			SGPI :-	SEM-VI :	6.17	SEM-VII :	5.39	SEM-VIII :	5.00	SEM-IX :	6.69	SEM-X :	7.25												
			CGPI :																						



APTESTED TRUE COPY  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

@:0.5042A; @:0.5043A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.;  
 GPA:GRADE POINT AVERAGE=SUM OF CXG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
 GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;

GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99; GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; RCC: 0.5050. Course Grades: -Grade-0(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBSEGS EXAMINATION-MAY 2021  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 30, 2021  
PAGE : 72

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	SGPI-X	RSLT
Sub.:1	ENVIRNMTL STUDIES-5	(IN:100/50)(Cr.:3)	Sub.:2	ARCH.REP.& DETAILG-8	(IN:100/50,EX:100/50)(Cr.:6)	Sub.:3	ARCH.THEORIES-4	(IN:50/25)(Cr.:2)	Sub.:4	PROF. PRACT-3	(IN:50/25)(Cr.:3)	Sub.:5	ADV.BLDG.CONSTR& STRU	(IN:100/50)(Cr.:3)	Sub.:6	DESIGN DISS.-2	(IN:200/100,EX:200/100)(Cr.:16)													
Sub.:7	ELECTIVE - 10	(IN:100/50)(Cr.:3)																												

7181	/SURVE SURABHI SHASHIKANT SUJATA	4 NAVI-MUMBAI	61	C	7	3	21	77	68	145	A	9	6	54	30	C	7	2	14	32	C	7	3	21	60	C	7	3	21	142	138	280	A	9	16	144	70	A	9	3	27	7.06	8.39	P
------	----------------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7188	TAYADE ROHAN KISHOR VANDANA	4 NAVI-MUMBAI	65	B	8	3	24	62	70	132	B	8	6	48	37	A	9	2	18	32	C	7	3	21	54	E	5	3	15	130	140	270	B	8	16	128	64	C	7	3	21	5.86	7.64	P
------	-----------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7195	/TIMARI JANHVI SANTOSH VIBHA	4 NAVI-MUMBAI	65	B	8	3	24	68	78	146	A	9	6	54	35	A	9	2	18	32	C	7	3	21	52	E	5	3	15	154	155	309	O	10	16	160	68	B	8	3	24	7.42	8.78	P
------	------------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	----	----	-----	----	---	---	---	----	------	------	---

7197	/UPADHYAY RICHI TUSHAR NUTAN	4 NAVI-MUMBAI	50	E	5	3	15	50	62	112	D	6	6	36	27	E	5	2	10	30	C	7	3	21	50	E	5	3	15	133	124	257	C	7	16	112	64	C	7	3	21	5.00	6.39	P
------	------------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7198	/VADHAVKAR SMITAL SANDEEV SWAPNILA	4 NAVI-MUMBAI	80	O	10	3	30	65	68	133	B	8	6	48	38	O	10	2	20	33	B	8	3	24	68	B	8	3	24	151	140	291	A	9	16	144	63	C	7	3	21	8.39	8.64	P
------	------------------------------------	---------------	----	---	----	---	----	----	----	-----	---	---	---	----	----	---	----	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7199	/VASADWALA TASNEM HATIM BATUL	4 NAVI-MUMBAI	60	C	7	3	21	65	55	120	C	7	6	42	28	D	6	2	12	32	C	7	3	21	58	D	6	3	18	145	120	265	B	8	16	128	66	B	8	3	24	6.94	7.39	P
------	-------------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7202	VERMA ASHWINI KUMAR URMILA VERMA	4 NAVI-MUMBAI	57	D	6	3	18	60	65	125	C	7	6	42	30	C	7	2	14	29	D	6	3	18	51	E	5	3	15	146	150	296	A	9	16	144	59	D	6	3	18	6.00	7.47	P
------	----------------------------------	---------------	----	---	---	---	----	----	----	-----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	----	---	---	---	----	-----	-----	-----	---	---	----	-----	----	---	---	---	----	------	------	---

7204	WANI HARISH DINESH VAISHALI	4 NAVI-MUMBAI	50E	E	5	3	15	50E	AA					30E	C	7	2	14	25E	E	5	3	15	60E	C	7	3	21	104E	AA					50E	E	5	3	15	6.19	7.47	P
------	-----------------------------	---------------	-----	---	---	---	----	-----	----	--	--	--	--	-----	---	---	---	----	-----	---	---	---	----	-----	---	---	---	----	------	----	--	--	--	--	-----	---	---	---	----	------	------	---

ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture



@:0.5042A; @:0.5043A; \*:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia; AA/ABS: ABSENT; NU:NUKLEATED; GPA:GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%; GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;





No.Exam/Engg/ 772 of 2022,

Mumbai - 400 098.

11<sup>th</sup> October, 2022.

The Principal,  
Bharati Vidyapeeth College of Architecture,  
Belpada Complex,  
Sector - 7,  
C.B.D. Belapur,  
NAVI MUMBAI - 400 614.

Sub.: Result of Candidate Seat Nos. 8056 & 8174 at Final Year B.Arch.(Sem.X) (CBSGS) examination held in April, 2022.

Sir/Madam,

With reference to the your No.BV/COA/NM/136/2022-23, dated 21<sup>st</sup> July, 2022 requesting accept the revised marks in the external by the Jury in the subject of Architectural Representation and Detailing (ARD) in respect of the Kum Gaikar Mansi and Kum Naik Gauri at the Final Year B.Arch.(Sem.X) (CBSGS) examination held in April, 2022.

In this connection, I am to inform you that as per the directions of the I/c Director, Board of Examinations & Evaluation, a fine was imposed and on receipt of payment of fine of Rs.1000/- vide receipt No.4951, dated 4<sup>th</sup> October, 2022 the necessary corrections have now been made in the external marks and the relevant record of the University has also be corrected and the amended marks of the B.Arch(Sem.X) in the subject of Architectural Representation Detailing (ARD) in as follows :-

Seat No.	Name of the candidate	Subject	Old Marks	New Marks	Remarks
8056	Gaikar Mansi Kishor	ARD	00	70	Successful
8174	Naik Gauri Vishnu	ARD	00	60	Successful

You are requested to please submit the original statement of mark issued to you earlier of Final Year B.Arch.(Sem.X) (CBSGS) examination held in April, 2022 (Seat No.8056 & 8174) to counter No.2, Ground Floor, M. J. Phule Bhavan, University of Mumbai, Vidyanagari, Santacruz (E), Mumbai - 400 098 for cancellation and issuing a fresh one.

Yours faithfully,

Sd

Narendra Gangaram Khalane  
Offg. Deputy Registrar  
(Results Unit)

No.Exam/Engg/ 773 of 2022, Mumbai - 98, 11<sup>th</sup> October, 2022.

1. Copy forwarded with compliments to the Principal, Bharati Vidyapeeth's College of Architecture, Belpada Complex, Sector - 7, C.B.D. Belapur, Navi Mumbai - 400 614, for information.
2. Copy to the Director, Central Computing Facility, for information and necessary action.
3. Copy to the Assistant Registrar, Marks and Certificates Unit, for information and necessary action.
4. Copy to the Assistant Registrar, Convocation Unit, for information and necessary action.

BHARATI VIDYAPEETH COLLEGE OF ARCHITECTURE NAVI MUMBAI	
Inward No.	65
Date	11/10/2022

Narendra Gangaram Khalane  
Offg. Deputy Registrar  
(Results Unit)  
**ATTESTED TRUE COPY**

Principal  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. Kharghar  
City Station, C.B.D. Navi Mumbai







UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) CBSEGS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE: 63

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RESULT					
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	
Sub-1: ENVIARNTL STUDIES-5 (IN:100/50) (Cr.:3)	Sub-2: ARCH.REP.& DETAILG-8 (IN:100/50,EX:100/50) (Cr.:6)	Sub-3: ARCH.THEORIES-4 (IN:50/25) (Cr.:2)																			
Sub-4: PROF. PRACT-3 (IN:50/25) (Cr.:3)	Sub-5: ADV.BLDG.CONSTR& STRU (IN:100/50) (Cr.:13)	Sub-6: DESIGN DISS.-2 (IN:200/100,EX:200/100) (Cr.:16)																			
Sub-7: ELECTIVE - 10 (IN:100/50) (Cr.:31)																					

8014 CHAUDHARY CHANDRAKANT UMARANT NEELAM  
4 NAVI-MUMBAI  
60 C 7 3 21 53 55 108 E 5 6 30 29 D 6 2 12 25 E 5 3 15 6.28  
SGPI :- SEM-I : 5.50 SEM-II : 6.86 SEM-III : 5.39 SEM-IV : 6.03 SEM-V : 6.19  
SGPI :- SEM-VI : 5.83 SEM-VII : 6.86 SEM-VIII : 10.00 SEM-IX : 7.31 SEM-X : 6.28  
CGPI : 6.43

8025 CHITLUNKAR SUDHANSHU SUDHAKAR SUSMI  
4 NAVI-MUMBAI  
79E 0 10 3 30 150E NA 56E D 6 3 18 30E C 7 3 21  
SGPI :- SEM-I : 8.67 SEM-II : 8.19 SEM-III : 7.31 SEM-IV : 6.67 SEM-V : 8.0E  
SGPI :- SEM-VI : 8.89 SEM-VII : 9.43 SEM-VIII : 10.00 SEM-IX : 8.72 SEM-X : 0.00  
CGPI : 6.83

8027 CHOPRA AKANKSHA NEERA CHOPRA  
4 NAVI-MUMBAI  
69 B 8 3 24 55 55 110 D 6 6 36 31 C 7 2 14 34 B 8 3 24 6.83  
SGPI :- SEM-I : 7.50 SEM-II : 6.47 SEM-III : 5.17 SEM-IV : 6.83 SEM-V : 6.81  
SGPI :- SEM-VI : 6.55 SEM-VII : 7.28 SEM-VIII : 9.00 SEM-IX : 8.08 SEM-X : 6.83  
CGPI : 6.94

8029 DABHI BHAVINA RAMESH SOVAN  
4 NAVI-MUMBAI  
60 C 7 3 21 55 63 118 D 6 6 36 37 A 9 2 18 27 E 5 3 15 8.03  
SGPI :- SEM-I : 8.42 SEM-II : 8.58 SEM-III : 7.03 SEM-IV : 7.75 SEM-V : 8.17  
SGPI :- SEM-VI : 7.94 SEM-VII : 7.97 SEM-VIII : 10.00 SEM-IX : 8.50 SEM-X : 8.03  
CGPI : 8.14

8035 DASWANI JITESH MANOJ NIKI  
4 NAVI-MUMBAI  
60 C 7 3 21 52 62 114 D 6 6 36 32 C 7 2 14 26 E 5 3 15 6.75  
SGPI :- SEM-I : 7.67 SEM-II : 7.86 SEM-III : 6.28 SEM-IV : 7.67 SEM-V : 6.64  
SGPI :- SEM-VI : 6.53 SEM-VII : 6.92 SEM-VIII : 10.00 SEM-IX : 7.44 SEM-X : 6.75  
CGPI : 7.22

8036 DAVE VAIBHAVI MADHUSUDAN PAPUL  
4 NAVI-MUMBAI  
71 A 9 3 27 68 81 149 A 9 6 54 30 C 7 2 14 31 C 7 3 21 8.47  
SGPI :- SEM-I : 8.14 SEM-II : 8.42 SEM-III : 8.25 SEM-IV : 8.44 SEM-V : 8.44  
SGPI :- SEM-VI : 8.67 SEM-VII : 8.06 SEM-VIII : 9.00 SEM-IX : 7.36 SEM-X : 8.47  
CGPI : 8.29

8037 DEKRUJIA ANUSHA RAO GOPAL RAO RENUK A RAO  
4 NAVI-MUMBAI  
61 C 7 3 21 72 57 129 C 7 6 42 36 A 9 2 18 31 C 7 3 21 6.94  
SGPI :- SEM-I : 8.06 SEM-II : 6.92 SEM-III : 7.39 SEM-IV : 6.61 SEM-V : 6.72  
SGPI :- SEM-VI : 7.81 SEM-VII : 7.22 SEM-VIII : 10.00 SEM-IX : 7.22 SEM-X : 6.94  
CGPI : 7.34

8039 DEVKATE VIJAY ANIL UJWALA  
4 NAVI-MUMBAI  
50 E 5 3 15 120 125 245 C 7 16 112 61 C 7 3 21 30 C 7 3 21 5.17  
SGPI :- SEM-I : 6.09 SEM-II : 5.97 SEM-III : 5.00 SEM-IV : 5.64 SEM-V : 5.03  
SGPI :- SEM-VI : 5.08 SEM-VII : 6.22 SEM-VIII : 8.00 SEM-IX : 5.92 SEM-X : 5.17  
CGPI : 5.68

810.5042A, 810.5043A, 810.5045A, 810.229, 810.230, 810.231, 810.232, 810.233, 810.234, 810.235, 810.236, 810.237, 810.238, 810.239, 810.240, 810.241, 810.242, 810.243, 810.244, 810.245, 810.246, 810.247, 810.248, 810.249, 810.250, 810.251, 810.252, 810.253, 810.254, 810.255, 810.256, 810.257, 810.258, 810.259, 810.260, 810.261, 810.262, 810.263, 810.264, 810.265, 810.266, 810.267, 810.268, 810.269, 810.270, 810.271, 810.272, 810.273, 810.274, 810.275, 810.276, 810.277, 810.278, 810.279, 810.280, 810.281, 810.282, 810.283, 810.284, 810.285, 810.286, 810.287, 810.288, 810.289, 810.290, 810.291, 810.292, 810.293, 810.294, 810.295, 810.296, 810.297, 810.298, 810.299, 810.300, 810.301, 810.302, 810.303, 810.304, 810.305, 810.306, 810.307, 810.308, 810.309, 810.310, 810.311, 810.312, 810.313, 810.314, 810.315, 810.316, 810.317, 810.318, 810.319, 810.320, 810.321, 810.322, 810.323, 810.324, 810.325, 810.326, 810.327, 810.328, 810.329, 810.330, 810.331, 810.332, 810.333, 810.334, 810.335, 810.336, 810.337, 810.338, 810.339, 810.340, 810.341, 810.342, 810.343, 810.344, 810.345, 810.346, 810.347, 810.348, 810.349, 810.350, 810.351, 810.352, 810.353, 810.354, 810.355, 810.356, 810.357, 810.358, 810.359, 810.360, 810.361, 810.362, 810.363, 810.364, 810.365, 810.366, 810.367, 810.368, 810.369, 810.370, 810.371, 810.372, 810.373, 810.374, 810.375, 810.376, 810.377, 810.378, 810.379, 810.380, 810.381, 810.382, 810.383, 810.384, 810.385, 810.386, 810.387, 810.388, 810.389, 810.390, 810.391, 810.392, 810.393, 810.394, 810.395, 810.396, 810.397, 810.398, 810.399, 810.400, 810.401, 810.402, 810.403, 810.404, 810.405, 810.406, 810.407, 810.408, 810.409, 810.410, 810.411, 810.412, 810.413, 810.414, 810.415, 810.416, 810.417, 810.418, 810.419, 810.420, 810.421, 810.422, 810.423, 810.424, 810.425, 810.426, 810.427, 810.428, 810.429, 810.430, 810.431, 810.432, 810.433, 810.434, 810.435, 810.436, 810.437, 810.438, 810.439, 810.440, 810.441, 810.442, 810.443, 810.444, 810.445, 810.446, 810.447, 810.448, 810.449, 810.450, 810.451, 810.452, 810.453, 810.454, 810.455, 810.456, 810.457, 810.458, 810.459, 810.460, 810.461, 810.462, 810.463, 810.464, 810.465, 810.466, 810.467, 810.468, 810.469, 810.470, 810.471, 810.472, 810.473, 810.474, 810.475, 810.476, 810.477, 810.478, 810.479, 810.480, 810.481, 810.482, 810.483, 810.484, 810.485, 810.486, 810.487, 810.488, 810.489, 810.490, 810.491, 810.492, 810.493, 810.494, 810.495, 810.496, 810.497, 810.498, 810.499, 810.500, 810.501, 810.502, 810.503, 810.504, 810.505, 810.506, 810.507, 810.508, 810.509, 810.510, 810.511, 810.512, 810.513, 810.514, 810.515, 810.516, 810.517, 810.518, 810.519, 810.520, 810.521, 810.522, 810.523, 810.524, 810.525, 810.526, 810.527, 810.528, 810.529, 810.530, 810.531, 810.532, 810.533, 810.534, 810.535, 810.536, 810.537, 810.538, 810.539, 810.540, 810.541, 810.542, 810.543, 810.544, 810.545, 810.546, 810.547, 810.548, 810.549, 810.550, 810.551, 810.552, 810.553, 810.554, 810.555, 810.556, 810.557, 810.558, 810.559, 810.560, 810.561, 810.562, 810.563, 810.564, 810.565, 810.566, 810.567, 810.568, 810.569, 810.570, 810.571, 810.572, 810.573, 810.574, 810.575, 810.576, 810.577, 810.578, 810.579, 810.580, 810.581, 810.582, 810.583, 810.584, 810.585, 810.586, 810.587, 810.588, 810.589, 810.590, 810.591, 810.592, 810.593, 810.594, 810.595, 810.596, 810.597, 810.598, 810.599, 810.600, 810.601, 810.602, 810.603, 810.604, 810.605, 810.606, 810.607, 810.608, 810.609, 810.610, 810.611, 810.612, 810.613, 810.614, 810.615, 810.616, 810.617, 810.618, 810.619, 810.620, 810.621, 810.622, 810.623, 810.624, 810.625, 810.626, 810.627, 810.628, 810.629, 810.630, 810.631, 810.632, 810.633, 810.634, 810.635, 810.636, 810.637, 810.638, 810.639, 810.640, 810.641, 810.642, 810.643, 810.644, 810.645, 810.646, 810.647, 810.648, 810.649, 810.650, 810.651, 810.652, 810.653, 810.654, 810.655, 810.656, 810.657, 810.658, 810.659, 810.660, 810.661, 810.662, 810.663, 810.664, 810.665, 810.666, 810.667, 810.668, 810.669, 810.670, 810.671, 810.672, 810.673, 810.674, 810.675, 810.676, 810.677, 810.678, 810.679, 810.680, 810.681, 810.682, 810.683, 810.684, 810.685, 810.686, 810.687, 810.688, 810.689, 810.690, 810.691, 810.692, 810.693, 810.694, 810.695, 810.696, 810.697, 810.698, 810.699, 810.700, 810.701, 810.702, 810.703, 810.704, 810.705, 810.706, 810.707, 810.708, 810.709, 810.710, 810.711, 810.712, 810.713, 810.714, 810.715, 810.716, 810.717, 810.718, 810.719, 810.720, 810.721, 810.722, 810.723, 810.724, 810.725, 810.726, 810.727, 810.728, 810.729, 810.730, 810.731, 810.732, 810.733, 810.734, 810.735, 810.736, 810.737, 810.738, 810.739, 810.740, 810.741, 810.742, 810.743, 810.744, 810.745, 810.746, 810.747, 810.748, 810.749, 810.750, 810.751, 810.752, 810.753, 810.754, 810.755, 810.756, 810.757, 810.758, 810.759, 810.760, 810.761, 810.762, 810.763, 810.764, 810.765, 810.766, 810.767, 810.768, 810.769, 810.770, 810.771, 810.772, 810.773, 810.774, 810.775, 810.776, 810.777, 810.778, 810.779, 810.780, 810.781, 810.782, 810.783, 810.784, 810.785, 810.786, 810.787, 810.788, 810.789, 810.790, 810.791, 810.792, 810.793, 810.794, 810.795, 810.796, 810.797, 810.798, 810.799, 810.800, 810.801, 810.802, 810.803, 810.804, 810.805, 810.806, 810.807, 810.808, 810.809, 810.810, 810.811, 810.812, 810.813, 810.814, 810.815, 810.816, 810.817, 810.818, 810.819, 810.820, 810.821, 810.822, 810.823, 810.824, 810.825, 810.826, 810.827, 810.828, 810.829, 810.830, 810.831, 810.832, 810.833, 810.834, 810.835, 810.836, 810.837, 810.838, 810.839, 810.840, 810.841, 810.842, 810.843, 810.844, 810.845, 810.846, 810.847, 810.848, 810.849, 810.850, 810.851, 810.852, 810.853, 810.854, 810.855, 810.856, 810.857, 810.858, 810.859, 810.860, 810.861, 810.862, 810.863, 810.864, 810.865, 810.866, 810.867, 810.868, 810.869, 810.870, 810.871, 810.872, 810.873, 810.874, 810.875, 810.876, 810.877, 810.878, 810.879, 810.880, 810.881, 810.882, 810.883, 810.884, 810.885, 810.886, 810.887, 810.888, 810.889, 810.890, 810.891, 810.892, 810.893, 810.894, 810.895, 810.896, 810.897, 810.898, 810.899, 810.900, 810.901, 810.902, 810.903, 810.904, 810.905, 810.906, 810.907, 810.908, 810.909, 810.910, 810.911, 810.912, 810.913, 810.914, 810.915, 810.916, 810.917, 810.918, 810.919, 810.920, 810.921, 810.922, 810.923, 810.924, 810.925, 810.926, 810.927, 810.928, 810.929, 810.930, 810.931, 810.932, 810.933, 810.934, 810.935, 810.936, 810.937, 810.938, 810.939, 810.940, 810.941, 810.942, 810.943, 810.944, 810.945, 810.946, 810.947, 810.948, 810.949, 810.950, 810.951, 810.952, 810.953, 810.954, 810.955, 810.956, 810.957, 810.958, 810.959, 810.960, 810.961, 810.962, 810.963, 810.964, 810.965, 810.966, 810.967, 810.968, 810.969, 810.970, 810.971, 810.972, 810.973, 810.974, 810.975, 810.976, 810.977, 810.978, 810.979, 810.980, 810.981, 810.982, 810.983, 810.984, 810.985, 810.986, 810.987, 810.988, 810.989, 810.990, 810.991, 810.992, 810.993, 810.994, 810.995, 810.996, 810.997, 810.998, 810.999, 811.000, 811.001, 811.002, 811.003, 811.004, 811.005, 811.006, 811.007, 811.008, 811.009, 811.010, 811.011, 811.012, 811.013, 811.014, 811.015, 811.016, 811.017, 811.018, 811.019, 811.020, 811.021, 811.022, 811.023, 811.024, 811.025, 811.026, 811.027, 811.028, 811.029, 811.030, 811.031, 811.032, 811.033, 811.034, 811.035, 811.036, 811.037, 811.038, 811.039, 811.040, 811.041, 811.042, 811.043, 811.044, 811.045, 811.046, 811.047, 811.048, 811.049, 811.050, 811.051, 811.052, 811.053, 811.054, 811.055, 811.056, 811.057, 811.058, 811.059, 811.060, 811.061, 811.062, 811.063, 811.064, 811.065, 811.066, 811.067, 811.068, 811.069, 811.070, 811.071, 811.072, 811.073, 811.074, 811.075, 811.076, 811.077, 811.078, 811.079, 811.080, 811.081, 811.082, 811.083, 811.084, 811.085, 811.086, 811.087, 811.088, 811.089, 811.090, 811.091, 811.092, 811.093, 811.094, 811.095, 811.096, 811.097, 811.098, 811.099, 811.100, 811.101, 811.102, 811.103, 811.104, 811.105, 811.106, 811.107, 811.108, 811.109, 811.110, 811.111, 811.112, 811.113, 811.114, 811.115, 811.116, 811.117, 811.118, 811.119, 811.120, 811.121, 811.122, 811.123, 811.124, 811.125, 811.126, 811.127, 811.128, 811.129, 811.130, 811.131, 811.132, 811.133, 811.134, 811.135, 811.136, 811.137, 811.138, 811.139, 811.140, 811.141, 811.142, 811.143, 811.144, 811.145, 811.146, 811.147, 811.148, 811.149, 811.150, 811.151, 811.152, 811.153, 811.154, 811.155, 811.156, 811.157, 811.158, 811.159, 811.160, 811.161, 811.162, 811.163, 811.164, 811.165, 811.166, 811.167, 811.168, 811.169, 811.170, 811.171, 811.172, 811.173, 811.174, 811.175, 811.176, 811.177, 811.178, 811.179, 811.180, 811.181, 811.182, 811.183, 811.184, 811.185, 811.186, 811.187, 811.188, 811.189, 811.190, 811.191, 811.192, 811.193, 811.194, 811.195, 811.196, 811.197, 811.198, 811.199, 811.200, 811.201, 811.202, 811.203, 811.204, 811.205, 811.206, 811.207, 811.208, 811.209, 811.210, 811.211, 811.212, 811.213, 811.214, 811.215, 811.216, 811.217, 811.218, 811.219, 811.220, 811.221, 811.222, 811.223, 811.224, 811.225, 811.226, 811.227, 811.228, 811.229, 811.230, 811.231, 811.232, 811.233, 811.234, 811.235, 811.236, 811.237, 811.238, 811.239, 811.240, 811.241, 811.242, 811.243, 811.244, 811.245, 811.246, 811.247, 811.248, 811.249, 811.250, 811.251, 811.252, 811.253, 811.254, 811.255, 811.256, 811.257, 811.258, 811.259, 811.260, 811.261, 811.262, 811.263, 811.264, 811.265, 811.266, 811.267, 811.268, 811.269, 811.270, 811.271, 811.272, 811.273, 811.274, 811.275, 811.276, 811.277, 811.278, 811.279, 811.280, 811.281, 811.282, 811.283, 811.284, 811.285, 811.286, 811.287, 811.288, 811.289, 811.290, 811.291, 811.292, 811.293, 811.294, 811.295, 811.296, 811.297, 811.298, 811.299, 811.300, 811.301, 811.302, 811.303, 811.304, 811.305, 811.306, 811.307, 811.308, 811.309, 811.310, 811.311, 811.312, 8





UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBGS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 66

SEAT	NAME OF CANDIDATE	CENTRE	<---PAPER-I/V---> IN GR GP CR C*G	<---PAPER-II/VI---> IN EX TOT GR GP CR C*G	<---PAPER-III/VII---> IN GR GP CR C*G	<---PAPER-IV---> IN GR GP CR C*G	SGPI-X	RSLT
Sub.:1	ENVIRONMENTAL STUDIES-5	(IN:100/50) (CF.:3)	Sub.:2	ARCH.REP.& DETAILG-6	(IN:100/50,EX:100/50) (CF.:6)	Sub.:3	ARCH.THEORIES-4	(IN:50/25) (CF.:12)
Sub.:4	PROF. PRACT-3	(IN:50/25) (CF.:3)	Sub.:5	ADV.BLDG.CONSTR& STRU	(IN:100/50) (CF.:3)	Sub.:6	DESIGN DISG.-2	(IN:200/100,EX:200/100) (CF.:16)
Sub.:7	ELECTIVE - 10	(IN:100/50) (CF.:3)						

8089 JADHAV ABHISHEK MALASABER ANITA  
4 NAVI-MUMBAI  
53 E 5 3 15 52 50 102 E 5 6 30 25 E 5 2 10 31 C 7 3 21  
57 D 6 3 18 110 100 210 E 5 16 80 52 E 5 3 15 GRAND TOTAL: 530  
SGPI :- SEM-I : 5.86 SEM-II : 6.56 SEM-III : 5.00 SEM-IV : 5.58 SEM-V : 5.94  
SGPI :- SEM-VI : 6.67 SEM-VII : 6.28 SEM-VIII : 8.00 SEM-IX : 7.31 SEM-X : 5.25  
CGPI: 6.14

8091 JADHAV RAJU BHIRU GEETA  
4 NAVI-MUMBAI  
50 E 5 3 15 50 65 115 D 6 6 36 25 E 5 2 10 28 D 6 3 18  
50 E 5 3 15 120 130 250 C 7 16 112 50 E 5 3 15 GRAND TOTAL: 568  
SGPI :- SEM-I : 7.44 SEM-II : 7.78 SEM-III : 7.14 SEM-IV : 7.22 SEM-V : 5.47  
SGPI :- SEM-VI : 6.25 SEM-VII : 7.69 SEM-VIII : 10.00 SEM-IX : 5.83 SEM-X : 6.14  
CGPI: 6.93

8094 JADHAV VIDISHA PRAMOD ARUNA  
4 NAVI-MUMBAI  
50 E 5 3 15 61 55 116 D 6 6 36 25 E 5 2 10 28 D 6 3 18  
60 C 7 3 21 110 110 220 D 6 16 96 52 E 5 3 15 GRAND TOTAL: 551  
SGPI :- SEM-I : 6.78 SEM-II : 5.89 SEM-III : 5.36 SEM-IV : 6.11 SEM-V : 5.94  
SGPI :- SEM-VI : 6.56 SEM-VII : 7.56 SEM-VIII : 10.00 SEM-IX : 7.47 SEM-X : 5.86  
CGPI: 6.56

8098 JAIN SEJAL NAKESH INDR  
4 NAVI-MUMBAI  
0F F --- -- 0F AA --- -- 30+ C 7 2 14 25+ E 5 3 15  
0F F --- -- 104+ AA --- -- 52+ E 5 3 15 GRAND TOTAL: 211  
SGPI :- SEM-I : 5.69 SEM-II : 5.03 SEM-III : 5.06 SEM-IV : 5.00 SEM-V : 5.00  
SGPI :- SEM-VI : 5.08 SEM-VII : 5.78 SEM-VIII : 6.00 SEM-IX : 5.75 SEM-X : 6.00  
CGPI: ---

8101 JAJU ONKAR JITENDRAKUMAR SONAL  
4 NAVI-MUMBAI  
60 C 7 3 21 56 65 121 C 7 6 42 30 C 7 2 14 11 B 8 3 24  
51 E 5 3 15 130 150 280 A 9 16 144 78 0 10 3 30 GRAND TOTAL: 653  
SGPI :- SEM-I : 9.28 SEM-II : 8.19 SEM-III : 7.29 SEM-IV : 7.33 SEM-V : 6.50  
SGPI :- SEM-VI : 7.42 SEM-VII : 8.58 SEM-VIII : 10.00 SEM-IX : 8.56 SEM-X : 8.06  
CGPI: 8.02

8103 JOSHI JYOTIRNA ASHOK SANTOSH  
4 NAVI-MUMBAI  
58 D 6 3 18 62 55 117 D 6 6 36 32 C 7 2 14 31 B 8 3 24  
55 D 6 3 18 128 130 258 C 7 16 112 50 B 5 3 15 GRAND TOTAL: 603  
SGPI :- SEM-I : 9.00 SEM-II : 8.33 SEM-III : 7.36 SEM-IV : 8.03 SEM-V : 8.69  
SGPI :- SEM-VI : 8.65 SEM-VII : 9.92 SEM-VIII : 9.00 SEM-IX : 8.67 SEM-X : 6.58  
CGPI: 8.25

8105 JUSTHA JDELI JUSTIN NANCY  
4 NAVI-MUMBAI  
66 B 8 3 24 65 80 145 A 9 6 54 34 B 8 2 16 32 C 7 3 21  
63 C 7 3 21 150 163 313 0 10 16 160 62 C 7 3 21 GRAND TOTAL: 715  
SGPI :- SEM-I : 8.47 SEM-II : 8.11 SEM-III : 6.06 SEM-IV : 7.22 SEM-V : 7.53  
SGPI :- SEM-VI : 7.61 SEM-VII : 8.86 SEM-VIII : 8.00 SEM-IX : 8.69 SEM-X : 8.81  
CGPI: 7.93

8107 KADAM RAJESH SANJAY GRMILA  
4 NAVI-MUMBAI  
68 B 8 3 24 55 58 113 D 6 6 36 25 E 5 2 10 31 C 7 3 21  
55 D 6 3 18 144 124 268 B 8 16 128 52 E 5 3 15 GRAND TOTAL: 612  
SGPI :- SEM-I : 6.72 SEM-II : 6.75 SEM-III : 5.64 SEM-IV : 6.97 SEM-V : 6.47  
SGPI :- SEM-VI : 6.75 SEM-VII : 5.93 SEM-VIII : 8.00 SEM-IX : 7.25 SEM-X : 7.00  
CGPI: 6.660.09

8:0.5042A; 8:0.5043A; \*1:0.5045A; \*1:0.229; 1:EXMP CARRIED/:FEMALE/ AA:ABSENT; P:PASSSES; F:FAIL; E:EXMP CAN BE CLAIMED; RR:RESERVED; -:DYSLEXIA; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF C\*G / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE C:15% & ABOVE;  
GRADE F:GRADE POINTS 5 TO 5.99; GRADE E:GRADE POINTS 6 TO 6.99; GRADE D:GRADE POINTS 7 TO 7.99; GRADE C:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; FCC:O.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.; Grade-C(Outstanding)= 9pt.; Grade-B(very Good)= 8pt.; Grade-C(Good)= 7pt.; Grade-D(Fair)= 6pt.; Grade-E(Satisfactory)= 5pt.; Grade-F(Fail)= 0pt.

*[Handwritten Signature]*

Principal  
Bharati Vidyapeeth  
College of Architecture  
Eduipada Complex, Opp. Kharghar,  
P.V. Station, B.O. New Mumbai



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) CBSSGS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 67

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RESULT
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G		

Sub.: ENVIRONMENTAL STUDIES-9 (IN:100/50) (Cr.:3) Sub.:2. ARCH. REP. & DETAILG-8 (IN:100/50, EX:100/50) (Cr.:6) Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:2)  
Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONST& STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)

8:110 /KADMAUKAR SARVADNYA TUSHAR PRAJAKTA  
4 NAVI-MUMBAI  
54 E 5 3 15 74 50 124 C 7 6 42 32 C 7 2 14 36 A 9 3 27 7.00  
55 D 6 3 18 138 105 243 C 7 16 112 68 B 8 3 24 GRAND TOTAL: 612 CGPI: 7.54  
SGPI: -- SEM-I: 7.50 SEM-II: 7.22 SEM-III: 6.92 SEM-IV: 7.69 SEM-V: 7.00  
SGPI: -- SEM-VI: 7.17 SEM-VII: 8.14 SEM-VIII: 10.00 SEM-IX: 8.14 SEM-X: 7.00

8:23 /KHARKAR SAIDONT PRAKOD VIDYA  
4 NAVI-MUMBAI  
50 E 5 3 15 50 50 100 F 5 6 30 30 C 7 2 14 25 E 5 3 15 29 D 6 3 18 5.19  
50 E 5 3 15 104 115 219 E 5 16 80 56 D 6 3 18 GRAND TOTAL: 530 CGPI: 5.91  
SGPI: -- SEM-I: 6.31 SEM-II: 5.79 SEM-III: 5.21 SEM-IV: 5.89 SEM-V: 5.42  
SGPI: -- SEM-VI: 5.09 SEM-VII: 6.44 SEM-VIII: 9.00 SEM-IX: 6.42 SEM-X: 5.19

8:24 /KHATTI LAXITA GOVIND SINGH MAYA  
4 NAVI-MUMBAI  
67 B 6 3 24 59 50 109 E 5 6 30 31 C 7 2 14 29 D 6 3 18 6.75  
55 D 6 3 18 140 100 240 C 7 16 112 73 A 9 3 27 GRAND TOTAL: 504 CGPI: 7.12  
SGPI: -- SEM-I: 7.67 SEM-II: 7.31 SEM-III: 6.67 SEM-IV: 6.56 SEM-V: 5.83  
SGPI: -- SEM-VI: 6.67 SEM-VII: 8.39 SEM-VIII: 9.00 SEM-IX: 7.39 SEM-X: 6.75

8:29 /KHUTALE SURYASH YASHWANT SUDATA  
4 NAVI-MUMBAI  
57 D 6 3 18 52 51 103 E 5 6 30 32 C 7 2 14 32 C 7 3 21 5.78  
60 C 7 3 21 111 102 213 E 5 16 80 65 B 8 3 24 GRAND TOTAL: 562 CGPI: 6.71@0.04  
SGPI: -- SEM-I: 7.94 SEM-II: 7.94 SEM-III: 5.14 SEM-IV: 5.86 SEM-V: 6.26  
SGPI: -- SEM-VI: 6.59 SEM-VII: 6.64 SEM-VIII: 9.00 SEM-IX: 7.17 SEM-X: 5.78

8:33 /KUMAR MUKUND ABHAY KALPANA  
4 NAVI-MUMBAI  
75 O 10 3 30 50 50 100 E 5 6 30 25 E 5 3 15 27 E 5 3 15 6.31  
50 E 5 3 15 146 100 246 C 7 16 112 50 B 8 3 24 GRAND TOTAL: 573 CGPI: 6.80  
SGPI: -- SEM-I: 7.86 SEM-II: 7.47 SEM-III: 5.00 SEM-IV: 6.56 SEM-V: 5.97  
SGPI: -- SEM-VI: 6.61 SEM-VII: 6.44 SEM-VIII: 10.00 SEM-IX: 7.52 SEM-X: 6.31

8:40 /MADAS AISHWARYA RAJENDRA SHARAYU  
4 NAVI-MUMBAI  
63 C 7 3 21 50 50 100 E 5 6 30 26 E 5 2 10 35 A 9 3 27 6.39  
54 E 5 3 15 130 120 250 C 7 16 112 52 E 5 3 15 GRAND TOTAL: 580 CGPI: 6.40  
SGPI: -- SEM-I: 5.86 SEM-II: 5.44 SEM-III: 5.11 SEM-IV: 6.11 SEM-V: 6.14  
SGPI: -- SEM-VI: 6.67 SEM-VII: 7.39 SEM-VIII: 9.00 SEM-IX: 7.36 SEM-X: 6.19

8:42 /MARHOTE SHAMBHAVI VIJAY VFFMA  
4 NAVI-MUMBAI  
2F F --- 5F AA --- 00F --- 00F ---  
0F F --- 5F AA --- 00F --- 00F ---  
SGPI: -- SEM-I: 5.00 SEM-II: 5.00 SEM-III: 5.23 SEM-IV: 5.21 SEM-V: 5.00 GRAND TOTAL: 7 CGPI: ---  
SGPI: -- SEM-VI: 5.00 SEM-VII: 5.06 SEM-VIII: 9.00 SEM-IX: 5.92 SEM-X: 0.00

8:0.50424: 8:0.50424: 4:0.229: 1:EXMP. CARRIED./:FEMALE/ AA:ABSENT/ P:PASSER/ F:FAIL/ E:EXMP CAN BE CLAIMED/ RR:RESERVED/ -:DYSLEXIA / AA/ABS: ABSENT/ NULL:NULL & VOID./  
GRA:GRADE POINT AVERAGE-SUM OF C&G / SUM OF C: GRADE F:BELOW 50% GRADE E:50% & ABOVE AND BELOW 55% GRADE D:55% AND ABOVE AND BELOW 60% GRADE C:60% & ABOVE AND BELOW 65%  
GRADE B:65% & ABOVE AND BELOW 69% GRADE A:70% & ABOVE GRADE 0:75% & ABOVE.  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE 0:GRADE POINTS 10; C:CREDIT POINTS; 5:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL/ RCC:0.5050  
Course Grades:-Grade-0(Outstanding)- 1opt., Grade-1(Good)- 4pt., Grade-2(Good)- 7pt., Grade-3(Good)- 9pt., Grade-4(Satisfactory)- 5pt., Grade-5(Fail)- 0pt.  
ATTENDED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. Kharghat  
Rly. Station, C.B.D. Navi Mumbai



SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V		PAPER-II/VI		PAPER-III/VII		PAPER-IV		SGPI-X	RESULT	
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	SGPI-X	RESULT

Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH. REP. & DETAILING-8 (IN:100/50, EX:100/50) (Cr.:16) Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:3)  
Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:50/25) (Cr.:2)  
Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:13)

9143 / MANAJAN AISHWARYA MILIND HERNALI  
4 NAVI-MUMBAI  
60 C 7 3 21 67 54 121 C 7 6 42 37 A 9 2 18 33 B 6 3 24 8.44  
SGPI :- SEM-I : 8.97 SEM-II : 9.64 SEM-III : 8.39 SEM-IV : 8.69 SEM-V : 8.08  
SGPI :- SEM-VI : 8.22 SEM-VII : 9.25 SEM-VIII : 10.00 SEM-IX : 9.25 SEM-X : 8.44  
CGPI : 8.72

9144 / MALL AARTI BHARAT KAVITA  
4 NAVI-MUMBAI  
72 A 9 3 27 65 55 170 C 7 6 42 30 C 7 2 14 28 D 6 3 18 5.75  
SGPI :- SEM-I : 7.75 SEM-II : 7.47 SEM-III : 7.75 SEM-IV : 8.39 SEM-V : 7.66  
SGPI :- SEM-VI : 8.03 SEM-VII : 8.33 SEM-VIII : 9.00 SEM-IX : 7.53 SEM-X : 6.75  
CGPI : 7.80

9145 / MALI PRANJALI BALASAHEB UJJWALA  
4 NAVI-MUMBAI  
65 B 8 3 24 60 65 175 C 7 6 42 32 C 7 2 14 32 C 7 3 21 7.19  
SGPI :- SEM-I : 8.75 SEM-II : 7.97 SEM-III : 7.59 SEM-IV : 7.94 SEM-V : 7.50  
SGPI :- SEM-VI : 8.39 SEM-VII : 8.81 SEM-VIII : 9.00 SEM-IX : 8.08 SEM-X : 7.19  
CGPI : 8.11

9148 / NANDALAKAR SAYALI SURYAKANT BHARTI  
4 NAVI-MUMBAI  
67 B 8 3 24 65 60 125 C 7 6 42 25 E 5 2 10 31 C 7 3 21 6.64  
SGPI :- SEM-I : 8.06 SEM-II : 7.56 SEM-III : 6.44 SEM-IV : 7.69 SEM-V : 7.25  
SGPI :- SEM-VI : 7.11 SEM-VII : 7.69 SEM-VIII : 9.00 SEM-IX : 6.78 SEM-X : 6.64  
CGPI : 7.33

9150 / MANJAREKAR MITALI NITIN ADITTI  
4 NAVI-MUMBAI  
75 O 10 3 30 60 60 120 C 7 6 42 30 C 7 2 14 34 B 8 3 24 7.78  
SGPI :- SEM-I : 7.00 SEM-II : 5.06 SEM-III : 5.64 SEM-IV : 7.36 SEM-V : 7.28  
SGPI :- SEM-VI : 7.42 SEM-VII : 7.97 SEM-VIII : 9.00 SEM-IX : 8.25 SEM-X : 7.78  
CGPI : 7.28

9151 / NARATHE BHUMIKA NANDKUMAR VAIBHAVI  
4 NAVI-MUMBAI  
53 E 5 3 15 50 57 107 E 5 6 30 28 D 6 2 12 31 C 7 3 21 6.56  
SGPI :- SEM-I : 8.19 SEM-II : 8.64 SEM-III : 7.06 SEM-IV : 7.97 SEM-V : 7.64  
SGPI :- SEM-VI : 8.25 SEM-VII : 8.11 SEM-VIII : 9.00 SEM-IX : 7.44 SEM-X : 6.36  
CGPI : 7.80

9152 / MARATHE HERAMB ANANT ASHWINI  
4 NAVI-MUMBAI  
53 E 5 3 15 53 90 105 E 5 6 30 30 C 7 2 14 36 A 9 3 27 5.97  
SGPI :- SEM-I : 7.58 SEM-II : 6.44 SEM-III : 5.92 SEM-IV : 6.53 SEM-V : 6.33  
SGPI :- SEM-VI : 5.92 SEM-VII : 8.00 SEM-VIII : 10.00 SEM-IX : 8.22 SEM-X : 5.97  
CGPI : 6.92

9153 / MARTIN CHERYL ANTHONY SANDHYA  
4 NAVI-MUMBAI  
70 A 9 3 27 55 50 105 E 5 6 30 25 F 5 2 10 31 C 7 3 21 6.11  
SGPI :- SEM-I : 6.81 SEM-II : 6.03 SEM-III : 5.00 SEM-IV : 6.08 SEM-V : 6.22  
SGPI :- SEM-VI : 6.75 SEM-VII : 7.56 SEM-VIII : 9.00 SEM-IX : 7.53 SEM-X : 6.11  
CGPI : 6.57

0:0.5042A: 0:0.5043A: \*0:0.5045A: #0:0.229: !:EXMP. CARRIED./:FEMALE: AA:ABSENT: P:PASSES: F:FAIL:/E:EXMP CAN BE CLAIMED: RR:RESERVED: -:DYSLEXIA: A/A/AB: ABSENT: NU/LL:NU/LL & VOID:  
GPA:GRADE POINT AVERAGE-SUM OF CGP / SUM OF C: GRADE F:BELOW 50%: GRADE E:50% & ABOVE AND BELOW 55%: GRADE D:55% AND ABOVE AND BELOW 60%: GRADE C:60% & ABOVE AND BELOW 65%:  
GRADE B:65% & ABOVE AND BELOW 69%: GRADE A:70% & ABOVE AND BELOW 75%: GRADE O:75% & ABOVE:  
GRADE P:GRADE POINTS BELOW 5: GRADE E:GRADE POINTS 5 TO 5.99: GRADE D:GRADE POINTS 6 TO 6.99: GRADE C:GRADE POINTS 7 TO 7.99: GRADE B:GRADE POINTS 8 TO 8.99:  
GRADE A:GRADE POINTS 9 TO 9.99: GRADE O:GRADE POINTS 10: C: CREDIT POINTS: G:GRADE POINTS: ADC:ADMISSION CANCELLED: RPV:PROVISIONAL: RCC:O.5050  
Course Grades:-Grade-O(Outstanding)= 10pt. Grade-A(Excellent)= 9pt. Grade-B(Very Good)= 8pt. Grade-C(Good)= 7pt. Grade-D(Fair)= 6pt. Grade-E(Satisfactory)= 5pt. Grade-F(Fail)= 0pt.  
\*\*\*\*\* ATTESTED TRUE COPY \*\*\*\*\*

Principal  
Bharati Vidyapeeth  
College of Architecture  
Delipada Complex, Opp. Kharjhal  
ry, Station, C.B.D, Navi Mumbai



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM-XI) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: 316 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 69

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V->			PAPER-II/VI->			PAPER-III/VII->			PAPER-IV->			SGPI-X	RSLT												
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RSLT										
8:55	MEHROTRA SARANSH SANKJAY SHALINI	4 NAVI-MUMBAI	62+	C	7	3	21	50+	52	102	E	5	6	30	30+	C	7	2	14	27+	E	5	3	15				
			50+	E	5	3	15	110+	112	222	D	6	16	96	59+	D	6	3	18									
			SGPI :-	SEM-I :	7.61	SEM-II :	7.22	SEM-III :	6.31	SEM-IV :	6.00	SEM-V :	5.44															
			SGPI :-	SEM-VII :	6.08	SEM-VIII :	5.06	SEM-IX :	5.00	SEM-X :	7.11	SEM-X :	5.61															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:57	MENEZES AKASH SAVIO ELVINA	4 NAVI-MUMBAI	67	B	8	3	24	60	57	117	D	6	6	36	35	O	10	2	20	34	B	8	3	24				
			51	E	5	3	15	145	142	287	A	9	16	144	80	O	10	3	30									
			SGPI :-	SEM-I :	6.25	SEM-II :	6.78	SEM-III :	5.25	SEM-IV :	6.28	SEM-V :	6.58															
			SGPI :-	SEM-VII :	6.92	SEM-VIII :	6.86	SEM-IX :	9.00	SEM-X :	7.58	SEM-X :	8.14															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:63	MITTAL SEJAL KANLESH SANTOSH	4 NAVI-MUMBAI	70	A	9	3	27	75	58	133	B	8	6	48	38	O	10	2	20	39	O	10	3	30				
			77	O	10	3	30	150	116	266	B	8	16	128	72	A	9	3	27									
			SGPI :-	SEM-I :	9.03	SEM-II :	8.42	SEM-III :	7.92	SEM-IV :	7.64	SEM-V :	7.53															
			SGPI :-	SEM-VII :	8.19	SEM-VIII :	7.53	SEM-IX :	10.00	SEM-X :	8.75	SEM-X :	8.61															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:64	MODNE SHUBHAM SANTOSH MEERA	4 NAVI-MUMBAI	2F	F				OF	AA					30E	C	7	2	14										
			OF	F				10F	AA					05F														
			SGPI :-	SEM-I :	6.14	SEM-II :	5.67	SEM-III :	5.03	SEM-IV :	5.28	SEM-V :	5.31															
			SGPI :-	SEM-VII :	5.00	SEM-VIII :	6.39	SEM-IX :	9.00	SEM-X :	5.67	SEM-X :	0.00															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:67	MORE FRANOTI ARVIND SNEHA	4 NAVI-MUMBAI	61	C	7	3	21	60	50	110	D	6	6	36	31	C	7	2	14	35	A	9	3	27				
			50	E	5	3	15	128	100	228	D	6	16	96	80	O	10	3	30									
			SGPI :-	SEM-I :	7.17	SEM-II :	7.58	SEM-III :	6.33	SEM-IV :	7.19	SEM-V :	6.58															
			SGPI :-	SEM-VII :	7.36	SEM-VIII :	7.83	SEM-IX :	9.00	SEM-X :	7.61	SEM-X :	6.64															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:68	MOTAGI SHUBHAM BASAVARAJ DANANMA	4 NAVI-MUMBAI	50E	E	5	3	15	55E	30F	85				29E	O	6	2	12	34E	B	8	3	24					
			55E	O	6	3	18	138E	90F	228				50E	E	5	3	15										
			SGPI :-	SEM-I :	6.53	SEM-II :	6.81	SEM-III :	5.06	SEM-IV :	5.83	SEM-V :	5.53															
			SGPI :-	SEM-VII :	5.58	SEM-VIII :	7.11	SEM-IX :	10.00	SEM-X :	6.86	SEM-X :	0.00															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:69	MURALIDHARAN MALAVIKA DEEPA MURALI DHARAN	4 NAVI-MUMBAI	50	E	5	3	15	115	104	219	E	5	16	80	65	B	8	3	24									
			50	E	5	3	15	9.50	SEM-II :	8.86	SEM-III :	7.83	SEM-IV :	9.21	SEM-V :	7.94												
			SGPI :-	SEM-VII :	8.14	SEM-VIII :	9.64	SEM-IX :	10.00	SEM-X :	8.78	SEM-X :	5.44															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									
8:71	NAGDIVE MAKASMINI MANOHAR USHA	4 NAVI-MUMBAI	73E	A	9	3	27	50E	24F	75				27E	E	5	2	10	25E	E	5	3	15					
			52E	E	5	3	15	140E	70F	210				50E	E	5	3	15										
			SGPI :-	SEM-I :	6.56	SEM-II :	7.50	SEM-III :	5.83	SEM-IV :	7.11	SEM-V :	5.69															
			SGPI :-	SEM-VII :	6.28	SEM-VIII :	6.11	SEM-IX :	10.00	SEM-X :	7.72	SEM-X :	0.00															
			CGPI :																									
			GRAND TOTAL :																									
			CGPI :																									

8:0-5042A; 8:0-5043A; 8:0-5045A; 8:0-229; + EXMP. CARRIED; / FEMALE; AA: ABSENT; R: PASSES; F: FAIL; E: EXMP CAN BE CLAIMED; RR: RESERVED; - : DYSLEXIA; AA/ABS: ABSENT; MULT: MULT; VOID: /  
 GPA: GRADE POINT AVERAGE - SUM OF C+G / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%;  
 GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE;  
 GRADE F: GRADE POINTS 5 TO 5.99; GRADE E: GRADE POINTS 6 TO 6.99; GRADE D: GRADE POINTS 7 TO 7.99; GRADE C: GRADE POINTS 8 TO 8.99;  
 GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RV: PROVISIONAL; FCC: 0.5050.  
 Course Grades: Grade-O(Outstanding) = 9pt.; Grade-VI(Very Good) = 8pt.; Grade-V(Good) = 7pt.; Grade-IV(Good) = 6pt.; Grade-III(Satisfactory) = 5pt.; Grade-II(Fair) = 4pt.; Grade-I(Poor) = 3pt.

ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Belgaada Complex, Opp. Kharghar  
Rly. Station, C.B.D. Navi Mumbai





UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM-X) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 71

SEAT	NAME OF CANDIDATE	COURSE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	SGPI-X	RESULT
Sub-1:1	EWINGTON STUDIES-5	(IN:100/50) (Cr.:3)																							
Sub-1:4	PROF. PRACT-3	(IN:50/25) (Cr.:3)																							
Sub-1:7	ELECTIVE - 10	(IN:100/50) (Cr.:3)																							
Sub-2:2	ARCH-REF. & DETAILG-8	(IN:100/50, EX:100/50) (Cr.:6)																							
Sub-2:5	ADV. BLDG. CONSTR. STRU	(IN:100/50) (Cr.:3)																							
Sub-3:3	ARCH. THEORIES-4	(IN:50/25) (Cr.:2)																							
Sub-3:6	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)																							

8196 / PATANKAR TEJAL HANDBAR SHIVANI  
4 NAVI-MUMBAI  
50 E 5 3 15  
SGPI :- SEM-I : 8.81 SEM-II : 7.44 SEM-III : 6.28 SEM-IV : 6.13 SEM-V : 6.69  
SGPI :- SEM-VI : 6.50 SEM-VII : 7.44 SEM-VIII : 9.00 SEM-IX : 8.19 SEM-X : 6.75  
GRAND TOTAL: 617  
CGPI: 7.25

8200 / PATIL JULIE RAJENDRA ASHA  
4 NAVI-MUMBAI  
74 A 9 3 27  
SGPI :- SEM-I : 8.83 SEM-II : 9.06 SEM-III : 8.78 SEM-IV : 9.22 SEM-V : 7.83  
SGPI :- SEM-VI : 8.08 SEM-VII : 8.78 SEM-VIII : 10.00 SEM-IX : 8.72 SEM-X : 8.81  
GRAND TOTAL: 720  
CGPI: 8.74

8207 / PATIL VRDANGI ANIL ARUNA  
4 NAVI-MUMBAI  
63 C 7 3 21  
SGPI :- SEM-I : 7.47 SEM-II : 8.06 SEM-III : 7.53 SEM-IV : 7.36 SEM-V : 7.42  
SGPI :- SEM-VI : 7.22 SEM-VII : 8.17 SEM-VIII : 10.00 SEM-IX : 7.15 SEM-X : 7.58  
GRAND TOTAL: 651  
CGPI: 7.58

8210 / PHADTARE AARTI KRISHNAT Suman  
4 NAVI-MUMBAI  
77 O 10 3 30  
SGPI :- SEM-I : 7.42 SEM-II : 8.58 SEM-III : 7.92 SEM-IV : 9.03 SEM-V : 7.97  
SGPI :- SEM-VI : 9.11 SEM-VII : 8.92 SEM-VIII : 10.00 SEM-IX : 8.08 SEM-X : 9.17  
GRAND TOTAL: 713  
CGPI: 8.54

8212 / PILANKAR OMKAR SANJAY SAMJITA  
4 NAVI-MUMBAI  
67 B 8 3 24  
SGPI :- SEM-I : 8.97 SEM-II : 8.67 SEM-III : 7.06 SEM-IV : 6.19 SEM-V : 6.39  
SGPI :- SEM-VI : 5.97 SEM-VII : 7.89 SEM-VIII : 10.00 SEM-IX : 8.25 SEM-X : 8.64  
GRAND TOTAL: 702  
CGPI: 8.64

8213 / PIMPALKAR SAKSHI VIKAS DISHA  
4 NAVI-MUMBAI  
50 E 5 3 15  
SGPI :- SEM-I : 6.53 SEM-II : 5.47 SEM-III : 5.58 SEM-IV : 5.56 SEM-V : 5.53  
SGPI :- SEM-VI : 5.72 SEM-VII : 6.19 SEM-VIII : 10.00 SEM-IX : 6.17 SEM-X : 5.22  
GRAND TOTAL: 511  
CGPI: 5.97

8214 / PISE MANJUSHA ISHVAR USHA  
4 NAVI-MUMBAI  
60 C 7 3 21  
SGPI :- SEM-I : 7.56 SEM-II : 8.31 SEM-III : 7.42 SEM-IV : 8.61 SEM-V : 6.53  
SGPI :- SEM-VI : 7.39 SEM-VII : 7.83 SEM-VIII : 10.00 SEM-IX : 7.47 SEM-X : 7.56  
GRAND TOTAL: 645  
CGPI: 7.56

8215 / PISE PUSHPAK RAJENDRA MANJUSHREE  
4 NAVI-MUMBAI  
50E E 5 3 15  
SGPI :- SEM-I : 5.58 SEM-II : 6.14 SEM-III : 5.28 SEM-IV : 5.22 SEM-V : 5.00  
SGPI :- SEM-VI : 5.33 SEM-VII : 6.72 SEM-VIII : 8.00 SEM-IX : 5.78 SEM-X : 0.00  
GRAND TOTAL: 354  
CGPI: 5.97

\*:0.5042A; #:0.5043A; #:0.222; +:EXMP. CARRIED//:FEMALE; AA:ABSENT; P:FAIL; E:EXMP CAN BE CLAIMED; PR:RESERVED; -:DYSLEXIA; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GRA:GRADE POINT AVERAGE-SUM OF CGG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLER; RPV:PROVISIONAL; HCC:0.5050.  
Course Grades:-Grade-(Outstanding)= 10pt, Grade-(Excellent)= 9pt., Grade-(Very Good)= 8pt., Grade-(Good)= 7pt., Grade-(Fair)= 6pt., Grade-(Satisfactory)= 5pt., Grade-(Fail)= 0pt.  
-----  
ATESTED TRUE COPY

**Principal**  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. K. S. Waghkar  
Rly. Station, Mumbai - 400 015



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM-X) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bhamburda Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 72

SEAT NAME OF CANDIDATE CENTRE  
Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50)(Cr.:3) Sub.:2. ARCH. REP. & DETAILING-8 (IN:100/50,EX:100/50)(Cr.:6) Sub.:3. ARCH. THEORIES-4 (IN:50/25)(Cr.:2)  
Sub.:4. PROF. PRACT-3 (IN:50/25)(Cr.:3) Sub.:5. ADV. BLDG.CONST& STRU (IN:100/50)(Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100,EX:200/100)(Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50)(Cr.:13)

SEAT	NAME OF CANDIDATE	CENTRE	IN	GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	CGPI	RESULT		
8232	SAKHARE SHREYA SHRIKANG ANAGRA	4 NAVI-MUMBAI	60	C	7	3	21	67	65	132	B	8	6	48	30	C	7	2	14	30	C	7	3	21	664	8.22	P	
			60	C	7	3	21	140	140	280	A	9	16	144	72	A	9	3	27	6.47								
			SGPI :- SEM-I :					7.67	SEM-II :					8.39	SEM-III :					7.94	SEM-IV :					6.47		
			SGPI :- SEM-VI :					6.94	SEM-VII :					8.22	SEM-VIII :					10.00	SEM-IX :					7.42	SEM-X :	
			GRAND TOTAL :																						553	5.97		
			CGPI :																						7.22			
8237	SANAS ASHOTOSH SAMBHAJI ANITA	4 NAVI-MUMBAI	50	B	8	3	24	50	50	100	E	5	6	30	38	O	10	2	20	25	E	5	3	15	594	6.59	P	
			50	E	5	3	15	120	100	220	D	6	16	96	62	C	7	3	21	6.33					678	8.14		
			SGPI :- SEM-I :					9.11	SEM-II :					8.06	SEM-III :					6.03	SEM-IV :					6.89	SEM-V :	
			SGPI :- SEM-VI :					6.39	SEM-VII :					7.58	SEM-VIII :					10.00	SEM-IX :					5.97		
			GRAND TOTAL :																						553	5.97		
			CGPI :																						7.22			
8238	SANAS SIDHNI SUHAS SHALINI	4 NAVI-MUMBAI	57	O	6	3	18	65	70	135	B	8	6	48	32	C	7	2	14	35	A	9	3	21	599	6.57	P	
			57	O	6	3	18	155	140	295	A	9	16	144	62	C	7	3	21	6.17					678	8.14		
			SGPI :- SEM-I :					8.47	SEM-II :					9.25	SEM-III :					7.86	SEM-IV :					8.22	SEM-V :	
			SGPI :- SEM-VI :					8.89	SEM-VII :					9.08	SEM-VIII :					10.00	SEM-IX :					8.47	SEM-X :	
			GRAND TOTAL :																						678	8.14		
			CGPI :																						8.58			
8239	SANGLI PRANALI PRANOD PRADNYA	4 NAVI-MUMBAI	67	B	8	3	24	76	50	126	C	7	6	42	35	A	9	2	18	31	C	7	3	21	594	6.59	P	
			67	B	8	3	24	120	100	220	D	6	16	96	62	C	7	3	21	6.33					678	8.14		
			SGPI :- SEM-I :					8.50	SEM-II :					7.22	SEM-III :					6.11	SEM-IV :					6.94	SEM-V :	
			SGPI :- SEM-VI :					7.00	SEM-VII :					8.06	SEM-VIII :					10.00	SEM-IX :					7.72	SEM-X :	
			GRAND TOTAL :																						599	6.57		
			CGPI :																						7.31			
8248	SANARE GAURAV NANAKISHOR SAVITA	4 NAVI-MUMBAI	50	E	5	3	15	50	70	120	C	7	6	42	32	C	7	2	14	25	E	5	3	15	594	6.59	P	
			50	E	5	3	15	106	148	254	C	7	16	112	60	C	7	3	21	6.03					678	8.14		
			SGPI :- SEM-I :					7.17	SEM-II :					6.83	SEM-III :					5.39	SEM-IV :					5.86	SEM-V :	
			SGPI :- SEM-VI :					6.67	SEM-VII :					7.53	SEM-VIII :					9.00	SEM-IX :					7.33	SEM-X :	
			GRAND TOTAL :																						594	6.59		
			CGPI :																						5.70880.05			
8255	SHAIKH SHARID SALIM FARIDA	4 NAVI-MUMBAI	72	A	9	3	27	60	60	120	C	7	6	42	31	C	7	2	14	36	A	9	3	27	646	7.42	P	
			72	A	9	3	27	148	110	258	C	7	16	112	55	D	6	3	18	6.64					678	8.14		
			SGPI :- SEM-I :					8.08	SEM-II :					6.17	SEM-III :					5.97	SEM-IV :					7.19	SEM-V :	
			SGPI :- SEM-VI :					7.42	SEM-VII :					7.36	SEM-VIII :					9.00	SEM-IX :					8.00	SEM-X :	
			GRAND TOTAL :																						646	7.42		
			CGPI :																						7.23			
8257	SHARMA ISHITA SAURABH ANALI	4 NAVI-MUMBAI	65	B	8	3	24	80	60	140	A	9	6	54	36	A	9	2	18	35	A	9	3	27	674	8.06	P	
			65	B	8	3	24	145	130	275	B	8	16	128	54	E	5	3	15	7.67					678	8.14		
			SGPI :- SEM-I :					9.25	SEM-II :					8.00	SEM-III :					7.53	SEM-IV :					7.92	SEM-V :	
			SGPI :- SEM-VI :					8.03	SEM-VII :					9.08	SEM-VIII :					10.00	SEM-IX :					8.17	SEM-X :	
			GRAND TOTAL :																						674	8.06		
			CGPI :																						8.28			
8261	SHETTY DEEPIKA RAMESH LATHA	4 NAVI-MUMBAI	52	E	5	3	15	52	52	104	A	9	2	18	29	D	6	3	18	29	D	6	3	18	287	7.42	P	
			52	E	5	3	15	120	AA	7.58	SEM-III :			5.81	SEM-IV :					7.17	SEM-V :				5.64			
			SGPI :- SEM-I :					7.22	SEM-II :					7.58	SEM-III :					5.81	SEM-IV :					7.17	SEM-V :	
			SGPI :- SEM-VI :					5.17	SEM-VII :					5.08	SEM-VIII :					5.00	SEM-IX :					6.33	SEM-X :	
			GRAND TOTAL :																						287	7.42		
			CGPI :																						8.28			

W.O.5042A: @:O.5043A: \*:O.5045A: #:O.229: :EXMP. CARRIED./:FEMALE; AA:ABSENT; F:PASSSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; :Dyslexia : AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA: GRADE POINT AVERAGE=SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99;  
GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; ROC: 0.5050.  
Course Grades:-Grade-0(Outstanding) = 10pt., Grade-A(Excellent) = 9pt., Grade-B(very Good) = 8pt., Grade-C(Good) = 7pt., Grade-D(Fair) = 6pt., Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 4pt.

ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Campus, Opp. Kharaker  
New Mumbai



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM-X) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: 176 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE: 73

SEAT NAME OF CANDIDATE CENTRE  
Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH.REP. & DETAILING-6 (IN:100/50,EX:100/50) (Cr.:6) Sub.:3. ARCH.THEORIES-4 (IN:50/25) (Cr.:2)  
Sub.:4. PROJ. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV.BLDG.CONSTR. STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100,EX:200/100) (Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:13)

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RESULT												
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X											
8253	SHETTY MOHIT SURESH SHAILAJA	4 NAVI-MUMBAI	73	A	9	3	27	78	74	152	Q	10	6	60	34	B	8	2	16	35	A	9	3	27	9.47	P		
			SGPI :- SEM-I :	7.56	SEM-II :	8.97	SEM-III :	8.83	SEM-IV :	9.14	SEM-V :	9.00																
			SGPI :- SEM-VI :	9.25	SEM-VII :	9.17	SEM-VIII :	10.00	SEM-IX :	8.89	SEM-X :	9.47																
			CGPI :	8.97																								
8266	SHINDE HARSH DILIP SANDHYA	4 NAVI-MUMBAI	50	E	5	3	15	55	55	110	D	6	6	36	27	E	5	2	10	25	E	5	3	15	7.81	P		
			SGPI :- SEM-I :	7.36	SEM-II :	7.28	SEM-III :	5.33	SEM-IV :	6.25	SEM-V :	6.06																
			SGPI :- SEM-VI :	6.89	SEM-VII :	7.42	SEM-VIII :	9.00	SEM-IX :	6.91	SEM-X :	7.81																
			CGPI :	6.87																								
4268	SHINDE PIYUSH BALIRAM JYOTI	4 NAVI-MUMBAI	50	E	5	3	15	51	55	106	E	5	6	30	28	D	6	2	12	25	E	5	3	15	6.36	P		
			SGPI :- SEM-I :	8.17	SEM-II :	8.06	SEM-III :	6.72	SEM-IV :	7.83	SEM-V :	6.86																
			SGPI :- SEM-VI :	7.72	SEM-VII :	7.58	SEM-VIII :	9.00	SEM-IX :	8.42	SEM-X :	6.36																
			CGPI :	7.59																								
8272	SHIRDHONKAR TEJASWINI VIJAY VEENA	4 NAVI-MUMBAI	70	A	9	3	27	50	52	102	E	5	6	30	30	C	7	2	14	25	E	5	3	15	6.75	P		
			SGPI :- SEM-I :	6.17	SEM-II :	5.86	SEM-III :	6.19	SEM-IV :	5.83	SEM-V :	6.06																
			SGPI :- SEM-VI :	6.64	SEM-VII :	7.61	SEM-VIII :	8.00	SEM-IX :	7.14	SEM-X :	6.75																
			CGPI :	6.54																								
8281	SOLKE SHWETA VIJAY VANITA	4 NAVI-MUMBAI	53	E	5	3	15	50	50	100	E	5	6	30	25	E	5	2	10	25	E	5	3	15	5.42	P		
			SGPI :- SEM-I :	5.81	SEM-II :	5.00	SEM-III :	5.17	SEM-IV :	5.06	SEM-V :	5.00																
			SGPI :- SEM-VI :	5.00	SEM-VII :	5.78	SEM-VIII :	9.00	SEM-IX :	6.00	SEM-X :	5.42																
			CGPI :	5.53																								
8285	TALWALKER APOORVA DEEPAK NEENAL	4 NAVI-MUMBAI	58	D	6	3	18	60	66	126	C	7	6	42	25	E	5	2	10	29	D	6	3	18	6.47	P		
			SGPI :- SEM-I :	8.47	SEM-II :	7.31	SEM-III :	7.56	SEM-IV :	7.67	SEM-V :	6.78																
			SGPI :- SEM-VI :	7.33	SEM-VII :	8.00	SEM-VIII :	8.00	SEM-IX :	8.39	SEM-X :	6.47																
			CGPI :	7.57																								
8290	TERAPALE HARSHALI SUBHASH SANGITA	4 NAVI-MUMBAI	74	A	9	3	27	61	50	111	D	6	6	36	31	C	7	2	14	33	B	8	3	24	6.64	P		
			SGPI :- SEM-I :	8.00	SEM-II :	7.03	SEM-III :	6.61	SEM-IV :	7.56	SEM-V :	6.47																
			SGPI :- SEM-VI :	7.14	SEM-VII :	7.67	SEM-VIII :	9.00	SEM-IX :	7.92	SEM-X :	6.64																
			CGPI :	7.31																								
8291	THAKUR NAINESH KANUJI MADHURI	4 NAVI-MUMBAI	55	B	8	3	24	66	53	119	D	6	6	36	32	C	7	2	14	36	A	9	3	27	6.56	P		
			SGPI :- SEM-I :	7.61	SEM-II :	7.89	SEM-III :	7.08	SEM-IV :	7.19	SEM-V :	7.33																
			SGPI :- SEM-VI :	7.75	SEM-VII :	8.25	SEM-VIII :	8.00	SEM-IX :	7.94	SEM-X :	6.56																
			CGPI :	7.53																								

# : O.5042A; # : O.5043A; # : O.5045A; # : O.229; # : EXMP. CARRIED; # : FEMALE; AA: ABSENT; P: PASSES; F: FAIL; E: EXMP CAN BE CLAIMED; RR: RESERVED; - : DYSLEXIA; AA/ABS: ABSENT; NULL: NULL & VOID. ; GPA: GRADE POINT AVERAGE-SUM OF C&G / SUM OF C; GRADE F: BELOW 50%; GRADE B: 50% & ABOVE AND BELOW 55%; GRADE O: 75% & ABOVE; GRADE A: 65% & ABOVE AND BELOW 65%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE; GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99; GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; RPV: PROVISIONAL; ROC: O.5050. Course Grades: - Grade-O (Outstanding) = 10pt., Grade-A (Excellent) = 9pt., Grade-B (Very Good) = 8pt., Grade-C (Good) = 7pt., Grade-D (Fair) = 6pt., Grade-E (Satisfactory) = 5pt., Grade-F (Fail) = 0pt.

ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. Kharghar  
Rly Station, C.B.D, Navi Mumbai



UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM-X) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 74

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	IN	GR	GP	CR	C*G	SGPT-X	RESLT
Sub.:1.	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)	Sub.:2.	ARCH. REP. & DETAILING-8	(IN:100/50, EX:100/50) (Cr.:16)	Sub.:3.	ARCH. THEORIES-4	(IN:50/25) (Cr.:3)	Sub.:4.	PROF. PRACT-3	(IN:50/25) (Cr.:3)	Sub.:5.	ADV. BLDG. CONST. STRU	(IN:100/50) (Cr.:3)	Sub.:6.	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)	Sub.:7.	ELECTIVE - 10	(IN:100/50) (Cr.:3)					

8293 / THOKE DHANASHREE SAMBAHJI RACHANA  
4 NAVI-MUMBAI  
69 B B 3 24 55 60 115 0 6 6 36 33 B B 2 16 34 B B 3 24 6.97  
62 C 7 3 21 130 120 250 C 7 16 112 55 D 6 3 18 GRAND TOTAL: 618  
SGPT :- SEM-I : 6.50 SEM-II : 7.64 SEM-III : 6.42 SEM-IV : 7.47 SEM-V : 7.31  
SGPT :- SEM-VI : 8.31 SEM-VII : 8.78 SEM-VIII : 8.00 SEM-IX : 8.25 SEM-X : 6.97  
CGPT: 7.59

8294 / THOMAS GRACE BIJU SHEELA  
4 NAVI-MUMBAI  
56 D 6 3 18 109 100 209 E 5 16 80 68 B B 3 24 34 B B 3 24 5.92  
52 E 5 3 15 145 105 250 C 7 16 112 65 B B 3 24 GRAND TOTAL: 568  
SGPT :- SEM-I : 9.00 SEM-II : 8.89 SEM-III : 7.22 SEM-IV : 8.47 SEM-V : 7.36  
SGPT :- SEM-VI : 8.11 SEM-VII : 8.17 SEM-VIII : 9.00 SEM-IX : 7.72 SEM-X : 5.92  
CGPT: 7.93

8295 / THOMAS MERIN KALDEKAL REXY  
4 NAVI-MUMBAI  
54 E 5 3 15 57 50 107 E 5 6 30 33 B B 2 16 26 E 5 3 15 6.11  
52 E 5 3 15 145 105 250 C 7 16 112 65 B B 3 24 GRAND TOTAL: 587  
SGPT :- SEM-I : 6.97 SEM-II : 7.19 SEM-III : 6.53 SEM-IV : 6.89 SEM-V : 7.31  
SGPT :- SEM-VI : 7.50 SEM-VII : 8.06 SEM-VIII : 9.00 SEM-IX : 8.00 SEM-X : 6.31  
CGPT: 7.28

8297 / THUBE RUSHABH SUNIL SARIKA  
4 NAVI-MUMBAI  
52 E 5 3 15 58 55 113 D 6 6 36 25 E 5 2 10 29 D 6 3 18 6.67  
51 D 6 3 18 130 130 260 B 8 16 128 52 E 5 3 15 GRAND TOTAL: 588  
SGPT :- SEM-I : 6.61 SEM-II : 6.53 SEM-III : 5.42 SEM-IV : 5.67 SEM-V : 5.75  
SGPT :- SEM-VI : 5.72 SEM-VII : 7.61 SEM-VIII : 8.00 SEM-IX : 6.69 SEM-X : 6.67  
CGPT: 6.38

8301 / UGHADE APARNA MOHANRAO SUSHMA  
4 NAVI-MUMBAI  
50 E 5 3 15 54 50 104 E 5 6 30 25 E 5 2 10 25 E 5 3 15 5.08  
57 D 6 3 18 110 100 210 E 5 16 80 50 E 5 3 15 GRAND TOTAL: 521  
SGPT :- SEM-I : 6.03 SEM-II : 5.50 SEM-III : 5.14 SEM-IV : 5.50 SEM-V : 5.94  
SGPT :- SEM-VI : 6.06 SEM-VII : 6.11 SEM-VIII : 7.00 SEM-IX : 7.67 SEM-X : 5.08  
CGPT: 5.94

8307 / VANAGE SALONI SWARNIL SAMRITHA  
4 NAVI-MUMBAI  
56 D 6 3 18 62 50 112 D 6 6 36 29 D 6 2 12 27 E 5 3 15 6.69  
70 A 9 3 27 145 110 255 C 7 16 112 64 C 7 3 21 GRAND TOTAL: 613  
SGPT :- SEM-I : 8.16 SEM-II : 7.39 SEM-III : 6.86 SEM-IV : 7.89 SEM-V : 6.28  
SGPT :- SEM-VI : 6.78 SEM-VII : 7.89 SEM-VIII : 8.00 SEM-IX : 8.47 SEM-X : 6.69  
CGPT: 7.43

8308 / VARTAK RUTU RAJENDRA SHOBHANGI  
4 NAVI-MUMBAI  
60 C 7 3 21 52 50 102 E 5 6 30 35 A 9 2 18 30 C 7 3 21 6.53  
51 E 5 3 15 140 100 240 C 7 16 112 56 D 6 3 18 GRAND TOTAL: 574  
SGPT :- SEM-I : 7.94 SEM-II : 8.17 SEM-III : 8.22 SEM-IV : 7.36 SEM-V : 7.86  
SGPT :- SEM-VI : 7.75 SEM-VII : 8.72 SEM-VIII : 9.00 SEM-IX : 7.72 SEM-X : 6.53  
CGPT: 7.87

8313 / VINCHHI URVASHI BHARAT SHARDA  
4 NAVI-MUMBAI  
69 B 8 3 24 75 75 150 0 10 6 60 25 E 5 2 10 36 A 9 3 27 9.06  
65 B 8 3 24 144 162 306 0 10 16 160 52 C 7 3 21 GRAND TOTAL: 713  
SGPT :- SEM-I : 5.44 SEM-II : 5.78 SEM-III : 5.00 SEM-IV : 5.53 SEM-V : 6.22  
SGPT :- SEM-VI : 7.44 SEM-VII : 7.97 SEM-VIII : 8.00 SEM-IX : 7.89 SEM-X : 9.06  
CGPT: 6.76

Q:O. 5042A, Q:O. 5043A, Q:O. 5045A, Q:O. 5046A, Q:O. 5047A, Q:O. 5048A, Q:O. 5049A, Q:O. 5050A, Q:O. 5051A, Q:O. 5052A, Q:O. 5053A, Q:O. 5054A, Q:O. 5055A, Q:O. 5056A, Q:O. 5057A, Q:O. 5058A, Q:O. 5059A, Q:O. 5060A, Q:O. 5061A, Q:O. 5062A, Q:O. 5063A, Q:O. 5064A, Q:O. 5065A, Q:O. 5066A, Q:O. 5067A, Q:O. 5068A, Q:O. 5069A, Q:O. 5070A, Q:O. 5071A, Q:O. 5072A, Q:O. 5073A, Q:O. 5074A, Q:O. 5075A, Q:O. 5076A, Q:O. 5077A, Q:O. 5078A, Q:O. 5079A, Q:O. 5080A, Q:O. 5081A, Q:O. 5082A, Q:O. 5083A, Q:O. 5084A, Q:O. 5085A, Q:O. 5086A, Q:O. 5087A, Q:O. 5088A, Q:O. 5089A, Q:O. 5090A, Q:O. 5091A, Q:O. 5092A, Q:O. 5093A, Q:O. 5094A, Q:O. 5095A, Q:O. 5096A, Q:O. 5097A, Q:O. 5098A, Q:O. 5099A, Q:O. 5100A, Q:O. 5101A, Q:O. 5102A, Q:O. 5103A, Q:O. 5104A, Q:O. 5105A, Q:O. 5106A, Q:O. 5107A, Q:O. 5108A, Q:O. 5109A, Q:O. 5110A, Q:O. 5111A, Q:O. 5112A, Q:O. 5113A, Q:O. 5114A, Q:O. 5115A, Q:O. 5116A, Q:O. 5117A, Q:O. 5118A, Q:O. 5119A, Q:O. 5120A, Q:O. 5121A, Q:O. 5122A, Q:O. 5123A, Q:O. 5124A, Q:O. 5125A, Q:O. 5126A, Q:O. 5127A, Q:O. 5128A, Q:O. 5129A, Q:O. 5130A, Q:O. 5131A, Q:O. 5132A, Q:O. 5133A, Q:O. 5134A, Q:O. 5135A, Q:O. 5136A, Q:O. 5137A, Q:O. 5138A, Q:O. 5139A, Q:O. 5140A, Q:O. 5141A, Q:O. 5142A, Q:O. 5143A, Q:O. 5144A, Q:O. 5145A, Q:O. 5146A, Q:O. 5147A, Q:O. 5148A, Q:O. 5149A, Q:O. 5150A, Q:O. 5151A, Q:O. 5152A, Q:O. 5153A, Q:O. 5154A, Q:O. 5155A, Q:O. 5156A, Q:O. 5157A, Q:O. 5158A, Q:O. 5159A, Q:O. 5160A, Q:O. 5161A, Q:O. 5162A, Q:O. 5163A, Q:O. 5164A, Q:O. 5165A, Q:O. 5166A, Q:O. 5167A, Q:O. 5168A, Q:O. 5169A, Q:O. 5170A, Q:O. 5171A, Q:O. 5172A, Q:O. 5173A, Q:O. 5174A, Q:O. 5175A, Q:O. 5176A, Q:O. 5177A, Q:O. 5178A, Q:O. 5179A, Q:O. 5180A, Q:O. 5181A, Q:O. 5182A, Q:O. 5183A, Q:O. 5184A, Q:O. 5185A, Q:O. 5186A, Q:O. 5187A, Q:O. 5188A, Q:O. 5189A, Q:O. 5190A, Q:O. 5191A, Q:O. 5192A, Q:O. 5193A, Q:O. 5194A, Q:O. 5195A, Q:O. 5196A, Q:O. 5197A, Q:O. 5198A, Q:O. 5199A, Q:O. 5200A, Q:O. 5201A, Q:O. 5202A, Q:O. 5203A, Q:O. 5204A, Q:O. 5205A, Q:O. 5206A, Q:O. 5207A, Q:O. 5208A, Q:O. 5209A, Q:O. 5210A, Q:O. 5211A, Q:O. 5212A, Q:O. 5213A, Q:O. 5214A, Q:O. 5215A, Q:O. 5216A, Q:O. 5217A, Q:O. 5218A, Q:O. 5219A, Q:O. 5220A, Q:O. 5221A, Q:O. 5222A, Q:O. 5223A, Q:O. 5224A, Q:O. 5225A, Q:O. 5226A, Q:O. 5227A, Q:O. 5228A, Q:O. 5229A, Q:O. 5230A, Q:O. 5231A, Q:O. 5232A, Q:O. 5233A, Q:O. 5234A, Q:O. 5235A, Q:O. 5236A, Q:O. 5237A, Q:O. 5238A, Q:O. 5239A, Q:O. 5240A, Q:O. 5241A, Q:O. 5242A, Q:O. 5243A, Q:O. 5244A, Q:O. 5245A, Q:O. 5246A, Q:O. 5247A, Q:O. 5248A, Q:O. 5249A, Q:O. 5250A, Q:O. 5251A, Q:O. 5252A, Q:O. 5253A, Q:O. 5254A, Q:O. 5255A, Q:O. 5256A, Q:O. 5257A, Q:O. 5258A, Q:O. 5259A, Q:O. 5260A, Q:O. 5261A, Q:O. 5262A, Q:O. 5263A, Q:O. 5264A, Q:O. 5265A, Q:O. 5266A, Q:O. 5267A, Q:O. 5268A, Q:O. 5269A, Q:O. 5270A, Q:O. 5271A, Q:O. 5272A, Q:O. 5273A, Q:O. 5274A, Q:O. 5275A, Q:O. 5276A, Q:O. 5277A, Q:O. 5278A, Q:O. 5279A, Q:O. 5280A, Q:O. 5281A, Q:O. 5282A, Q:O. 5283A, Q:O. 5284A, Q:O. 5285A, Q:O. 5286A, Q:O. 5287A, Q:O. 5288A, Q:O. 5289A, Q:O. 5290A, Q:O. 5291A, Q:O. 5292A, Q:O. 5293A, Q:O. 5294A, Q:O. 5295A, Q:O. 5296A, Q:O. 5297A, Q:O. 5298A, Q:O. 5299A, Q:O. 5300A, Q:O. 5301A, Q:O. 5302A, Q:O. 5303A, Q:O. 5304A, Q:O. 5305A, Q:O. 5306A, Q:O. 5307A, Q:O. 5308A, Q:O. 5309A, Q:O. 5310A, Q:O. 5311A, Q:O. 5312A, Q:O. 5313A, Q:O. 5314A, Q:O. 5315A, Q:O. 5316A, Q:O. 5317A, Q:O. 5318A, Q:O. 5319A, Q:O. 5320A, Q:O. 5321A, Q:O. 5322A, Q:O. 5323A, Q:O. 5324A, Q:O. 5325A, Q:O. 5326A, Q:O. 5327A, Q:O. 5328A, Q:O. 5329A, Q:O. 5330A, Q:O. 5331A, Q:O. 5332A, Q:O. 5333A, Q:O. 5334A, Q:O. 5335A, Q:O. 5336A, Q:O. 5337A, Q:O. 5338A, Q:O. 5339A, Q:O. 5340A, Q:O. 5341A, Q:O. 5342A, Q:O. 5343A, Q:O. 5344A, Q:O. 5345A, Q:O. 5346A, Q:O. 5347A, Q:O. 5348A, Q:O. 5349A, Q:O. 5350A, Q:O. 5351A, Q:O. 5352A, Q:O. 5353A, Q:O. 5354A, Q:O. 5355A, Q:O. 5356A, Q:O. 5357A, Q:O. 5358A, Q:O. 5359A, Q:O. 5360A, Q:O. 5361A, Q:O. 5362A, Q:O. 5363A, Q:O. 5364A, Q:O. 5365A, Q:O. 5366A, Q:O. 5367A, Q:O. 5368A, Q:O. 5369A, Q:O. 5370A, Q:O. 5371A, Q:O. 5372A, Q:O. 5373A, Q:O. 5374A, Q:O. 5375A, Q:O. 5376A, Q:O. 5377A, Q:O. 5378A, Q:O. 5379A, Q:O. 5380A, Q:O. 5381A, Q:O. 5382A, Q:O. 5383A, Q:O. 5384A, Q:O. 5385A, Q:O. 5386A, Q:O. 5387A, Q:O. 5388A, Q:O. 5389A, Q:O. 5390A, Q:O. 5391A, Q:O. 5392A, Q:O. 5393A, Q:O. 5394A, Q:O. 5395A, Q:O. 5396A, Q:O. 5397A, Q:O. 5398A, Q:O. 5399A, Q:O. 5400A, Q:O. 5401A, Q:O. 5402A, Q:O. 5403A, Q:O. 5404A, Q:O. 5405A, Q:O. 5406A, Q:O. 5407A, Q:O. 5408A, Q:O. 5409A, Q:O. 5410A, Q:O. 5411A, Q:O. 5412A, Q:O. 5413A, Q:O. 5414A, Q:O. 5415A, Q:O. 5416A, Q:O. 5417A, Q:O. 5418A, Q:O. 5419A, Q:O. 5420A, Q:O. 5421A, Q:O. 5422A, Q:O. 5423A, Q:O. 5424A, Q:O. 5425A, Q:O. 5426A, Q:O. 5427A, Q:O. 5428A, Q:O. 5429A, Q:O. 5430A, Q:O. 5431A, Q:O. 5432A, Q:O. 5433A, Q:O. 5434A, Q:O. 5435A, Q:O. 5436A, Q:O. 5437A, Q:O. 5438A, Q:O. 5439A, Q:O. 5440A, Q:O. 5441A, Q:O. 5442A, Q:O. 5443A, Q:O. 5444A, Q:O. 5445A, Q:O. 5446A, Q:O. 5447A, Q:O. 5448A, Q:O. 5449A, Q:O. 5450A, Q:O. 5451A, Q:O. 5452A, Q:O. 5453A, Q:O. 5454A, Q:O. 5455A, Q:O. 5456A, Q:O. 5457A, Q:O. 5458A, Q:O. 5459A, Q:O. 5460A, Q:O. 5461A, Q:O. 5462A, Q:O. 5463A, Q:O. 5464A, Q:O. 5465A, Q:O. 5466A, Q:O. 5467A, Q:O. 5468A, Q:O. 5469A, Q:O. 5470A, Q:O. 5471A, Q:O. 5472A, Q:O. 5473A, Q:O. 5474A, Q:O. 5475A, Q:O. 5476A, Q:O. 5477A, Q:O. 5478A, Q:O. 5479A, Q:O. 5480A, Q:O. 5481A, Q:O. 5482A, Q:O. 5483A, Q:O. 5484A, Q:O. 5485A, Q:O. 5486A, Q:O. 5487A, Q:O. 5488A, Q:O. 5489A, Q:O. 5490A, Q:O. 5491A, Q:O. 5492A, Q:O. 5493A, Q:O. 5494A, Q:O. 5495A, Q:O. 5496A, Q:O. 5497A, Q:O. 5498A, Q:O. 5499A, Q:O. 5500A, Q:O. 5501A, Q:O. 5502A, Q:O. 5503A, Q:O. 5504A, Q:O. 5505A, Q:O. 5506A, Q:O. 5507A, Q:O. 5508A, Q:O. 5509A, Q:O. 5510A, Q:O. 5511A, Q:O. 5512A, Q:O. 5513A, Q:O. 5514A, Q:O. 5515A, Q:O. 5516A, Q:O. 5517A, Q:O. 5518A, Q:O. 5519A, Q:O. 5520A, Q:O. 5521A, Q:O. 5522A, Q:O. 5523A, Q:O. 5524A, Q:O. 5525A, Q:O. 5526A, Q:O. 5527A, Q:O. 5528A, Q:O. 5529A, Q:O. 5530A, Q:O. 5531A, Q:O. 5532A, Q:O. 5533A, Q:O. 5534A, Q:O. 5535A, Q:O. 5536A, Q:O. 5537A, Q:O. 5538A, Q:O. 5539A, Q:O. 5540A, Q:O. 5541A, Q:O. 5542A, Q:O. 5543A, Q:O. 5544A, Q:O. 5545A, Q:O. 5546A, Q:O. 5547A, Q:O. 5548A, Q:O. 5549A, Q:O. 5550A, Q:O. 5551A, Q:O. 5552A, Q:O. 5553A, Q:O. 5554A, Q:O. 5555A, Q:O. 5556A, Q:O. 5557A, Q:O. 5558A, Q:O. 5559A, Q:O. 5560A, Q:O. 5561A, Q:O. 5562A, Q:O. 5563A, Q:O. 5564A, Q:O. 5565A, Q:O. 5566A, Q:O. 5567A, Q:O. 5568A, Q:O. 5569A, Q:O. 5570A, Q:O. 5571A, Q:O. 5572A, Q:O. 5573A, Q:O. 5574A, Q:O. 5575A, Q:O. 5576A, Q:O. 5577A, Q:O. 5578A, Q:O. 5579A, Q:O. 5580A, Q:O. 5581A, Q:O. 5582A, Q:O. 5583A, Q:O. 5584A, Q:O. 5585A, Q:O. 5586A, Q:O. 5587A, Q:O. 5588A, Q:O. 5589A, Q:O. 5590A, Q:O. 5591A, Q:O. 5592A, Q:O. 5593A, Q:O. 5594A, Q:O. 5595A, Q:O. 5596A, Q:O. 5597A, Q:O. 5598A, Q:O. 5599A, Q:O. 5600A, Q:O. 5601A, Q:O. 5602A, Q:O. 5603A, Q:O. 5604A, Q:O. 5605A, Q:O. 5606A, Q:O. 5607A, Q:O. 5608A, Q:O. 5609A, Q:O. 5610A, Q:O. 5611A, Q:O. 5612A, Q:O. 5613A, Q:O. 5614A, Q:O. 5615A, Q:O. 5616A, Q:O. 5617A, Q:O. 5618A, Q:O. 5619A, Q:O. 5620A, Q:O. 5621A, Q:O. 5622A, Q:O. 5623A, Q:O. 5624A, Q:O. 5625A, Q:O. 5626A, Q:O. 5627A, Q:O. 5628A, Q:O. 5629A, Q:O. 5630A, Q:O. 5631A, Q:O. 5632A, Q:O. 5633A, Q:O. 5634A, Q:O. 5635A, Q:O. 5636A, Q:O. 5637A, Q:O. 5638A, Q:O. 5639A, Q:O. 5640A, Q:O. 5641A, Q:O. 5642A, Q:O. 5643A, Q:O. 5644A, Q:O. 5645A, Q:O. 5646A, Q:O. 5647A, Q:O. 5648A, Q:O. 5649A, Q:O. 5650A, Q:O. 5651A, Q:O. 5652A, Q:O. 5653A, Q:O. 5654A, Q:O. 5655A, Q:O. 5656A, Q:O. 5657A, Q:O. 5658A, Q:O. 5659A, Q:O. 5660A, Q:O. 5661A, Q:O. 5662A, Q:O. 5663A, Q:O. 5664A, Q:O. 5665A, Q:O. 5666A, Q:O. 5667A, Q:O. 5668A, Q:O. 5669A, Q:O. 5670A, Q:O. 5671A, Q:O. 5672A, Q:O. 5673A, Q:O. 5674A, Q:O. 5675A, Q:O. 5676A, Q:O. 5677A, Q:O. 5678A, Q:O. 5679A, Q:O. 5680A, Q:O. 5681A, Q:O. 5682A, Q:O. 5683A, Q:O. 5684A, Q:O. 5685A, Q:O. 5686A, Q:O. 5687A, Q:O. 5688A, Q:O. 5689A, Q:O. 5690A, Q:O. 5691A, Q:O. 5692A, Q:O. 5693A, Q:O. 5694A, Q:O. 5695A, Q:O. 5696A, Q:O. 5697A, Q:O. 5698A, Q:O. 5699A, Q:O. 5700A, Q:O. 5701A, Q:O. 5702A, Q:O. 5703A, Q:O. 5704A, Q:O. 5705A, Q:O. 5706A, Q:O. 5707A, Q:O. 5708A, Q:O. 5709A, Q:O. 5710A, Q:O. 5711A, Q:O. 5712A, Q:O. 5713A, Q:O. 5714A, Q:O. 5715A, Q:O. 5716A, Q:O. 5717A, Q:O. 5718A, Q:O. 5719A, Q:O. 5720A, Q:O. 5721A, Q:O. 5722A, Q:O. 5723A, Q:O. 5724A, Q:O. 5725A, Q:O. 5726A, Q:O. 5727A, Q:O. 5728A, Q:O. 5729A, Q:O. 5730A, Q:O. 5731A, Q:O. 5732A, Q:O. 5733A, Q:O. 5734A, Q:O. 5735A, Q:O. 5736A, Q:O. 5737A, Q:O. 5738A, Q:O. 5739A, Q:O. 5740A, Q:O. 5741A, Q:O. 5742A, Q:O. 5743A, Q:O. 5744A, Q:O. 5745A, Q:O. 5746A, Q:O. 5747A, Q:O. 5748A, Q:O. 5749A, Q:O. 5750A, Q:O. 5751A, Q:O. 5752A, Q:O. 5753A, Q:O. 5754A, Q:O. 5755A, Q:O. 5756A, Q:O. 5757A, Q:O. 5758A, Q:O. 5759A, Q:O. 5760A, Q:O. 5761A, Q:O. 5762A, Q:O. 5763A, Q:O. 5764A, Q:O. 5765A, Q:O. 5766A, Q:O. 5767A, Q:O. 5768A, Q:O. 5769A, Q:O. 5770A, Q:O. 5771A, Q:O. 5772A, Q:O. 5773A, Q:O. 5774A, Q:O. 5775A, Q:O. 5776A, Q:O. 5777A, Q:O. 5778A, Q:O. 5779A, Q:O. 5780A, Q:O. 5781A, Q:O. 5782A, Q:O. 5783A, Q:O. 5784A, Q:O. 5785A, Q:O. 5786A, Q:O. 5787A, Q:O. 5788A, Q:O. 5789A, Q:O. 5790A, Q:O. 5791A, Q:O. 5792A, Q:O. 5793A, Q:O. 5794A, Q:O. 5795A, Q:O. 5796A, Q:O. 5797A, Q:O. 5798A, Q:O. 5799A, Q:O. 5800A, Q:O. 5801A, Q:O. 5802A, Q:O. 5803A, Q:O. 5804A, Q:O. 5805A, Q:O. 5806A, Q:O. 5807A, Q:O. 5808A, Q:O. 5809A, Q:O. 5810A, Q:O. 5811A, Q:O. 5812A, Q:O. 5813A, Q:O. 5814A, Q:O. 5815A, Q:O. 5816A, Q:O. 5817A, Q:O. 5818A, Q:O. 5819A, Q:O. 5820A, Q:O. 5821A, Q:O. 5822A, Q:O. 5823A, Q:O. 5824A, Q:O. 5825A, Q:O. 5826A, Q:O. 5827A, Q:O. 5828A, Q:O. 5829A, Q:O. 5830A, Q:O. 5831A, Q:O. 5832A, Q:O. 5833A, Q:O. 5834A, Q:O. 5835A, Q:O. 5836A, Q:O. 5837A, Q:O. 5838A, Q:O. 5839A, Q:O. 5840A, Q:O. 5841A, Q:O. 5842A, Q:O. 5843A, Q:O. 5844A, Q:O. 5845A, Q:O. 5846A, Q:O. 5847A, Q:O. 5848A, Q:O. 5849A, Q:O. 5850A, Q:O. 5851A, Q:O. 5852A, Q:O. 5853A, Q:O. 5854A, Q:O. 5855A, Q:O. 5856A, Q:O. 5857A, Q:O. 5858A, Q:O. 5859A, Q:O. 5860A, Q:O. 5861A, Q:O. 5862A, Q:O. 5863A, Q:O. 5864A, Q:O. 5865A, Q:O. 5866A, Q:O. 5867A, Q:O. 5868A, Q:O. 5869A, Q:O. 5870A, Q:O. 5871A, Q:O. 5872A, Q:O. 5873A, Q:O. 5874A, Q:O. 5875A, Q:O. 5876A, Q:O. 5877A, Q:O. 5878A, Q:O. 5879A, Q:O. 5880A, Q:O. 5881A, Q:O. 5882A, Q:O. 5883A, Q:O. 5884A, Q:O. 5885A, Q:O. 5886A, Q:O. 5887A, Q:O. 5888A, Q:O. 5889A, Q:O. 5890A, Q:O. 5891A, Q:O. 5892A, Q:O. 5893A, Q:O. 5894A,

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) CBSCS EXAMINATION-APRIL 2022  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 18, 2022  
PAGE : 75

SEAT	NAME OF CANDIDATE	CENTRE	<--PAPER-I/V-->			<--PAPER-II/VI-->			<--PAPER-III/VII-->			<--PAPER-IV-->										
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPT-X	RELT				
Sub.:1	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)	Sub.:2	ARCH.REP-4	DETAILS-8	(IN:100/50, EX:100/50)	(Cr.:6)	Sub.:3	ARCH.THEOR-ES-4	(IN:50/25) (Cr.:2)	Sub.:4	PROF. PRACT-3	(IN:50/25) (Cr.:3)	Sub.:5	ADV.BLDG.CONSTR	STRU	(IN:100/50)	(Cr.:3)	Sub.:6	DESIGN DISS.-2	(IN:200/100, EX:200/100)	(Cr.:16)
Sub.:7	ELECTIVE - 10	(IN:100/50) (Cr.:3)																				

8113	WAGHMODE SONALI SUDHIR HEMA	4 NAVI-MUMBAI	62E	C	7	3	21	65E	50E	115	D	6	6	36	25E	E	5	2	10	29E	D	E	3	19
			53E	D	6	3	18	102E	70F	172	--	--	--	--	50E	E	5	3	15	5.78	GRAND TOTAL:	508		
			SGPT :-	SEM-I :	7.72	SEM-II :	6.97	SEM-III :	5.56	SEM-IV :	6.3E	SEM-V :	5.78											
			SGPI :-	SEM-VI :	5.97	SEM-VII :	7.13	SEM-VIII :	7.00	SEM-IX :	6.7E	SEM-X :	0.00											
			SGPI :-	SEM-VI :	6.50	SEM-VII :	6.56	SEM-VIII :	7.00	SEM-IX :	6.2E	SEM-X :	5.28											
			50+	E	5	3	15	50+	E	5	6	30	30+	C	7	2	14	25+	E	5	3	15		
			60+	C	7	3	21	104+	100	204	E	5	16	80	50+	E	5	3	15	GRAND TOTAL:	519			
			SGPI :-	SEM-I :	6.78	SEM-II :	7.22	SEM-III :	7.03	SEM-IV :	6.44	SEM-V :	6.19											
			SGPI :-	SEM-VI :	6.50	SEM-VII :	6.56	SEM-VIII :	7.00	SEM-IX :	6.2E	SEM-X :	5.28											
			CGPI :																					

8:0.5042A; 8:0.5043A; \*8:0.5045A; 8:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSERS; F:FAIL;F:EXMP CAN BE CLAIMED; PP:RESERVED; -:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE 0:75% & ABOVE;  
GRADE F:GRADE POINTS 5 TO 5.99; GRADE E:GRADE POINTS 6 TO 6.99; GRADE D:GRADE POINTS 7 TO 7.99; GRADE C:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE 0:GRADE POINTS 10; C:CREDIT POINTS; 5:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:O.5050.  
Course Grades:-Grade-0(Outstanding) = 10pt.; Grade-A(Excellent) = 9pt.; Grade-B(Very Good) = 8pt.; Grade-C(Good) = 7pt.; Grade-D(Fair) = 6pt.; Grade-E(Satisfactory) = 5pt.; Grade-F(Fail) = 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Bairpada Complex, Opp. Kharghar  
Rly. Station, C.B.D. Navi Mumbai

Handwritten notes and signatures in the bottom section of the page, including the name 'MIV' and other illegible markings.

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RSLT											
			IN	GR	GP	CR	C+G	IN	EX	TOP	GR	GP	CR	C+G													
12880	A G LAKSHMI GEETHA 4 NAVI-MUMBAI		60	C	7	3	21	65	60	125	C	7	6	42	30	C	7	2	14	36	A	9	3	27	6.39	P	
			58	D	6	3	18	140	150	290	A	9	16	144	76	O	10	3	30	8.86							
			SGPI :-	SEM-I :	7.39	SEM-II :	7.58	SEM-III :	7.92	SEM-IV :	8.03	SEM-V :	8.86														
			SGPI :-	SEM-VI :	9.39	SEM-VII :	8.83	SEM-VIII :	8.00	SEM-IX :	8.56	SEM-X :	8.39														
			CGPI :																								
			Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3)																								
			Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3)																								
			Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)																								
			Sub.:2. ARCH. REP. & DETAILS-8 (IN:100/50, EX:100/50) (Cr.:6)																								
			Sub.:5. ADV. BLDG. CONST. & STRU (IN:100/50) (Cr.:3)																								
			Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:2)																								
			Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cr.:16)																								
12881	ABHILASH K S 4 NAVI-MUMBAI		61	C	7	3	21	65	56	121	C	7	6	42	37	A	9	2	18	40	O	10	3	30	7.53	P	
			50	C	7	3	21	138	110	248	C	7	16	112	70	A	9	3	27	7.89							
			SGPI :-	SEM-I :	6.89	SEM-II :	7.03	SEM-III :	6.31	SEM-IV :	7.25	SEM-V :	7.89														
			SGPI :-	SEM-VI :	7.92	SEM-VII :	7.97	SEM-VIII :	9.00	SEM-IX :	7.78	SEM-X :	7.53														
			CGPI :																								
12882	ACHREKAR SHALMALI SANJAY CHARULATA 4 NAVI-MUMBAI		75	O	10	3	30	70	56	126	C	7	6	42	34	B	8	2	16	35	A	9	3	27	8.25	P	
			65	B	8	3	24	144	120	264	B	8	16	128	79	O	10	3	30	8.50							
			SGPI :-	SEM-I :	8.67	SEM-II :	7.75	SEM-III :	8.08	SEM-IV :	8.69	SEM-V :	8.50														
			SGPI :-	SEM-VI :	8.69	SEM-VII :	8.50	SEM-VIII :	7.00	SEM-IX :	8.44	SEM-X :	8.25														
			CGPI :																								
12883	AGRAMAL ABHISHEK VINOD SANGITA 4 NAVI-MUMBAI		51	E	5	3	15	50	68	118	D	6	6	36	28	D	6	2	12	25	E	5	3	15	6.89	P	
			58	D	6	3	18	109	160	269	B	8	16	128	65	B	8	3	24	7.81							
			SGPI :-	SEM-I :	8.92	SEM-II :	7.36	SEM-III :	8.50	SEM-IV :	8.89	SEM-V :	7.81														
			SGPI :-	SEM-VI :	7.97	SEM-VII :	7.00	SEM-VIII :	8.00	SEM-IX :	5.89	SEM-X :	6.89														
			CGPI :																								
12886	AGRAMAT DEEPIKA SHYAMDAS SARIYA 4 NAVI-MUMBAI		50	E	5	3	15	50	50	100	E	5	6	30	36	A	9	2	18	36	A	9	3	27	6.25	P	
			59	D	6	3	18	128	100	228	D	6	16	96	62	C	7	3	21	7.08							
			SGPI :-	SEM-I :	6.58	SEM-II :	5.47	SEM-III :	5.28	SEM-IV :	7.31	SEM-V :	7.08														
			SGPI :-	SEM-VI :	7.50	SEM-VII :	7.53	SEM-VIII :	5.00	SEM-IX :	6.31	SEM-X :	6.25														
			CGPI :																								
12893	AMRU KONAL JAGANNATH SUCHITA 4 NAVI-MUMBAI		66	B	8	3	24	68	53	121	C	7	6	42	33	B	8	2	16	36	A	9	3	27	7.03	P	
			62	C	7	3	21	124	110	234	D	6	16	96	71	A	9	3	27	7.97							
			SGPI :-	SEM-I :	6.97	SEM-II :	6.03	SEM-III :	5.25	SEM-IV :	6.08	SEM-V :	7.97														
			SGPI :-	SEM-VI :	8.44	SEM-VII :	8.11	SEM-VIII :	10.00	SEM-IX :	8.19	SEM-X :	7.03														
			CGPI :																								
12905	BAIKAR HRISHIKESH UNMESH RUPALI 4 NAVI-MUMBAI		68	B	8	3	24	56	56	112	D	6	6	36	34	B	8	2	16	28	D	6	3	18	7.14	P	
			62	C	7	3	21	110	133	243	C	7	16	112	79	O	10	3	30	7.78							
			SGPI :-	SEM-I :	8.06	SEM-II :	6.72	SEM-III :	6.89	SEM-IV :	6.81	SEM-V :	7.78														
			SGPI :-	SEM-VI :	8.00	SEM-VII :	7.97	SEM-VIII :	8.00	SEM-IX :	6.72	SEM-X :	7.14														
			CGPI :																								
12907	BANE HARSH MAHESH RASHMIKA 4 NAVI-MUMBAI		50	E	5	3	15	50	50	100	E	5	6	30	25	E	5	2	10	35	A	9	3	27	5.42	P	
			58	D	6	3	18	104	110	214	E	5	16	80	50	E	5	3	15	6.72							
			SGPI :-	SEM-I :	5.89	SEM-II :	7.19	SEM-III :	5.42	SEM-IV :	6.58	SEM-V :	6.72														
			SGPI :-	SEM-VI :	7.11	SEM-VII :	6.42	SEM-VIII :	10.00	SEM-IX :	5.31	SEM-X :	5.42														
			CGPI :																								

0:0.5042A: 0:0.5043A: \*0:0.5045A: #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia; /AA/ABS: ABSENT; NULL:NULL & VOID;  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; AAC:ADMISSION CANCELED; RPV:PROVISIONAL; FCC:D.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt.,Grade-F(Fail)= 0pt.



ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Palpada Complex, Opp. Kharadi  
Fly. Station, S. D. New Mumbai

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RESLT
Sub.:1.	ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)																							
Sub.:4.	PROF. FRACT-3	(IN:50/25) (Cr.:3)																							
Sub.:7.	ELECTIVE - 10	(IN:100/50) (Cr.:3)																							
Sub.:2.	ARCH. REF. & DETAILING-8	(IN:100/50, EX:100/50) (Cr.:6)																							
Sub.:5.	ADV. BLDG. CONST. STRU	(IN:100/50) (Cr.:3)																							
Sub.:3.	ARCH. THEORIES-4	(IN:50/25) (Cr.:2)																							
Sub.:6.	DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)																							

12908 /BARAKDE SHIVANI PRASHANT ASMITA  
4 NAVI-MUMBAI  
81 O 10 3 30 73 73 146 A 9 6 54 32 C 7 2 14 37 A 9 3 27 9.25  
68 B 8 3 24 164 150 314 O 10 16 160 68 B 3 24 GRAND TOTAL: 746  
SGPI :- SEM-I : 8.81 SEM-II : 7.28 SEM-III : 7.19 SEM-IV : 8.69 SEM-V : 8.83  
SGPI :- SEM-VI : 9.39 SEM-VII : 8.69 SEM-VIII : 9.00 SEM-IX : 6.78 SEM-X : 9.25 CGPI: 8.36

12910 /BARABDE SHIVANI PRASHANT ASMITA  
4 NAVI-MUMBAI  
62 C 7 3 21 70 52 122 C 7 6 42 32 C 7 2 14 37 A 9 3 27 7.69  
56 D 6 3 18 120 149 269 B 8 16 128 72 A 9 3 27 GRAND TOTAL: 650  
SGPI :- SEM-I : 7.17 SEM-II : 7.33 SEM-III : 6.39 SEM-IV : 6.97 SEM-V : 7.92  
SGPI :- SEM-VI : 8.19 SEM-VII : 6.61 SEM-VIII : 7.00 SEM-IX : 6.56 SEM-X : 7.69 CGPI: 7.19

12911 BARDE SANCHIT SURESH MAYA  
4 NAVI-MUMBAI  
58 D 6 3 18 58 52 110 D 6 6 36 31 C 7 2 14 28 D 6 3 18 5.53  
53 E 5 3 15 108 104 212 E 5 16 80 55 D 6 3 18 GRAND TOTAL: 547  
SGPI :- SEM-I : 6.44 SEM-II : 5.19 SEM-III : 5.00 SEM-IV : 6.08 SEM-V : 6.03  
SGPI :- SEM-VI : 5.96 SEM-VII : 5.00 SEM-VIII : 7.00 SEM-IX : 6.53 SEM-X : 5.53 CGPI: 5.80

12912 BHAGAT ONKAR VILAS JAYSHREE  
4 NAVI-MUMBAI  
54 E 5 3 15 58 55 113 D 6 6 36 30 C 7 2 14 45 O 10 3 30 7.69  
65 B 8 3 24 132 130 262 B 8 16 128 76 O 10 3 30 GRAND TOTAL: 645  
SGPI :- SEM-I : 6.67 SEM-II : 6.14 SEM-III : 6.11 SEM-IV : 6.64 SEM-V : 7.67  
SGPI :- SEM-VI : 6.44 SEM-VII : 7.14 SEM-VIII : 7.00 SEM-IX : 7.44 SEM-X : 7.69 CGPI: 6.89

12915 /BHAVAR PRITI BALASHEB SANGITA  
4 NAVI-MUMBAI  
57 D 6 3 18 70 55 125 C 7 6 42 35 A 9 2 18 40 O 10 3 30 7.28  
53 E 5 3 15 143 110 253 C 7 16 112 74 A 9 3 27 GRAND TOTAL: 637  
SGPI :- SEM-I : 7.69 SEM-II : 7.36 SEM-III : 6.97 SEM-IV : 7.67 SEM-V : 7.17  
SGPI :- SEM-VI : 7.08 SEM-VII : 7.42 SEM-VIII : 8.00 SEM-IX : 8.06 SEM-X : 7.28 CGPI: 7.44

12917 /BHILARE MRUNMAYEE PRAKASH SAYALI  
4 NAVI-MUMBAI  
50 E 5 3 15 50 70 120 C 7 6 42 30 C 7 2 14 42 O 10 3 30 7.33  
67 B 8 3 24 110 140 250 C 7 16 112 73 A 9 3 27 GRAND TOTAL: 632  
SGPI :- SEM-I : 7.08 SEM-II : 6.64 SEM-III : 6.17 SEM-IV : 8.50 SEM-V : 8.22  
SGPI :- SEM-VI : 7.53 SEM-VII : 7.89 SEM-VIII : 9.00 SEM-IX : 6.81 SEM-X : 7.33 CGPI: 7.43

12918 BHOI NANDAKISHOR MADAN MADHAVI  
4 NAVI-MUMBAI  
70 A 9 3 27 63 50 113 D 6 6 36 31 C 7 2 14 30 C 7 3 21 7.17  
60 C 7 3 21 136 106 242 C 7 16 112 71 A 9 3 27 GRAND TOTAL: 617  
SGPI :- SEM-I : 7.83 SEM-II : 7.75 SEM-III : 6.69 SEM-IV : 7.36 SEM-V : 6.89  
SGPI :- SEM-VI : 6.58 SEM-VII : 6.83 SEM-VIII : 10.00 SEM-IX : 7.58 SEM-X : 7.17 CGPI: 7.32

12919 BHOIR AJINRYA BHUSHAN SAPNA  
4 NAVI-MUMBAI  
61 C 7 3 21 64 50 114 D 6 6 36 29 D 6 2 12 34 B 8 3 24 5.64  
54 E 5 3 15 100 100 200 E 5 16 80 52 E 5 3 15 GRAND TOTAL: 544  
SGPI :- SEM-I : 5.61 SEM-II : 5.61 SEM-III : 5.31 SEM-IV : 6.17 SEM-V : 7.61  
SGPI :- SEM-VI : 7.28 SEM-VII : 7.03 SEM-VIII : 8.00 SEM-IX : 6.28 SEM-X : 5.64 CGPI: 6.36

Q:O.5042A; Q:O.5043A; \*Q:O.5045A; #:O.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS 5 TO 5.99; GRADE E:GRADE POINTS 6 TO 6.99; GRADE D:GRADE POINTS 7 TO 7.99; GRADE C:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C: CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:O.5050.  
Course Grades:-Grade-(Outstanding)= 10pt.,Grade-(Excellent)= 9pt.,Grade-(Very Good)= 8pt.,Grade-(Good)= 7pt.,Grade-(Fair)= 6pt.,Grade-(Satisfactory)= 5pt., Grade-(Fail)= 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Relpada Complex, Opp. Kharghar  
Rly. Station, C.B.D. Navi Mumbai

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-X) CBSCS EXAMINATION-APRIL 2023  
COLLEGE: JtB Bharati Vidyapeeth's College of Architecture

JUNE 7, 2023  
PAGE : 60

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RESULT											
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G								
12921	BHOIR SUYESH RAMESH JYOSTNA 4 NAVI-MUMBAI		60	C	7	3	21	76	55	131	B	8	6	48	30	C	7	2	14	45	O	10	3	30	8.03	P	
			71	A	9	3	27	158	120	278	B	8	16	128	62	C	7	3	21	8.53							
			SGPI :-	SEM-I :	6.97	SEM-II :	7.47	SEM-III :	6.31	SEM-IV :	7.72	SEM-V :	8.53														
			SGPI :-	SEM-VI :	8.92	SEM-VII :	8.58	SEM-VIII :	10.00	SEM-IX :	8.56	SEM-X :	8.03														
			CGPI :																								
12923	BIDAYE ARYA AJITKUMAR VAISHALI 4 NAVI-MUMBAI		50	E	5	3	15	59	57	116	D	6	6	36	32	C	7	2	14	36	A	9	3	27	6.92	P	
			64	C	7	3	21	128	125	253	C	7	16	112	66	B	8	3	24	6.08							
			SGPI :-	SEM-I :	5.86	SEM-II :	5.89	SEM-III :	6.11	SEM-IV :	7.78	SEM-V :	6.08														
			SGPI :-	SEM-VI :	7.67	SEM-VII :	6.47	SEM-VIII :	8.00	SEM-IX :	6.83	SEM-X :	6.92														
			CGPI :																								
12925	BODDAR SAVALI VILAN ARCHANA 4 NAVI-MUMBAI		60	C	7	3	21	52	50	102	E	5	6	30	30	C	7	2	14	27	E	5	3	15	6.50	P	
			58	D	6	3	18	121	120	241	C	7	16	112	65	B	8	3	24	7.97							
			SGPI :-	SEM-I :	7.19	SEM-II :	7.39	SEM-III :	5.94	SEM-IV :	7.89	SEM-V :	7.97														
			SGPI :-	SEM-VI :	6.78	SEM-VII :	6.72	SEM-VIII :	6.00	SEM-IX :	6.61	SEM-X :	6.50														
			CGPI :																								
12928	CARDOSO AYUMI ADELBERTH PEARL 4 NAVI-MUMBAI		63	C	7	3	21	53	52	105	E	5	6	30	34	B	8	2	16	29	D	6	3	18	6.89	P	
			70	A	9	3	27	140	104	244	C	7	16	112	68	B	8	3	24	7.39							
			SGPI :-	SEM-I :	7.47	SEM-II :	6.50	SEM-III :	5.92	SEM-IV :	6.31	SEM-V :	7.39														
			SGPI :-	SEM-VI :	7.42	SEM-VII :	7.53	SEM-VIII :	8.00	SEM-IX :	7.64	SEM-X :	6.89														
			CGPI :																								
12929	CHANDIWAL SHUSHANSHU NITTIN PRITI 4 NAVI-MUMBAI		55	D	6	3	18	73	51	124	C	7	6	42	35	A	9	2	18	42	O	10	3	30	7.89	P	
			69	B	8	3	24	145	126	271	B	8	16	128	67	B	8	3	24	8.42							
			SGPI :-	SEM-I :	8.42	SEM-II :	8.83	SEM-III :	7.58	SEM-IV :	7.75	SEM-V :	8.42														
			SGPI :-	SEM-VI :	8.67	SEM-VII :	8.03	SEM-VIII :	9.00	SEM-IX :	7.67	SEM-X :	7.89														
			CGPI :																								
12930	CHANNE TEJAS SANJAY SANGITA 4 NAVI-MUMBAI		66	B	8	3	24	65	70	135	B	8	6	48	26	E	5	2	10	28	D	6	3	18	7.59	P	
			60	C	7	3	21	122	150	272	B	8	16	128	65	B	8	3	24	7.81							
			SGPI :-	SEM-I :	7.39	SEM-II :	7.92	SEM-III :	6.75	SEM-IV :	7.25	SEM-V :	7.81														
			SGPI :-	SEM-VI :	8.61	SEM-VII :	6.72	SEM-VIII :	7.00	SEM-IX :	6.33	SEM-X :	7.58														
			CGPI :																								
12932	CHAUDHULE AKSHAYA ARJUN SULOCHANA 4 NAVI-MUMBAI		73	A	9	3	27	68	55	123	C	7	6	42	35	A	9	2	18	35	A	9	3	27	7.44	P	
			54	E	5	3	15	127	120	247	C	7	16	112	73	A	9	3	27	7.50							
			SGPI :-	SEM-I :	6.78	SEM-II :	6.58	SEM-III :	5.67	SEM-IV :	6.33	SEM-V :	7.50														
			SGPI :-	SEM-VI :	7.58	SEM-VII :	7.67	SEM-VIII :	9.00	SEM-IX :	8.03	SEM-X :	7.44														
			CGPI :																								
12937	CHAVAN VRUSHALI SUBHASH JAYMALA 4 NAVI-MUMBAI		62	C	7	3	21	66	50	116	D	6	6	36	31	C	7	2	14	42	O	10	3	30	7.17	P	
			68	B	8	3	24	138	110	248	C	7	16	112	61	C	7	3	21	7.94							
			SGPI :-	SEM-I :	8.56	SEM-II :	8.94	SEM-III :	8.53	SEM-IV :	8.78	SEM-V :	7.94														
			SGPI :-	SEM-VI :	8.60	SEM-VII :	7.72	SEM-VIII :	8.00	SEM-IX :	8.22	SEM-X :	7.17														
			CGPI :																								

\*:O.5042A; #:O.5043A; #:O.5045A; #:O.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL/E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.; GPA:GRADE POINT AVERAGE-SUM OF CGP / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%; GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE; GRADE F:GRADE POINTS 5 TO 5.99; GRADE E:GRADE POINTS 6 TO 6.99; GRADE D:GRADE POINTS 7 TO 7.99; GRADE C:GRADE POINTS 8 TO 8.99; GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:O.5050; Course Grades:-Grade-O(Outstanding)- 10pt.;Grade-A(Excellent)= 9pt.;Grade-B(Very Good)= 8pt.;Grade-C(Good)= 7pt.;Grade-D(Fair)= 6pt.;Grade-E(Satisfactory)= 5pt.; Grade-F(Fail)= 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Rajpada Complex, Opp. Kharjhar  
Rly Station, C E D, Nav Mumbai

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-XI) CBSCS EXAMINATION-APRIL 2023  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 7, 2023  
PAGE: 61

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV												
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RSLT			
12936	CHODHARY VINOD KANARAW MANJUV 4 NAVI-MUMBAI		64	C	7	3	21	58	50	108	E	5	6	30	34	B	8	2	16	35	A	9	3	27
			53	E	5	3	15	102	100	202	E	5	16	80	50	E	5	3	15	6.53	GRAND TOTAL:	546	5.67	
			SGPI :-	SEM-I :	6.17	SEM-II :	5.94	SEM-III :	5.75	SEM-IV :	6.42	SEM-V :	6.53	SEM-VI :	5.89	SEM-VII :	5.50	SEM-VIII :	7.00	SEM-IX :	6.08	SEM-X :	5.67	CGPI: 6.04
12942	DALVI SIDDIK SANJAY SAYALI 4 NAVI-MUMBAI		55	D	6	3	18	71	52	123	C	7	6	42	40	D	10	2	20	39	O	10	3	30
			65	B	8	3	24	139	108	247	C	7	16	112	76	O	10	3	30	8.47	GRAND TOTAL:	645	7.67	
			SGPI :-	SEM-I :	6.78	SEM-II :	6.19	SEM-III :	6.50	SEM-IV :	8.50	SEM-V :	8.47	SEM-VI :	7.72	SEM-VII :	7.78	SEM-VIII :	10.00	SEM-IX :	6.94	SEM-X :	7.67	CGPI: 7.52
12948	DESHMUKH PRUTHVIRAJ RAMCHANDRA JANNA KI 4 NAVI-MUMBAI		51	E	5	3	15	53	52	105	E	5	6	30	25	E	5	2	10	25	E	5	3	15
			55	D	6	3	18	132	135	267	B	8	16	128	58	D	6	3	18	7.08	GRAND TOTAL:	586	6.50	
			SGPI :-	SEM-I :	7.86	SEM-II :	7.75	SEM-III :	6.08	SEM-IV :	6.17	SEM-V :	7.08	SEM-VI :	6.03	SEM-VII :	6.67	SEM-VIII :	7.00	SEM-IX :	5.64	SEM-X :	6.50	CGPI: 6.6680.09
12950	DETHE PRACHI DHANANJAY PUSHPA 4 NAVI-MUMBAI		71	A	9	3	27	70	65	135	B	8	6	48	33	B	8	2	16	39	O	10	3	30
			62	C	7	3	21	150	150	300	O	10	16	160	71	A	9	3	27	7.58	GRAND TOTAL:	711	9.14	
			SGPI :-	SEM-I :	7.78	SEM-II :	7.31	SEM-III :	6.42	SEM-IV :	7.19	SEM-V :	7.58	SEM-VI :	7.47	SEM-VII :	7.36	SEM-VIII :	7.00	SEM-IX :	8.00	SEM-X :	9.14	CGPI: 7.56
12957	GAIKHAD DHANASHREE BHANUDAS SHILPA 4 NAVI-MUMBAI		66	B	8	3	24	67	58	125	C	7	6	42	35	A	9	2	18	35	A	9	3	27
			70	A	9	3	27	147	122	269	B	8	16	128	67	B	8	3	24	8.11	GRAND TOTAL:	657	8.06	
			SGPI :-	SEM-I :	7.64	SEM-II :	8.81	SEM-III :	8.25	SEM-IV :	9.50	SEM-V :	8.11	SEM-VI :	8.81	SEM-VII :	8.83	SEM-VIII :	10.00	SEM-IX :	9.03	SEM-X :	8.06	CGPI: 8.63
12961	GHAG TANMAY HEKANT MANSI 4 NAVI-MUMBAI		54	E	5	3	15	55	50	105	E	5	6	30	25	E	5	2	10	26	E	5	3	15
			50	E	5	3	15	102	105	207	E	5	16	80	50	E	5	3	15	5.00	GRAND TOTAL:	517	5.00	
			SGPI :-	SEM-I :	6.39	SEM-II :	6.14	SEM-III :	5.36	SEM-IV :	5.19	SEM-V :	5.00	SEM-VI :	5.25	SEM-VII :	6.17	SEM-VIII :	9.00	SEM-IX :	5.44	SEM-X :	5.00	CGPI: 5.71
12963	GOHEL KHUSHABU VINOD BHAVNA 4 NAVI-MUMBAI		60	C	7	3	21	61	65	126	C	7	6	42	37	A	9	2	18	41	O	10	3	30
			64	C	7	3	21	124	135	259	C	7	16	112	74	A	9	3	27	7.11	GRAND TOTAL:	661	7.53	
			SGPI :-	SEM-I :	7.44	SEM-II :	6.42	SEM-III :	6.19	SEM-IV :	5.67	SEM-V :	7.11	SEM-VI :	8.47	SEM-VII :	8.00	SEM-VIII :	9.00	SEM-IX :	6.53	SEM-X :	7.53	CGPI: 7.13
12964	GOKHALE SHAUNAK SAMIR VINIITA 4 NAVI-MUMBAI		72	A	9	3	27	80	55	135	B	8	6	48	32	C	7	2	14	30	C	7	3	21
			70	A	9	3	27	146	124	270	B	8	16	128	71	A	9	3	27	8.25	GRAND TOTAL:	680	8.11	
			SGPI :-	SEM-I :	6.06	SEM-II :	5.92	SEM-III :	5.08	SEM-IV :	5.28	SEM-V :	8.25	SEM-VI :	8.47	SEM-VII :	7.92	SEM-VIII :	10.00	SEM-IX :	8.06	SEM-X :	8.11	CGPI: 7.16

B.O. 5042A; B.O. 5043A; \*O. 5045A; \*O. 229; +EXMP. CARRIED; /: FEMALE; AA: ABSENT; F: PASSES; F: FAILS; EXMP CAN BE CLAIMED; RR: RESERVED; -: DYSLEXIA; AA/ABS: ABSENT; NULL: NULL & VOID; GPA: GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F: BELOW 50%; GRADE E: 50% & ABOVE AND BELOW 55%; GRADE D: 55% AND ABOVE AND BELOW 60%; GRADE C: 60% & ABOVE AND BELOW 65%; GRADE B: 65% & ABOVE AND BELOW 69%; GRADE A: 70% & ABOVE AND BELOW 75%; GRADE O: 75% & ABOVE; GRADE F: GRADE POINTS BELOW 5; GRADE E: GRADE POINTS 5 TO 5.99; GRADE D: GRADE POINTS 6 TO 6.99; GRADE C: GRADE POINTS 7 TO 7.99; GRADE B: GRADE POINTS 8 TO 8.99; GRADE A: GRADE POINTS 9 TO 9.99; GRADE O: GRADE POINTS 10; C: CREDIT POINTS; G: GRADE POINTS; ADC: ADMISSION CANCELLED; REV: PROVISIONAL; KCC: O. 1050; Course Grades: -Grade-O(Outstanding) - 10pt., Grade-A(Excellent) - 9pt., Grade-B(Very Good) - 8pt., Grade-C(Good) - 7pt., Grade-D(Fair) - 6pt., Grade-E(Satisfactory) - 5pt., Grade-F(Fail) - 0pt.

ATTESTED TRUE COPY



SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN GR	GP	CR	C*G	IN GR	GP	CR	C*G	SGPI-X	RESULT																																																																																									
12967	HARKAMAT BHAKTI DEVENDRA ARCHANA	4 NAVI-MUMBAI	76	O	10	3	30	70	55	125	C	7	6	42	33	B	8	2	16	30	C	7	3	21	P																																																																																							
			68	B	9	3	24	125	125	250	C	7	16	112	79	O	10	3	30	661	GRAND TOTAL:	661	7.64																																																																																									
			SGPI :- SEM-I :																					7.61	SEM-II :																					8.36	SEM-III :																					6.36	SEM-IV :																					7.53	SEM-V :																					8.28
			SGPI :- SEM-VI :																					8.19	SEM-VII :																					7.75	SEM-VIII :																					8.00	SEM-IX :																					8.00	SEM-X :																					7.64
12969	HIMALI VINNET SANTOST SANDHYA	4 NAVI-MUMBAI	50	E	5	3	15	50	50	100	E	5	6	30	25	E	5	2	10	29	D	6	3	18	P																																																																																							
			58	D	6	3	18	101	102	203	E	5	16	80	50	E	5	3	15	GRAND TOTAL:	515	5.17																																																																																										
			SGPI :- SEM-I :																					5.47	SEM-II :																					5.00	SEM-III :																					5.42	SEM-IV :																					5.33	SEM-V :																					5.44
			SGPI :- SEM-VI :																					5.72	SEM-VII :																					5.11	SEM-VIII :																					7.00	SEM-IX :																					5.00	SEM-X :																					5.17
12974	JADHAV KIRTI RATILAL RATNA	4 NAVI-MUMBAI	56	D	6	3	18	58	53	111	D	6	6	36	27	E	5	2	10	32	C	7	3	21	P																																																																																							
			50	E	5	3	15	102	110	212	E	5	16	80	51	E	5	3	15	GRAND TOTAL:	539	5.42																																																																																										
			SGPI :- SEM-I :																					6.03	SEM-II :																					5.53	SEM-III :																					5.00	SEM-IV :																					5.86	SEM-V :																					6.08
			SGPI :- SEM-VI :																					5.83	SEM-VII :																					5.08	SEM-VIII :																					10.00	SEM-IX :																					5.42	SEM-X :																					5.42
12975	JADHAV RITIKA RAJARAM RENUKA	4 NAVI-MUMBAI	63	C	7	3	21	65	55	120	C	7	6	42	36	A	9	2	18	35	A	9	3	27	P																																																																																							
			65	B	8	3	24	136	135	271	B	8	16	128	70	A	9	3	27	GRAND TOTAL:	660	7.97																																																																																										
			SGPI :- SEM-I :																					6.64	SEM-II :																					7.19	SEM-III :																					6.97	SEM-IV :																					7.11	SEM-V :																					7.72
			SGPI :- SEM-VI :																					8.28	SEM-VII :																					7.97	SEM-VIII :																					9.00	SEM-IX :																					8.50	SEM-X :																					7.97
12976	JADHAV SONAL SANJAY SMITA	4 NAVI-MUMBAI	68	B	8	3	24	73	60	133	B	8	6	48	41	O	10	2	20	42	O	10	3	30	P																																																																																							
			72	A	9	3	27	143	120	263	B	8	16	128	64	C	7	3	21	GRAND TOTAL:	683	8.28																																																																																										
			SGPI :- SEM-I :																					9.08	SEM-II :																					8.97	SEM-III :																					8.69	SEM-IV :																					9.83	SEM-V :																					9.08
			SGPI :- SEM-VI :																					8.61	SEM-VII :																					8.89	SEM-VIII :																					8.00	SEM-IX :																					8.78	SEM-X :																					8.28
12977	JAGDALE DISHA SATISH SWATI	4 NAVI-MUMBAI	50	E	5	3	15	50	55	105	E	5	6	30	25	E	5	2	10	34	B	8	3	24	P																																																																																							
			50	E	5	3	15	105	105	210	E	5	16	80	50	E	5	3	15	GRAND TOTAL:	524	5.25																																																																																										
			SGPI :- SEM-I :																					6.22	SEM-II :																					5.73	SEM-III :																					5.00	SEM-IV :																					5.75	SEM-V :																					5.39
			SGPI :- SEM-VI :																					5.33	SEM-VII :																					5.64	SEM-VIII :																					7.00	SEM-IX :																					6.89	SEM-X :																					5.25
12978	JAIN HIMANSHU PRAKASH JAIN	4 NAVI-MUMBAI	51	E	5	3	15	52	50	102	E	5	6	30	25	E	5	2	10	25	E	5	3	15	P																																																																																							
			58	D	6	3	18	100	100	200	E	5	16	80	59	D	6	3	18	GRAND TOTAL:	520	5.17																																																																																										
			SGPI :- SEM-I :																					6.72	SEM-II :																					5.47	SEM-III :																					5.33	SEM-IV :																					6.39	SEM-V :																					7.83
			SGPI :- SEM-VI :																					7.53	SEM-VII :																					7.47	SEM-VIII :																					6.00	SEM-IX :																					5.86	SEM-X :																					5.17
12979	JAIN SEJAL RAKESH INDRA	4 NAVI-MUMBAI	50+	E	5	3	15	52+	AA					30+	C	7	2	14	25+	E	5	3	15	A																																																																																								
			55+	D	6	3	18	104+	AA					52+	E	5	3	15	GRAND TOTAL:	368																																																																																												
			SGPI :- SEM-I :																					5.69	SEM-II :																					5.03	SEM-III :																					5.06	SEM-IV :																					5.00	SEM-V :																					5.00
			SGPI :- SEM-VI :																					5.08	SEM-VII :																					5.78	SEM-VIII :																					6.00	SEM-IX :																					5.75	SEM-X :																					0.00

0:0.5042A; 0:0.5043A; \*0.5045A; #0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:DYSLEXIA; AA/ABS: ABSENT; NULL:NULL & VOID;  
GPA:GRADE POINT AVERAGE-SUM OF C&G / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; R:FV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-(Outstanding)= 10pt.,Grade-(Excellent)= 9pt.,Grade-(Very Good)= 8pt.,Grade-(Good)= 7pt.,Grade-(D/Fail)= 6pt.,Grade-(Satisfactory)= 5pt., Grade-(Fail)= 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Bajipada Complex, Opp. Kharghar  
Rly Station, C.B.D. Near Mumbai

SEAT	NAME OF CANDIDATE	CENTRE	<---PAPER-I/V--->	<---PAPER-II/VI--->	<---PAPER-III/VII--->	<---PAPER-IV--->	SGPI-X	RSLE								
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G
Sub.:1. ENVIRONMENTAL STUDIES-5	(IN:100/50) (Cr.:3)	Sub.:2. ARCH. REP. & DETAILG-8	(IN:100/50, EX:100/50) (Cr.:6)	Sub.:3. ARCH. THEORIES-4	(IN:50/25) (Cr.:2)	Sub.:4. PROF. PRACT-3	(IN:50/25) (Cr.:3)	Sub.:5. ADV. BLDG. CONSTRS STRU	(IN:100/50) (Cr.:3)	Sub.:6. DESIGN DISS.-2	(IN:200/100, EX:200/100) (Cr.:16)	Sub.:7. ELECTIVE - 10	(IN:100/50) (Cr.:3)			
12986	/KADAM RADHIKA SHAILESH GAURI	4 NAVI-MUMBAI	67 B 8 3 24	75 50 125 C 7 6 42	40 O 10 2 20	37 A 9 3 27	GRAND TOTAL: 643	7.50								
			56 D 6 3 18	144 102 246 C 7 16 112	72 A 9 3 27	GRAND TOTAL: 600	6.36									
			SGPI :- SEM-I :	8.33 SEM-II :	8.17 SEM-III :	7.53 SEM-IV :	8.08 SEM-V :	9.00								
			SGPI :- SEM-VI :	8.42 SEM-VII :	8.44 SEM-VIII :	10.00 SEM-IX :	8.25 SEM-X :	7.50								
12987	KADAM SHUBHAM RAJARAM BHARATI	4 NAVI-MUMBAI	77 O 10 3 30	80 75 155 O 10 6 60	37 A 9 2 18	40 O 10 3 30	GRAND TOTAL: 771	9.86								
			72 A 9 3 27	160 150 310 O 10 16 160	80 O 10 3 30	GRAND TOTAL: 711	9.00									
			SGPI :- SEM-I :	7.67 SEM-II :	7.22 SEM-III :	6.64 SEM-IV :	8.22 SEM-V :	8.89								
			SGPI :- SEM-VI :	9.31 SEM-VII :	8.19 SEM-VIII :	10.00 SEM-IX :	8.25 SEM-X :	9.86								
12990	KANASE BHUSHAN PRAKASH VANITA	4 NAVI-MUMBAI	67 B 8 3 24	56 50 106 E 5 6 30	25 E 5 2 10	28 D 6 3 18	GRAND TOTAL: 600	6.36								
			60 C 7 3 21	136 100 236 D 6 16 96	78 O 10 3 30	GRAND TOTAL: 659	7.61									
			SGPI :- SEM-I :	7.22 SEM-II :	5.58 SEM-III :	5.42 SEM-IV :	6.50 SEM-V :	7.75								
			SGPI :- SEM-VI :	7.53 SEM-VII :	7.06 SEM-VIII :	9.00 SEM-IX :	6.86 SEM-X :	6.36								
12993	KARALE SIDHESH AJIT NAMRATA	4 NAVI-MUMBAI	68 B 8 3 24	78 58 136 B 8 6 48	29 D 6 2 12	30 C 7 3 21	GRAND TOTAL: 659	7.61								
			65 B 8 3 24	128 136 264 B 8 16 128	67 B 8 3 24	GRAND TOTAL: 667	7.92									
			SGPI :- SEM-I :	7.28 SEM-II :	6.94 SEM-III :	6.31 SEM-IV :	7.94 SEM-V :	8.53								
			SGPI :- SEM-VI :	9.00 SEM-VII :	8.44 SEM-VIII :	10.00 SEM-IX :	7.69 SEM-X :	7.81								
12994	KARE AJIT KRISHNAKUMAR REKHABAI	4 NAVI-MUMBAI	57 D 6 3 18	70 65 135 B 8 6 48	34 B 8 2 16	35 A 9 3 27	GRAND TOTAL: 667	7.92								
			62 C 7 3 21	153 120 273 B 8 16 128	71 A 9 3 27	GRAND TOTAL: 678	8.78									
			SGPI :- SEM-I :	8.33 SEM-II :	9.06 SEM-III :	8.94 SEM-IV :	8.53 SEM-V :	8.78								
			SGPI :- SEM-VI :	8.72 SEM-VII :	9.08 SEM-VIII :	8.00 SEM-IX :	8.50 SEM-X :	7.92								
12995	KAREKAR SWANAND DAYTARAM NEETA	4 NAVI-MUMBAI	60 C 7 3 21	60 52 112 D 6 6 36	40 O 10 2 20	43 O 10 3 30	GRAND TOTAL: 711	9.00								
			71 A 9 3 27	154 155 309 O 10 16 160	76 O 10 3 30	GRAND TOTAL: 711	9.00									
			SGPI :- SEM-I :	8.53 SEM-II :	7.25 SEM-III :	7.78 SEM-IV :	9.47 SEM-V :	8.64								
			SGPI :- SEM-VI :	7.44 SEM-VII :	8.69 SEM-VIII :	7.00 SEM-IX :	8.28 SEM-X :	9.00								
12999	/KHANDAKRAN TEJASHREE SUNIT SMRUTI	4 NAVI-MUMBAI	72 A 9 3 27	68 60 128 C 7 6 42	36 A 9 2 18	36 A 9 3 27	GRAND TOTAL: 687	8.33								
			56 D 6 3 18	140 153 293 A 9 16 144	66 B 8 3 24	GRAND TOTAL: 687	8.33									
			SGPI :- SEM-I :	8.53 SEM-II :	8.78 SEM-III :	7.89 SEM-IV :	8.22 SEM-V :	8.67								
			SGPI :- SEM-VI :	7.94 SEM-VII :	8.75 SEM-VIII :	9.00 SEM-IX :	8.17 SEM-X :	8.33								
13000	KHADE BHUPESH YADAV YAMINI	4 NAVI-MUMBAI	50 E 5 3 15	59 50 109 E 5 6 30	38 O 10 2 20	42 O 10 3 30	GRAND TOTAL: 599	6.64								
			66 B 8 3 24	128 100 228 D 6 16 96	66 B 8 3 24	GRAND TOTAL: 599	6.64									
			SGPI :- SEM-I :	6.42 SEM-II :	6.75 SEM-III :	5.61 SEM-IV :	6.72 SEM-V :	6.14								
			SGPI :- SEM-VI :	6.28 SEM-VII :	6.75 SEM-VIII :	8.00 SEM-IX :	7.08 SEM-X :	6.64								

#:0.5042A; #:0.5043A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID.; GPA:GRADE POINT AVERAGE-SUM OF C/KG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%; GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE; GRADE F:GRADE POINTS 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99; GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050. Course Grades:-Grade-0(Outstanding) = 10pt.,Grade-A(Excellent) = 9pt.,Grade-B(Very Good) = 8pt.,Grade-C(Good) = 7pt.,Grade-D(Fair) = 6pt.,Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Belapada Complex, Opp. Kharghar  
Rly. Station, C.B.D. Nav Mumbai

SEAT NAME OF CANDIDATE CENTRE  
 Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH.REP. & DETAILING-8 (IN:100/50,EX:100/50) (Cr.:6) Sub.:3. ARCH.THEORIES-4 (IN:50/25) (Cr.:2)  
 Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV.BLDG.CONSTR.STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100,EX:200/100) (Cr.:16)  
 Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)

SEAT	NAME OF CANDIDATE	CENTRE	IN GR	GP	CR	C*G	IN	EX	TOT	GR	GP	CR	C*G	IN GR	GP	CR	C*G	IN GR	GP	CR	C*G	SGPI-X	RESULT		
13001	KHADE PRANAYA PRADEEP SUJATA 4 NAVI-MUMBAI		55	D	6	3	18	50	50	100	E	5	6	30	38	O	10	2	20	36	A	9	3	27	F
			59	D	6	3	18	116	105	221	D	6	16	96	68	B	8	3	24	8.03					
			SGPI :-	SEM-I :	7.42	SEM-II :	7.14	SEM-III :	6.97	SEM-IV :	7.36	SEM-V :	6.64	SEM-VI :	6.47										
			SGPI :-	SEM-VI :	7.44	SEM-VII :	8.58	SEM-VIII :	8.00	SEM-IX :	6.64	SEM-X :	6.47												
			GRAND TOTAL:																						
			CGPI:																						
13004	KHARCHE CHINMAYEE DEEPAK ARCHANA 4 NAVI-MUMBAI		86	O	10	3	30	82	78	160	O	10	6	60	36	A	9	2	18	40	O	10	3	30	F
			75	O	10	3	30	167	160	327	O	10	16	160	80	O	10	3	30	9.11					
			SGPI :-	SEM-I :	8.03	SEM-II :	9.08	SEM-III :	7.22	SEM-IV :	8.50	SEM-V :	9.11												
			SGPI :-	SEM-VI :	9.42	SEM-VII :	6.50	SEM-VIII :	10.00	SEM-IX :	9.17	SEM-X :	9.94												
			GRAND TOTAL:																						
			CGPI:																						
13005	KHARE GARIMA RAJESH ARCHANA 4 NAVI-MUMBAI		51	E	5	3	15	53	52	105	E	5	6	30	25	E	5	2	10	25	E	5	3	15	F
			58	D	6	3	18	115	125	240	C	7	16	112	58	D	6	3	18	8.72					
			SGPI :-	SEM-I :	7.58	SEM-II :	6.92	SEM-III :	6.19	SEM-IV :	7.17	SEM-V :	8.72												
			SGPI :-	SEM-VI :	8.06	SEM-VII :	8.08	SEM-VIII :	10.00	SEM-IX :	6.69	SEM-X :	6.06												
			GRAND TOTAL:																						
			CGPI:																						
13006	KHARE SIRHAN MAKARAND MEERA 4 NAVI-MUMBAI		73	A	9	3	27	56	52	108	E	5	6	30	28	D	6	2	12	33	B	8	3	24	F
			62	C	7	3	21	120	120	240	C	7	16	112	68	B	8	3	24	7.64					
			SGPI :-	SEM-I :	7.42	SEM-II :	6.44	SEM-III :	5.97	SEM-IV :	7.19	SEM-V :	7.64												
			SGPI :-	SEM-VI :	7.83	SEM-VII :	8.33	SEM-VIII :	8.00	SEM-IX :	7.61	SEM-X :	6.94												
			GRAND TOTAL:																						
			CGPI:																						
13007	KHOT AMEY GOVIND ANAGHA 4 NAVI-MUMBAI		61	C	7	3	21	74	55	129	C	7	6	42	42	O	10	2	20	42	O	10	3	30	F
			66	B	8	3	24	124	110	234	D	6	16	96	74	A	9	3	27	7.67					
			SGPI :-	SEM-I :	7.53	SEM-II :	6.53	SEM-III :	7.00	SEM-IV :	7.94	SEM-V :	7.67												
			SGPI :-	SEM-VI :	7.89	SEM-VII :	8.67	SEM-VIII :	9.00	SEM-IX :	6.42	SEM-X :	7.22												
			GRAND TOTAL:																						
			CGPI:																						
13009	KOLAGE DHWANEE AJAY ANUSHKA 4 NAVI-MUMBAI		75	O	10	3	30	75	63	138	B	8	6	48	36	A	9	2	18	33	B	8	3	24	F
			68	B	8	3	24	138	155	293	A	9	16	144	79	O	10	3	30	8.94					
			SGPI :-	SEM-I :	8.78	SEM-II :	8.39	SEM-III :	8.25	SEM-IV :	8.94	SEM-V :	8.94												
			SGPI :-	SEM-VI :	9.28	SEM-VII :	8.92	SEM-VIII :	7.00	SEM-IX :	9.47	SEM-X :	8.83												
			GRAND TOTAL:																						
			CGPI:																						
13014	KUSHWAHA ANCHAL BHARAT PRAMILA 4 NAVI-MUMBAI		55	D	6	3	18	63	50	113	D	6	6	36	35	A	9	2	18	45	O	10	3	30	F
			66	B	8	3	24	135	110	245	C	7	16	112	72	A	9	3	27	8.08					
			SGPI :-	SEM-I :	7.97	SEM-II :	6.89	SEM-III :	7.64	SEM-IV :	7.58	SEM-V :	8.08												
			SGPI :-	SEM-VI :	7.64	SEM-VII :	9.36	SEM-VIII :	10.00	SEM-IX :	7.61	SEM-X :	7.36												
			GRAND TOTAL:																						
			CGPI:																						
13015	LAD HIMANSHU RAMAKANT PRIYA 4 NAVI-MUMBAI		71	A	9	3	27	75	52	127	C	7	6	42	39	O	10	2	20	35	A	9	3	27	F
			65	B	8	3	24	155	135	290	A	9	16	144	73	A	9	3	27	9.47					
			SGPI :-	SEM-I :	8.17	SEM-II :	7.61	SEM-III :	7.03	SEM-IV :	8.50	SEM-V :	9.47												
			SGPI :-	SEM-VI :	9.44	SEM-VII :	8.67	SEM-VIII :	7.00	SEM-IX :	9.00	SEM-X :	8.64												
			GRAND TOTAL:																						
			CGPI:																						

@:O.5042A; @:O.5043A; \*@:O.5045A; #@:O.229; +@:EXMP.CARRIED; /@:FEMALE; @@:ABSENT; P:@PASSES; F:@FAIL; E:@EXMP CAN BE CLAIMED; RR:@RESERVED; ~:@DYSLEXIA; A@/ABS: ABSENT; NULL:NULL & VOID.;  
 GPA:GRADE POINT AVERAGE-SUM OF C\*G / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
 GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
 GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
 GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:@CREDIT POINTS; G:@GRADE POINTS; ADC:@ADMISSION CANCELLED; RV:@PROVISIONAL; RCC:@O.5050;  
 Course Grades:-Grade-O(Outstanding) = 10pt.,Grade-A(Excellent) = 9pt.,Grade-B(Very Good) = 8pt.,Grade-C(Good) = 7pt.,Grade-D(Fair) = 6pt.,Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 0pt.

ATTESTED TRUE COPY



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Shri. Sada Complex, Opp. Kharghar  
 Railway Station, C.B.D. Navi Mumbai

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) CBSSG EXAMINATION-APRIL, 2023  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 7, 2023  
PAGE : 65

SEAT NAME OF CANDIDATE CENTRE <---PAPER-I/V---> <---PAPER-II/VI---> <---PAPER-III/VII---> <---PAPER-IV---> RESULT  
IN GR GP CR C+G IN EX TOT GR GP CR C+G IN GR GP CR C+G IN GR GP CR C+G  
Sub.:1. ENVIRNMTL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH. REP. & DETAILG-8 (IN:100/50, EX:100/50) (Cr.:16) Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:21)  
Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONSTR. STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)

13016 /LATE RUPALI GANGARAM HARKARNA 4 NAVI-MUMBAI 65 B 8 3 24 62 63 125 C 7 6 42 36 A 9 2 18 39 O 10 3 30 9.03  
SGPI :- SEM-I : 7.31 SEM-II : 6.94 SEM-III : 6.19 SEM-IV : 8.47 SEM-V : 7.53  
SGPI :- SEM-VI : 7.08 SEM-VII : 8.06 SEM-VIII : 7.00 SEM-IX : 7.72 SEM-X : 9.03 CGPI : 7.56

13019 MAHALI SAHIL AJAY ANKITA 4 NAVI-MUMBAI 73 A 9 3 27 62 55 117 D 6 6 36 32 C 7 2 14 29 D 6 3 18 7.25  
SGPI :- SEM-I : 7.28 SEM-II : 5.86 SEM-III : 5.22 SEM-IV : 7.19 SEM-V : 8.22  
SGPI :- SEM-VI : 8.25 SEM-VII : 7.17 SEM-VIII : 8.00 SEM-IX : 6.89 SEM-X : 7.25 CGPI : 7.08

13027 /MANTRI MRUDULA CHANDRAPRAKASH PRIYA 4 NAVI-MUMBAI 71 A 9 3 27 57 73 130 B 8 6 48 30 C 7 2 14 29 D 6 3 18 7.78  
SGPI :- SEM-I : 7.39 SEM-II : 7.03 SEM-III : 6.31 SEM-IV : 7.75 SEM-V : 8.22  
SGPI :- SEM-VI : 7.89 SEM-VII : 7.96 SEM-VIII : 9.00 SEM-IX : 7.61 SEM-X : 7.78 CGPI : 7.61

13031 MHAISDHUNE OMKAR VASANT ANITA 4 NAVI-MUMBAI 56 D 6 3 18 53 60 113 D 6 6 36 36 A 9 2 18 43 O 10 3 30 7.81  
SGPI :- SEM-I : 8.22 SEM-II : 7.56 SEM-III : 7.17 SEM-IV : 8.64 SEM-V : 9.14  
SGPI :- SEM-VI : 8.53 SEM-VII : 8.47 SEM-VIII : 7.00 SEM-IX : 7.50 SEM-X : 7.81 CGPI : 8.06

13033 MISTRY DEEP KIRIT KALPANA 4 NAVI-MUMBAI 67 B 8 3 24 60 50 110 D 6 6 36 27 E 5 2 10 29 D 6 3 18 6.36  
SGPI :- SEM-I : 7.28 SEM-II : 6.00 SEM-III : 5.50 SEM-IV : 7.22 SEM-V : 7.81  
SGPI :- SEM-VI : 7.33 SEM-VII : 7.22 SEM-VIII : 7.00 SEM-IX : 6.33 SEM-X : 6.36 CGPI : 6.79

13035 MODHE SHUBHAM SANTOSH MEERA 4 NAVI-MUMBAI 50+ E 5 3 15 55+ 50 105 E 5 6 30 30+ C 7 2 14 25+ E 5 3 15 5.36  
60+ C 7 3 21 100+ 100 200 E 5 16 80 55+ D 6 3 18  
SGPI :- SEM-I : 6.14 SEM-II : 5.67 SEM-III : 5.03 SEM-IV : 5.28 SEM-V : 5.31  
SGPI :- SEM-VI : 5.00 SEM-VII : 6.39 SEM-VIII : 9.00 SEM-IX : 5.67 SEM-X : 5.36 CGPI : 5.70

13039 /MORE ROCHITA RAJIV SARIKA 4 NAVI-MUMBAI 51 E 5 3 15 65 50 115 D 6 6 36 28 D 6 2 12 29 D 6 3 18 5.31  
53 E 5 3 15 104 110 214 E 5 16 80 52 E 5 3 15  
SGPI :- SEM-I : 6.19 SEM-II : 5.72 SEM-III : 5.08 SEM-IV : 6.06 SEM-V : 6.28  
SGPI :- SEM-VI : 5.75 SEM-VII : 5.06 SEM-VIII : 10.00 SEM-IX : 6.25 SEM-X : 5.31 CGPI : 5.94

13041 NAGOSE ACHYUT ASHOK VANDANA 4 NAVI-MUMBAI 65 B 8 3 24 58 58 116 D 6 6 36 25 E 5 2 10 30 C 7 3 21 7.42  
62 C 7 3 21 138 126 264 B 8 16 128 70 A 9 3 27  
SGPI :- SEM-I : 7.86 SEM-II : 6.50 SEM-III : 6.31 SEM-IV : 7.36 SEM-V : 8.03  
SGPI :- SEM-VI : 7.53 SEM-VII : 7.53 SEM-VIII : 10.00 SEM-IX : 6.86 SEM-X : 7.42 CGPI : 7.40

@:0.5042A; @:0.5043A; \*@:0.5045A; #:0.229; +:EXMP.CARRIED//:FEMALE; AA:ABSENT; P:PASSES; F:FAIL; E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia / AA/ABS: ABSENT; NULL:NULL & VOID; #  
GPA:GRADE POINT AVERAGE-SUM OF CXG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-0(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

ATTESTED TRUE COPY

Principal  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. Kaurghar  
Rly. Station, C.B.D, Navri Mumbai

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RSLT		
IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G	IN	GR	GP	CR	C+G	SGPI-X	RSLT

Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH.REP. & DETAILS-8 (IN:100/50,EX:100/50) (Cr.:6) Sub.:3. ARCH.THEORIES-4 (IN:50/25) (Cr.:2)  
Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV.BLDG.CONSTRU STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100,EX:200/100) (Cr.:16)  
Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)

13046 /NAVALE TEJASWINI HIRAMAN PUSHPA  
4 NAVI-MUMBAI  
54 E 5 3 15 62 55 117 D 6 6 36 29 D 6 2 12 32 C 7 3 21 6.72  
54 E 5 3 15 126 135 261 B 8 16 128 53 E 5 3 15 GRAND TOTAL: 600  
SGPI :- SEM-I : 6.92 SEM-II : 7.36 SEM-III : 6.94 SEM-IV : 7.47 SEM-V : 8.86  
SGPI :- SEM-VI : 6.72 SEM-VII : 6.33 SEM-VIII : 9.00 SEM-IX : 7.58 SEM-X : 6.72 CGPI: 7.7280.03

13047 /NANAR PURVA RAVINDRA PUSHPALATA  
4 NAVI-MUMBAI  
55 D 6 3 18 50 63 113 D 6 6 36 29 D 6 2 12 42 O 10 3 30 8.08  
55 B 8 3 24 142 140 282 A 9 16 144 74 A 9 3 27 GRAND TOTAL: 660  
SGPI :- SEM-I : 6.78 SEM-II : 6.47 SEM-III : 7.42 SEM-IV : 8.53 SEM-V : 9.11  
SGPI :- SEM-VI : 8.22 SEM-VII : 8.08 SEM-VIII : 10.00 SEM-IX : 6.17 SEM-X : 8.08 CGPI: 7.76

13050 /NEMADE PURNIMA KASHINATH KUMUDINI  
4 NAVI-MUMBAI  
60 C 7 3 21 136 112 248 C 7 16 112 65 B 8 3 24 30 C 7 3 21 6.94  
60 B 8 3 24 136 112 248 C 7 16 112 65 B 8 3 24 GRAND TOTAL: 610  
SGPI :- SEM-I : 7.19 SEM-II : 7.06 SEM-III : 5.44 SEM-IV : 7.19 SEM-V : 7.97  
SGPI :- SEM-VI : 8.64 SEM-VII : 7.50 SEM-VIII : 7.00 SEM-IX : 6.67 SEM-X : 6.94 CGPI: 7.19

13051 /NIRANJAN GAURI AVEKA NIRANJAN  
4 NAVI-MUMBAI  
54 E 5 3 15 62 50 112 D 6 6 36 30 C 7 2 14 37 A 9 3 27 5.94  
54 D 5 3 18 114 100 214 E 5 16 80 65 B 8 3 24 GRAND TOTAL: 568  
SGPI :- SEM-I : 6.50 SEM-II : 6.42 SEM-III : 5.75 SEM-IV : 6.75 SEM-V : 7.89  
SGPI :- SEM-VI : 7.11 SEM-VII : 6.97 SEM-VIII : 6.00 SEM-IX : 6.81 SEM-X : 5.94 CGPI: 6.6580.10

13053 /NORONHA SONIA MELMIN VANITTA  
4 NAVI-MUMBAI  
50 E 5 3 15 52 50 102 E 5 6 30 30 C 7 2 14 32 C 7 3 21 5.28  
50 B 5 3 15 101 102 203 E 5 16 80 50 E 5 3 15 GRAND TOTAL: 517  
SGPI :- SEM-I : 6.03 SEM-II : 5.11 SEM-III : 5.00 SEM-IV : 6.06 SEM-V : 6.69  
SGPI :- SEM-VI : 5.47 SEM-VII : 5.03 SEM-VIII : 7.00 SEM-IX : 6.67 SEM-X : 5.28 CGPI: 5.77

13055 /PADMALE ADITYA VISHMAS VINANTI  
4 NAVI-MUMBAI  
57 D 6 3 18 52 55 107 E 5 6 30 35 A 9 2 18 43 O 10 3 30 7.11  
57 C 7 3 21 130 124 254 C 7 16 112 70 A 9 3 27 GRAND TOTAL: 629  
SGPI :- SEM-I : 7.69 SEM-II : 7.17 SEM-III : 7.28 SEM-IV : 8.03 SEM-V : 5.94  
SGPI :- SEM-VI : 6.08 SEM-VII : 6.17 SEM-VIII : 10.00 SEM-IX : 5.69 SEM-X : 7.11 CGPI: 6.95

13056 /PAMECHA RISHAB VINOD ASHA  
4 NAVI-MUMBAI  
71 A 9 3 27 72 62 134 B 8 8 48 33 B 8 2 16 33 B 8 3 24 8.00  
71 C 7 3 21 140 130 270 B 8 16 128 66 B 8 3 24 GRAND TOTAL: 669  
SGPI :- SEM-I : 7.78 SEM-II : 7.86 SEM-III : 7.16 SEM-IV : 7.97 SEM-V : 8.33  
SGPI :- SEM-VI : 7.58 SEM-VII : 8.14 SEM-VIII : 7.00 SEM-IX : 7.36 SEM-X : 8.00 CGPI: 7.78

13063 /PATEL MITRAVARUN SHANTILAL NEETA  
4 NAVI-MUMBAI  
64 C 7 3 21 70 75 145 A 9 6 54 35 A 9 2 18 31 C 7 3 21 8.67  
64 B 8 3 24 132 155 287 A 9 16 144 77 O 10 3 30 GRAND TOTAL: 707  
SGPI :- SEM-I : 6.97 SEM-II : 6.58 SEM-III : 5.58 SEM-IV : 6.78 SEM-V : 7.22  
SGPI :- SEM-VI : 7.81 SEM-VII : 7.19 SEM-VIII : 9.00 SEM-IX : 7.22 SEM-X : 8.67 CGPI: 7.20

#:0.5042A; #:0.5043A; #:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID./  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RfV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-(Outstanding)= 10pt.,Grade-(Excellent)= 9pt.,Grade-(Very Good)= 8pt.,Grade-(Good)= 7pt.,Grade-(D(Fair))= 6pt.,Grade-(Satisfactory)= 5pt., Grade-(Fail)= 4pt.

ATTESTED TRUE COPY



*[Signature]*

Principal  
Bharati Vidyapeeth  
College of Architecture  
Bajpada Complex, Opp. Kharghar  
Rly. Station, C.B.D., Navi Mumbai

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/II/III/IV/VI/VII/VIII/IX/X			IN GR	GP	CR	C+G	SGPI-X	RESULT		
13064	PATIL ADITI JITENDRA SHARADA 4 NAVI-MUMBAI		61 C 7 3 21	62	60	122	C 7 6 42	33	B 8 2 16	42	O 10 3 30	8.28	P
			58 D 6 3 18	142	146	288	A 9 16 144	71	A 9 3 27	GRAND TOTAL: 675			
			SGPI :- SEM-I : 7.25	SEM-II: 7.08	SEM-III: 8.14	SEM-IV: 8.36	SEM-V: 8.22			CGPI: 8.11			
			SGPI :- SEM-VI: 8.22	SEM-VII: 8.94	SEM-VIII: 8.00	SEM-IX: 8.58	SEM-X: 8.28						
13067	PATIL PAPAM RAMAKANT INDO 4 NAVI-MUMBAI		57 D 6 3 18	62	64	126	C 7 6 42	38	O 10 2 20	40	O 10 3 30	8.31	P
			67 B 8 3 24	145	150	295	A 9 16 144	60	C 7 3 21	GRAND TOTAL: 683			
			SGPI :- SEM-I : 8.11	SEM-II: 6.92	SEM-III: 7.11	SEM-IV: 8.47	SEM-V: 9.28			CGPI: 7.97			
			SGPI :- SEM-VI: 7.89	SEM-VII: 7.75	SEM-VIII: 8.00	SEM-IX: 7.89	SEM-X: 8.31						
13071	PATIL SANYUKTA RAJESH KALPANA 4 NAVI-MUMBAI		50 E 5 3 15	50	62	112	D 6 6 36	34	B 8 2 16	38	O 10 3 30	7.33	P
			59 D 6 3 18	125	148	273	B 8 16 128	64	C 7 3 21	GRAND TOTAL: 630			
			SGPI :- SEM-I : 6.94	SEM-II: 5.47	SEM-III: 5.94	SEM-IV: 6.42	SEM-V: 7.03			CGPI: 6.81			
			SGPI :- SEM-VI: 6.42	SEM-VII: 7.78	SEM-VIII: 8.00	SEM-IX: 7.48	SEM-X: 7.33						
13073	PATIL SHRUTI SHASHIKANT SAMIKSHA 4 NAVI-MUMBAI		75 O 10 3 30	70	60	130	B 8 8 6 48	35	A 9 2 18	33	B 8 3 24	8.31	P
			62 C 7 3 21	140	130	270	B 8 16 128	77	O 10 3 30	GRAND TOTAL: 682			
			SGPI :- SEM-I : 8.11	SEM-II: 8.36	SEM-III: 6.94	SEM-IV: 7.92	SEM-V: 8.36			CGPI: 8.25			
			SGPI :- SEM-VI: 8.56	SEM-VII: 8.14	SEM-VIII: 10.00	SEM-IX: 8.81	SEM-X: 8.31						
13075	PATIL VEDHUSHAN SUHAS SUNITA 4 NAVI-MUMBAI		50 E 5 3 15	70	60	130	B 8 8 6 48	37	A 9 2 18	42	O 10 3 30	8.14	P
			65 B 8 3 24	144	125	269	B 8 16 128	77	O 10 3 30	GRAND TOTAL: 670			
			SGPI :- SEM-I : 6.44	SEM-II: 6.00	SEM-III: 5.47	SEM-IV: 6.22	SEM-V: 7.75			CGPI: 6.83			
			SGPI :- SEM-VI: 7.39	SEM-VII: 7.56	SEM-VIII: 6.00	SEM-IX: 6.86	SEM-X: 8.14						
13078	PATRO SAHIL SATYA KABITA 4 NAVI-MUMBAI		56 D 6 3 18	79	60	139	B 8 8 6 48	35	A 9 2 18	47	O 10 3 30	9.28	P
			76 O 10 3 30	161	140	301	O 10 16 160	80	O 10 3 30	GRAND TOTAL: 734			
			SGPI :- SEM-I : 9.28	SEM-II: 8.83	SEM-III: 8.67	SEM-IV: 9.06	SEM-V: 8.83			CGPI: 8.59			
			SGPI :- SEM-VI: 8.08	SEM-VII: 7.42	SEM-VIII: 7.00	SEM-IX: 8.58	SEM-X: 9.28						
13079	PAWAR PRIYANKA SINGH RAMPRAKASH SDN ITPA SINGH 4 NAVI-MUMBAI		50 E 5 3 15	64	65	129	C 7 6 42	35	A 9 2 18	39	O 10 3 30	7.97	P
			70 A 9 3 27	137	130	267	B 8 16 128	74	A 9 3 27	GRAND TOTAL: 664			
			SGPI :- SEM-I : 8.17	SEM-II: 8.22	SEM-III: 7.83	SEM-IV: 8.08	SEM-V: 8.28			CGPI: 8.25			
			SGPI :- SEM-VI: 8.58	SEM-VII: 8.89	SEM-VIII: 8.00	SEM-IX: 8.33	SEM-X: 7.97						
13084	PISE PUSHPAK RAJENDRA MANJUSHREE 4 NAVI-MUMBAI		50+ E 5 3 15	50+	50	100	E 5 6 30	25+	E 5 2 10	28+	O 6 3 18	5.53	P
			50+ E 5 3 15	101+	120+	221	D 6 16 96	50+	E 5 3 15	GRAND TOTAL: 524			
			SGPI :- SEM-I : 5.58	SEM-II: 6.14	SEM-III: 5.28	SEM-IV: 5.22	SEM-V: 5.00			CGPI: 5.73			
			SGPI :- SEM-VI: 5.33	SEM-VII: 6.72	SEM-VIII: 8.00	SEM-IX: 5.78	SEM-X: 5.53						

#:0.5042A; #:0.5045A; #:0.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia; AA/ABS: ABSENT; NULL:NULL & VOID.;  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Bharati Campus, Opp. Kharhar  
Bharati Vidyapeeth, Mumbai

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch.(SEM.-XI) CBSCS EXAMINATION-APRIL, 2023  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 7, 2023  
PAGE: 68

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V		PAPER-II/VI		PAPER-III/VII		PAPER-IV		SGPI-X	RESULT																	
			IN	GR	IN	EX	TOT	GR	GP	CR	C+G																		
13085	POLEKAR SAMIKA UMESH URM	4 NAVI-MUMBAI	65	B	8	3	24	58	66	124	C	7	6	42	29	D	6	2	12	30	C	7	3	21	GRAND TOTAL: 677	8.08	P		
			SGPI :-	SEM-I	8.36	SEM-II	6.61	SEM-III	6.61	SEM-IV	6.42	SEM-V	7.56	SEM-VI	8.17	SEM-VII	8.33	SEM-VIII	10.00	SEM-IX	7.42	SEM-X	8.08	CGPI: 7.62					
13086	POOJA P PANIGRAHI BANITA	4 NAVI-MUMBAI	58	D	6	3	18	66	52	118	D	6	6	36	34	B	8	2	16	35	A	9	3	27	GRAND TOTAL: 594	6.53	P		
			SGPI :-	SEM-I	5.83	SEM-II	6.58	SEM-III	6.11	SEM-IV	6.64	SEM-V	7.39	SEM-VI	7.39	SEM-VII	8.25	SEM-VIII	10.00	SEM-IX	8.00	SEM-X	6.53	CGPI: 6.91					
13090	RAIKWAD KETKI VASANT BHARAMA	4 NAVI-MUMBAI	56	D	6	3	18	62	52	114	D	6	6	36	34	B	8	2	16	37	A	9	3	27	GRAND TOTAL: 618	6.78	P		
			SGPI :-	SEM-I	8.56	SEM-II	7.58	SEM-III	6.64	SEM-IV	6.56	SEM-V	8.89	SEM-VI	7.81	SEM-VII	8.17	SEM-VIII	10.00	SEM-IX	6.56	SEM-X	6.78	CGPI: 7.62					
13091	RAJPUT AMANSINGH GULABSINGH POOJA	4 NAVI-MUMBAI	60	C	7	3	21	135	104	239	D	6	16	96	75	O	10	3	30	26	E	5	3	15	GRAND TOTAL: 616	7.06	P		
			SGPI :-	SEM-I	8.28	SEM-II	7.33	SEM-III	6.64	SEM-IV	8.06	SEM-V	8.11	SEM-VI	7.89	SEM-VII	8.56	SEM-VIII	7.00	SEM-IX	6.81	SEM-X	7.06	CGPI: 7.61					
13093	RAMANI PARTH SHANTILAL KAVITA	4 NAVI-MUMBAI	73	A	9	3	27	65	65	130	B	8	6	48	38	O	10	2	20	37	A	9	3	27	GRAND TOTAL: 688	8.64	P		
			SGPI :-	SEM-I	7.08	SEM-II	6.44	SEM-III	7.03	SEM-IV	8.17	SEM-V	8.69	SEM-VI	8.11	SEM-VII	8.47	SEM-VIII	10.00	SEM-IX	8.42	SEM-X	8.64	CGPI: 7.99					
13094	RAO JASWANT AMARSINGH KAMLA	4 NAVI-MUMBAI	50	E	5	3	15	52	50	102	E	5	6	30	36	A	9	2	18	40	O	10	3	30	GRAND TOTAL: 617	7.39	P		
			SGPI :-	SEM-I	7.58	SEM-II	6.03	SEM-III	5.67	SEM-IV	6.53	SEM-V	6.97	SEM-VI	7.44	SEM-VII	7.39	SEM-VIII	6.00	SEM-IX	7.53	SEM-X	7.39	CGPI: 6.90					
13099	SAHOO SHAKTI PRATEEK DIJAYALAXMI BEHERA	4 NAVI-MUMBAI	65	B	8	3	24	76	54	130	B	8	6	48	37	A	9	2	18	45	O	10	3	30	GRAND TOTAL: 695	8.39	P		
			SGPI :-	SEM-I	8.53	SEM-II	8.00	SEM-III	7.75	SEM-IV	8.50	SEM-V	7.86	SEM-VI	7.83	SEM-VII	8.31	SEM-VIII	7.00	SEM-IX	7.75	SEM-X	8.39	CGPI: 8.05					
13100	SAHU ANKITA CHINDRA SANJU	4 NAVI-MUMBAI	56	D	6	3	18	53	60	113	D	6	6	36	37	A	9	2	18	43	O	10	3	30	GRAND TOTAL: 670	8.25	P		
			SGPI :-	SEM-I	8.33	SEM-II	8.11	SEM-III	7.00	SEM-IV	6.81	SEM-V	7.50	SEM-VI	7.58	SEM-VII	8.33	SEM-VIII	6.00	SEM-IX	6.75	SEM-X	8.25	CGPI: 7.55					

Q:O.5042A; Q:O.5043A; +:O.5045A; #:O.229; +:EXMP.CARRIED;/:FEMALE; AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:Dyslexia ; AA/ABS: ABSENT; NULL:NULL & VOID; GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%; GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE; GRADE F:GRADE POINTS 5 TO 5.99; GRADE E:GRADE POINTS 6 TO 6.99; GRADE D:GRADE POINTS 7 TO 7.99; GRADE C:GRADE POINTS 8 TO 8.99; GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; REV:PROVISIONAL; RCC:O.5050; Course Grades:-Grade-0(Outstanding)= 10pt.,Grade-A(Excellent)= 9pt.,Grade-B(Very Good)= 8pt.,Grade-C(Good)= 7pt.,Grade-D(Fair)= 6pt.,Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Erlipada Complex, Opp. Kharghar  
Rly. Station, C.B.D, Navi Mumbai

SEAT NAME OF CANDIDATE CENTRE <---PAPER-I/V---> <---PAPER-II/VI---> <---PAPER-III/VII---> <---PAPER-IV---> SGPI-X RSL#

Sub.:1. ENVIRONMENTAL STUDIES-5 (IN:100/50) (Cr.:3) Sub.:2. ARCH. REP. & DETAILING-8 (IN:100/50, EX:100/50) (Cr.:6) Sub.:3. ARCH. THEORIES-4 (IN:50/25) (Cr.:2)

Sub.:4. PROF. PRACT-3 (IN:50/25) (Cr.:3) Sub.:5. ADV. BLDG. CONST. STRU (IN:100/50) (Cr.:3) Sub.:6. DESIGN DISS.-2 (IN:200/100, EX:200/100) (Cr.:16)

Sub.:7. ELECTIVE - 10 (IN:100/50) (Cr.:3)

13101 /SALUNKHE ISHMARI RAJENDRA LATA 4 NAVI-MUMBAI 66 B 8 3 24 50 50 100 E 5 6 30 26 E 5 2 10 28 D 6 3 18 6.19

SGPI :- SEM-I : 6.58 SEM-II : 5.81 SEM-III : 5.58 SEM-IV : 7.19 SEM-V : 8.03 GRAND TOTAL: 583

SGPI :- SEM-VI : 7.28 SEM-VII : 7.83 SEM-VIII : 8.00 SEM-IX : 5.89 SEM-X : 6.19 CGPI: 6.77

13105 SAMANT DEVAM DEEPAK SHRADDHA 4 NAVI-MUMBAI 52 E 5 3 15 76 66 142 A 9 6 54 34 B 8 2 16 44 O 10 3 30 8.61

SGPI :- SEM-I : 7.50 SEM-II : 6.78 SEM-III : 7.08 SEM-IV : 8.78 SEM-V : 8.89 GRAND TOTAL: 711

SGPI :- SEM-VI : 8.81 SEM-VII : 7.81 SEM-VIII : 10.00 SEM-IX : 7.31 SEM-X : 8.61 CGPI: 8.05

13108 SAMJI PRASAD DHANESH BHARATI 4 NAVI-MUMBAI 71 A 9 3 27 65 75 140 A 9 6 54 28 D 6 2 12 35 A 9 3 27 9.19

SGPI :- SEM-I : 8.78 SEM-II : 8.78 SEM-III : 7.00 SEM-IV : 9.11 SEM-V : 9.11 GRAND TOTAL: 714

SGPI :- SEM-VI : 8.61 SEM-VII : 8.50 SEM-VIII : 8.00 SEM-IX : 7.08 SEM-X : 9.19 CGPI: 8.44

13109 SAYYED AADIL MUSHTAQ ALI PARVEEN 4 NAVI-MUMBAI 59 D 6 3 18 60 50 110 D 6 6 36 32 C 7 2 14 31 C 7 3 21 5.78

SGPI :- SEM-I : 6.78 SEM-II : 5.36 SEM-III : 5.58 SEM-IV : 6.28 SEM-V : 7.53 GRAND TOTAL: 556

SGPI :- SEM-VI : 6.75 SEM-VII : 6.53 SEM-VIII : 10.00 SEM-IX : 7.33 SEM-X : 5.78 CGPI: 6.60

13110 /SAYYED SARAH ASHFAQ SHAHANAZ 4 NAVI-MUMBAI 76 O 10 3 30 82 73 155 O 10 6 60 37 A 9 3 27 9.86

SGPI :- SEM-I : 9.06 SEM-II : 8.61 SEM-III : 8.17 SEM-IV : 9.03 SEM-V : 9.11 GRAND TOTAL: 774

SGPI :- SEM-VI : 9.39 SEM-VII : 8.97 SEM-VIII : 6.00 SEM-IX : 9.33 SEM-X : 9.86 CGPI: 8.91

13112 /SHAIKH MUSKAN ZAKIR YASMIN 4 NAVI-MUMBAI 54 E 5 3 15 65 50 115 D 6 6 36 32 C 7 2 14 37 A 9 3 27 6.92

SGPI :- SEM-I : 7.81 SEM-II : 8.25 SEM-III : 8.33 SEM-IV : 8.81 SEM-V : 8.89 GRAND TOTAL: 620

SGPI :- SEM-VI : 8.61 SEM-VII : 8.64 SEM-VIII : 10.00 SEM-IX : 7.72 SEM-X : 6.92 CGPI: 8.30

13115 /SHETTY ESHA GIRISH SANTOSH 4 NAVI-MUMBAI 63 C 7 3 21 66 50 116 D 6 6 36 36 A 9 2 18 42 O 10 3 30 7.00

SGPI :- SEM-I : 8.36 SEM-II : 7.86 SEM-III : 8.03 SEM-IV : 8.94 SEM-V : 8.36 GRAND TOTAL: 634

SGPI :- SEM-VI : 7.72 SEM-VII : 8.19 SEM-VIII : 8.00 SEM-IX : 7.03 SEM-X : 7.00 CGPI: 7.95

13120 /SHINDE MARTI AMBADAS ANURAMA 4 NAVI-MUMBAI 68 B 8 3 24 56 50 106 E 5 6 30 31 C 7 2 14 30 C 7 3 21 6.39

SGPI :- SEM-I : 7.06 SEM-II : 6.33 SEM-III : 5.78 SEM-IV : 7.03 SEM-V : 7.64 GRAND TOTAL: 586

SGPI :- SEM-VI : 6.69 SEM-VII : 7.56 SEM-VIII : 6.00 SEM-IX : 6.53 SEM-X : 6.39 CGPI: 6.7490,01

#:O.5042A; #:O.5043A; #:O.5045A; #:O.229; +:EXMP.CARRIED; :FEMALE; AA:ABSENT; P:PASSES; F:FAIL; E:EXMP CAN BE CLAIMED; RR:RESERVED; ~:Dyslexia / AA/ABS: ABSENT; NULL:NULL & VOID; :  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:0.5050.  
Course Grades:-Grade-O(Outstanding)= 10pt., Grade-A(Excellent)= 9pt., Grade-B(Very Good)= 8pt., Grade-C(Good)= 7pt., Grade-D(Fair)= 6pt., Grade-E(Satisfactory)= 5pt., Grade-F(Fail)= 0pt.

ATTESTED TRUE COPY



Principal

Bharati Vidyapeeth  
College of Architecture  
Telavada Complex, Opp. Kharghar  
Rly. Station, C.B.D., Navi Mumbai

UNIVERSITY OF MUMBAI  
OFFICE REGISTER FOR THE FINAL YEAR B.Arch. (SEM.-X) C85GS EXAMINATION-APRIL 2023  
COLLEGE: 376 Bharati Vidyapeeth's College of Architecture

JUNE 1, 2023  
PAGE: 70

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RSLT											
			IN	GR	GP CR C+G	IN	EX	TOT GR GP CR C+G	IN	GR	GP CR C+G	IN	GR	GP CR C+G													
Sub.:1.	ENVIRONMENTAL STUDIES-5	IN:100/50 (Cr.:3)	Sub.:2.	ARCH. REP. & DETAILING-9	IN:100/50, EX:100/50 (Cr.:6)	Sub.:3.	ARCH. THEORIES-4	IN:50/25 (Cr.:2)	Sub.:4.	PROF. PRACT-3	IN:50/25 (Cr.:3)	Sub.:5.	ADV. BLDG. CONST. STRU	IN:100/50 (Cr.:3)	Sub.:6.	DESIGN DISS.-2	IN:200/100, EX:200/100 (Cr.:16)										
Sub.:7.	ELECTIVE - 10	IN:100/50 (Cr.:3)																									
13122	SHINDE FRANOTI BHAGNANT MANISHA	4 NAVI-MUMBAI	76	O	10	3	30	77	60	137	B	8	6	48	37	A	9	2	18	31	C	7	3	21	8.67	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	8.80
13127	SINGARA JYGAL NILESH SHILPA	4 NAVI-MUMBAI	62	C	7	3	21	124	105	229	D	6	16	96	66	B	8	3	24	33	B	8	3	24	6.56	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	6.96
13130	SOMANI RADHIKA RAJESH SUNAN	4 NAVI-MUMBAI	67	B	8	3	24	157	140	297	A	9	16	144	76	O	10	3	30	43	O	10	3	30	9.14	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	8.98
13133	SULEBHAIKAR DIPESH DATTATRAY VAISH	ALI	68	B	8	3	24	60	55	115	D	6	6	36	36	A	9	2	18	33	B	8	3	24	7.81	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	7.32
13135	SURANJE PRITISH BALKRISHNA SADDHANA	4 NAVI-MUMBAI	57	D	6	3	18	140	100	240	C	7	16	112	73	A	9	3	27	33	B	8	3	24	6.97	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	7.6880.07
13142	TAMBE SHIVANI GANESH BHARATI	4 NAVI-MUMBAI	52	E	5	3	15	134	110	244	C	7	16	112	59	D	6	3	18	29	D	6	3	18	6.22	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	6.35
13146	THAKARE KUNAL ANIL PRATIKSHA	4 NAVI-MUMBAI	OF	F				OF	AA					OF						OF						0	F
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	---
13148	TIRODKAR PARMESHWARI PANDHARINATH A	NAGHA	77	O	10	3	30	72	65	137	B	8	6	48	38	O	10	2	20	37	A	9	3	27	9.06	P	
			SGPI :-	SEM-I :	SEM-II :	SEM-III :	SEM-IV :	SEM-V :	SEM-VI :	SEM-VII :	SEM-VIII :	SEM-IX :	SEM-X :	SEM-XI :	SEM-XII :	SEM-XIII :	SEM-XIV :	SEM-XV :	SEM-XVI :	SEM-XVII :	SEM-XVIII :	SEM-XIX :	SEM-XX :	SEM-XXI :	SEM-XXII :	CGPI :	8.99

Q:O.5042A, Q:O.5043A, Q:O.5045A, Q:O.5046A, Q:O.5047A, Q:O.5048A, Q:O.5049A, Q:O.5050A, Q:O.5051A, Q:O.5052A, Q:O.5053A, Q:O.5054A, Q:O.5055A, Q:O.5056A, Q:O.5057A, Q:O.5058A, Q:O.5059A, Q:O.5060A, Q:O.5061A, Q:O.5062A, Q:O.5063A, Q:O.5064A, Q:O.5065A, Q:O.5066A, Q:O.5067A, Q:O.5068A, Q:O.5069A, Q:O.5070A, Q:O.5071A, Q:O.5072A, Q:O.5073A, Q:O.5074A, Q:O.5075A, Q:O.5076A, Q:O.5077A, Q:O.5078A, Q:O.5079A, Q:O.5080A, Q:O.5081A, Q:O.5082A, Q:O.5083A, Q:O.5084A, Q:O.5085A, Q:O.5086A, Q:O.5087A, Q:O.5088A, Q:O.5089A, Q:O.5090A, Q:O.5091A, Q:O.5092A, Q:O.5093A, Q:O.5094A, Q:O.5095A, Q:O.5096A, Q:O.5097A, Q:O.5098A, Q:O.5099A, Q:O.5100A, Q:O.5101A, Q:O.5102A, Q:O.5103A, Q:O.5104A, Q:O.5105A, Q:O.5106A, Q:O.5107A, Q:O.5108A, Q:O.5109A, Q:O.5110A, Q:O.5111A, Q:O.5112A, Q:O.5113A, Q:O.5114A, Q:O.5115A, Q:O.5116A, Q:O.5117A, Q:O.5118A, Q:O.5119A, Q:O.5120A, Q:O.5121A, Q:O.5122A, Q:O.5123A, Q:O.5124A, Q:O.5125A, Q:O.5126A, Q:O.5127A, Q:O.5128A, Q:O.5129A, Q:O.5130A, Q:O.5131A, Q:O.5132A, Q:O.5133A, Q:O.5134A, Q:O.5135A, Q:O.5136A, Q:O.5137A, Q:O.5138A, Q:O.5139A, Q:O.5140A, Q:O.5141A, Q:O.5142A, Q:O.5143A, Q:O.5144A, Q:O.5145A, Q:O.5146A, Q:O.5147A, Q:O.5148A, Q:O.5149A, Q:O.5150A, Q:O.5151A, Q:O.5152A, Q:O.5153A, Q:O.5154A, Q:O.5155A, Q:O.5156A, Q:O.5157A, Q:O.5158A, Q:O.5159A, Q:O.5160A, Q:O.5161A, Q:O.5162A, Q:O.5163A, Q:O.5164A, Q:O.5165A, Q:O.5166A, Q:O.5167A, Q:O.5168A, Q:O.5169A, Q:O.5170A, Q:O.5171A, Q:O.5172A, Q:O.5173A, Q:O.5174A, Q:O.5175A, Q:O.5176A, Q:O.5177A, Q:O.5178A, Q:O.5179A, Q:O.5180A, Q:O.5181A, Q:O.5182A, Q:O.5183A, Q:O.5184A, Q:O.5185A, Q:O.5186A, Q:O.5187A, Q:O.5188A, Q:O.5189A, Q:O.5190A, Q:O.5191A, Q:O.5192A, Q:O.5193A, Q:O.5194A, Q:O.5195A, Q:O.5196A, Q:O.5197A, Q:O.5198A, Q:O.5199A, Q:O.5200A, Q:O.5201A, Q:O.5202A, Q:O.5203A, Q:O.5204A, Q:O.5205A, Q:O.5206A, Q:O.5207A, Q:O.5208A, Q:O.5209A, Q:O.5210A, Q:O.5211A, Q:O.5212A, Q:O.5213A, Q:O.5214A, Q:O.5215A, Q:O.5216A, Q:O.5217A, Q:O.5218A, Q:O.5219A, Q:O.5220A, Q:O.5221A, Q:O.5222A, Q:O.5223A, Q:O.5224A, Q:O.5225A, Q:O.5226A, Q:O.5227A, Q:O.5228A, Q:O.5229A, Q:O.5230A, Q:O.5231A, Q:O.5232A, Q:O.5233A, Q:O.5234A, Q:O.5235A, Q:O.5236A, Q:O.5237A, Q:O.5238A, Q:O.5239A, Q:O.5240A, Q:O.5241A, Q:O.5242A, Q:O.5243A, Q:O.5244A, Q:O.5245A, Q:O.5246A, Q:O.5247A, Q:O.5248A, Q:O.5249A, Q:O.5250A, Q:O.5251A, Q:O.5252A, Q:O.5253A, Q:O.5254A, Q:O.5255A, Q:O.5256A, Q:O.5257A, Q:O.5258A, Q:O.5259A, Q:O.5260A, Q:O.5261A, Q:O.5262A, Q:O.5263A, Q:O.5264A, Q:O.5265A, Q:O.5266A, Q:O.5267A, Q:O.5268A, Q:O.5269A, Q:O.5270A, Q:O.5271A, Q:O.5272A, Q:O.5273A, Q:O.5274A, Q:O.5275A, Q:O.5276A, Q:O.5277A, Q:O.5278A, Q:O.5279A, Q:O.5280A, Q:O.5281A, Q:O.5282A, Q:O.5283A, Q:O.5284A, Q:O.5285A, Q:O.5286A, Q:O.5287A, Q:O.5288A, Q:O.5289A, Q:O.5290A, Q:O.5291A, Q:O.5292A, Q:O.5293A, Q:O.5294A, Q:O.5295A, Q:O.5296A, Q:O.5297A, Q:O.5298A, Q:O.5299A, Q:O.5300A, Q:O.5301A, Q:O.5302A, Q:O.5303A, Q:O.5304A, Q:O.5305A, Q:O.5306A, Q:O.5307A, Q:O.5308A, Q:O.5309A, Q:O.5310A, Q:O.5311A, Q:O.5312A, Q:O.5313A, Q:O.5314A, Q:O.5315A, Q:O.5316A, Q:O.5317A, Q:O.5318A, Q:O.5319A, Q:O.5320A, Q:O.5321A, Q:O.5322A, Q:O.5323A, Q:O.5324A, Q:O.5325A, Q:O.5326A, Q:O.5327A, Q:O.5328A, Q:O.5329A, Q:O.5330A, Q:O.5331A, Q:O.5332A, Q:O.5333A, Q:O.5334A, Q:O.5335A, Q:O.5336A, Q:O.5337A, Q:O.5338A, Q:O.5339A, Q:O.5340A, Q:O.5341A, Q:O.5342A, Q:O.5343A, Q:O.5344A, Q:O.5345A, Q:O.5346A, Q:O.5347A, Q:O.5348A, Q:O.5349A, Q:O.5350A, Q:O.5351A, Q:O.5352A, Q:O.5353A, Q:O.5354A, Q:O.5355A, Q:O.5356A, Q:O.5357A, Q:O.5358A, Q:O.5359A, Q:O.5360A, Q:O.5361A, Q:O.5362A, Q:O.5363A, Q:O.5364A, Q:O.5365A, Q:O.5366A, Q:O.5367A, Q:O.5368A, Q:O.5369A, Q:O.5370A, Q:O.5371A, Q:O.5372A, Q:O.5373A, Q:O.5374A, Q:O.5375A, Q:O.5376A, Q:O.5377A, Q:O.5378A, Q:O.5379A, Q:O.5380A, Q:O.5381A, Q:O.5382A, Q:O.5383A, Q:O.5384A, Q:O.5385A, Q:O.5386A, Q:O.5387A, Q:O.5388A, Q:O.5389A, Q:O.5390A, Q:O.5391A, Q:O.5392A, Q:O.5393A, Q:O.5394A, Q:O.5395A, Q:O.5396A, Q:O.5397A, Q:O.5398A, Q:O.5399A, Q:O.5400A, Q:O.5401A, Q:O.5402A, Q:O.5403A, Q:O.5404A, Q:O.5405A, Q:O.5406A, Q:O.5407A, Q:O.5408A, Q:O.5409A, Q:O.5410A, Q:O.5411A, Q:O.5412A, Q:O.5413A, Q:O.5414A, Q:O.5415A, Q:O.5416A, Q:O.5417A, Q:O.5418A, Q:O.5419A, Q:O.5420A, Q:O.5421A, Q:O.5422A, Q:O.5423A, Q:O.5424A, Q:O.5425A, Q:O.5426A, Q:O.5427A, Q:O.5428A, Q:O.5429A, Q:O.5430A, Q:O.5431A, Q:O.5432A, Q:O.5433A, Q:O.5434A, Q:O.5435A, Q:O.5436A, Q:O.5437A, Q:O.5438A, Q:O.5439A, Q:O.5440A, Q:O.5441A, Q:O.5442A, Q:O.5443A, Q:O.5444A, Q:O.5445A, Q:O.5446A, Q:O.5447A, Q:O.5448A, Q:O.5449A, Q:O.5450A, Q:O.5451A, Q:O.5452A, Q:O.5453A, Q:O.5454A, Q:O.5455A, Q:O.5456A, Q:O.5457A, Q:O.5458A, Q:O.5459A, Q:O.5460A, Q:O.5461A, Q:O.5462A, Q:O.5463A, Q:O.5464A, Q:O.5465A, Q:O.5466A, Q:O.5467A, Q:O.5468A, Q:O.5469A, Q:O.5470A, Q:O.5471A, Q:O.5472A, Q:O.5473A, Q:O.5474A, Q:O.5475A, Q:O.5476A, Q:O.5477A, Q:O.5478A, Q:O.5479A, Q:O.5480A, Q:O.5481A, Q:O.5482A, Q:O.5483A, Q:O.5484A, Q:O.5485A, Q:O.5486A, Q:O.5487A, Q:O.5488A, Q:O.5489A, Q:O.5490A, Q:O.5491A, Q:O.5492A, Q:O.5493A, Q:O.5494A, Q:O.5495A, Q:O.5496A, Q:O.5497A, Q:O.5498A, Q:O.5499A, Q:O.5500A, Q:O.5501A, Q:O.5502A, Q:O.5503A, Q:O.5504A, Q:O.5505A, Q:O.5506A, Q:O.5507A, Q:O.5508A, Q:O.5509A, Q:O.5510A, Q:O.5511A, Q:O.5512A, Q:O.5513A, Q:O.5514A, Q:O.5515A, Q:O.5516A, Q:O.5517A, Q:O.5518A, Q:O.5519A, Q:O.5520A, Q:O.5521A, Q:O.5522A, Q:O.5523A, Q:O.5524A, Q:O.5525A, Q:O.5526A, Q:O.5527A, Q:O.5528A, Q:O.5529A, Q:O.5530A, Q:O.5531A, Q:O.5532A, Q:O.5533A, Q:O.5534A, Q:O.5535A, Q:O.5536A, Q:O.5537A, Q:O.5538A, Q:O.5539A, Q:O.5540A, Q:O.5541A, Q:O.5542A, Q:O.5543A, Q:O.5544A, Q:O.5545A, Q:O.5546A, Q:O.5547A, Q:O.5548A, Q:O.5549A, Q:O.5550A, Q:O.5551A, Q:O.5552A, Q:O.5553A, Q:O.5554A, Q:O.5555A, Q:O.5556A, Q:O.5557A, Q:O.5558A, Q:O.5559A, Q:O.5560A, Q:O.5561A, Q:O.5562A, Q:O.5563A, Q:O.5564A, Q:O.5565A, Q:O.5566A, Q:O.5567A, Q:O.5568A, Q:O.5569A, Q:O.5570A, Q:O.5571A, Q:O.5572A, Q:O.5573A, Q:O.5574A, Q:O.5575A, Q:O.5576A, Q:O.5577A, Q:O.5578A, Q:O.5579A, Q:O.5580A, Q:O.5581A, Q:O.5582A, Q:O.5583A, Q:O.5584A, Q:O.5585A, Q:O.5586A, Q:O.5587A, Q:O.5588A, Q:O.5589A, Q:O.5590A, Q:O.5591A, Q:O.5592A, Q:O.5593A, Q:O.5594A, Q:O.5595A, Q:O.5596A, Q:O.5597A, Q:O.5598A, Q:O.5599A, Q:O.5600A, Q:O.5601A, Q:O.5602A, Q:O.5603A, Q:O.5604A, Q:O.5605A, Q:O.5606A, Q:O.5607A, Q:O.5608A, Q:O.5609A, Q:O.5610A, Q:O.5611A, Q:O.5612A, Q:O.5613A, Q:O.5614A, Q:O.5615A, Q:O.5616A, Q:O.5617A, Q:O.5618A, Q:O.5619A, Q:O.5620A, Q:O.5621A, Q:O.5622A, Q:O.5623A, Q:O.5624A, Q:O.5625A, Q:O.5626A, Q:O.5627A, Q:O.5628A, Q:O.5629A, Q:O.5630A, Q:O.5631A, Q:O.5632A, Q:O.5633A, Q:O.5634A, Q:O.5635A, Q:O.5636A, Q:O.5637A, Q:O.5638A, Q:O.5639A, Q:O.5640A, Q:O.5641A, Q:O.5642A, Q:O.5643A, Q:O.5644A, Q:O.5645A, Q:O.5646A, Q:O.5647A, Q:O.5648A, Q:O.5649A, Q:O.5650A, Q:O.5651A, Q:O.5652A, Q:O.5653A, Q:O.5654A, Q:O.5655A, Q:O.5656A, Q:O.5657A, Q:O.5658A, Q:O.5659A, Q:O.5660A, Q:O.5661A, Q:O.5662A, Q:O.5663A, Q:O.5664A, Q:O.5665A, Q:O.5666A, Q:O.5667A, Q:O.5668A, Q:O.5669A, Q:O.5670A, Q:O.5671A, Q:O.5672A, Q:O.5673A, Q:O.5674A, Q:O.5675A, Q:O.5676A, Q:O.5677A, Q:O.5678A, Q:O.5679A, Q:O.5680A, Q:O.5681A, Q:O.5682A, Q:O.5683A, Q:O.5684A, Q:O.5685A, Q:O.5686A, Q:O.5687A, Q:O.5688A, Q:O.5689A, Q:O.5690A, Q:O.5691A, Q:O.5692A, Q:O.5693A, Q:O.5694A, Q:O.5695A, Q:O.5696A, Q:O.5697A, Q:O.5698A, Q:O.5699A, Q:O.5700A, Q:O.5701A, Q:O.5702A, Q:O.5703A, Q:O.5704A, Q:O.5705A, Q:O.5706A, Q:O.5707A, Q:O.5708A, Q:O.5709A, Q:O.5710A, Q:O.5711A, Q:O.5712A, Q:O.5713A, Q:O.5714A, Q:O.5715A, Q:O.5716A, Q:O.5717A, Q:O.5718A, Q:O.5719A, Q:O.5720A, Q:O.5721A, Q:O.5722A, Q:O.5723A, Q:O.5724A, Q:O.5725A, Q:O.5726A, Q:O.5727A, Q:O.5728A, Q:O.5729A, Q:O.5730A, Q:O.5731A, Q:O.5732A, Q:O.5733A, Q:O.5734A, Q:O.5735A, Q:O.5736A, Q:O.5737A, Q:O.5738A, Q:O.5739A, Q:O.5740A, Q:O.5741A, Q:O.5742A, Q:O.5743A, Q:O.5744A, Q:O.5745A, Q:O.5746A, Q:O.5747A, Q:O.5748A, Q:O.5749A, Q:O.5750A, Q:O.5751A, Q:O.5752A, Q:O.5753A, Q:O.5754A, Q:O.5755A, Q:O.5756A, Q:O.5757A, Q:O.5758A, Q:O.5759A, Q:O.5760A, Q:O.5761A, Q:O.5762A, Q:O.5763A, Q:O.5764A, Q:O.5765A, Q:O.5766A, Q:O.5767A, Q:O.5768A, Q:O.5769A, Q:O.5770A, Q:O.5771A, Q:O.5772A, Q:O.5773A, Q:O.5774A, Q:O.5775A, Q:O.5776A, Q:O.5777A, Q:O.5778A, Q:O.5779A, Q:O.5780A, Q:O.5781A, Q:O.5782A, Q:O.5783A, Q:O.5784A, Q:O.5785A, Q:O.5786A, Q:O.5787A, Q:O.5788A, Q:O.5789A, Q:O.5790A, Q:O.5791A, Q:O.5792A, Q:O.5793A, Q:O.5794A, Q:O.5795A, Q:O.5796A, Q:O.5797A, Q:O.5798A, Q:O.5799A, Q:O.5800A, Q:O.5801A, Q:O.5802A, Q:O.5803A, Q:O.5804A, Q:O.5805A, Q:O.5806A, Q:O.5807A, Q:O.5808A, Q:O.5809A, Q:O.5810A, Q:O.5811A, Q:O.5812A, Q:O.5813A, Q:O.5814A, Q:O.5815A, Q:O.5816A, Q:O.5817A, Q:O.5818A, Q:O.5819A, Q:O.5820

SEAT	NAME OF CANDIDATE	CENTRE	PAPER-I/V			PAPER-II/VI			PAPER-III/VII			PAPER-IV			SGPI-X	RSLT												
			IN	GR	GP	CR	C+G	IN	EX	TOT	GR	GP	CR	C+G			IN	GR	GP	CR	C+G							
13153	UTEKAR SHREYAS ASHOK ASMITA 4 NAVI-MUMBAI		50	E	5	3	15	52	60	112	D	6	6	36	35	A	9	2	18	39	O	10	3	30	7.28	P		
			56	B	8	3	24	139	110	248	C	7	16	112	71	A	9	3	27	621								
			SGPI :-	SEM-I :	8.97	SEM-II :	8.56	SEM-III :	8.14	SEM-IV :	9.69	SEM-V :	8.72															
			SGPI :-	SEM-VI :	9.01	SEM-VII :	8.11	SEM-VIII :	6.00	SEM-IX :	7.06	SEM-X :	7.28															
			CGPI :																								8.28	
13155	VARDE ANISHA AVINASH NEETA 4 NAVI-MUMBAI		58	D	6	3	18	110	120	230	D	6	16	96	65	B	8	3	24	33	B	8	3	24	596	6.56	P	
			59	B	8	3	24	56	55	111	D	6	6	36	30	C	7	2	14	7.72								
			SGPI :-	SEM-I :	7.81	SEM-II :	7.00	SEM-III :	6.17	SEM-IV :	7.42	SEM-V :	7.72															
			SGPI :-	SEM-VI :	7.56	SEM-VII :	8.17	SEM-VIII :	7.00	SEM-IX :	6.89	SEM-X :	6.56															
			CGPI :																									7.24
13157	VEDPATHAR DEVANSHI RAJAN BHARATI 4 NAVI-MUMBAI		68	B	8	3	24	64	55	119	D	6	6	36	34	B	8	2	16	38	O	10	3	30	641	7.39	P	
			56	D	6	3	18	145	105	250	C	7	16	112	76	O	10	3	30	8.75								
			SGPI :-	SEM-I :	6.22	SEM-II :	7.42	SEM-III :	6.72	SEM-IV :	8.28	SEM-V :	8.75															
			SGPI :-	SEM-VI :	8.33	SEM-VII :	8.22	SEM-VIII :	10.00	SEM-IX :	7.67	SEM-X :	7.39															
			CGPI :																									7.78
13160	VILEKAR MANASI RAJAN UMA 4 NAVI-MUMBAI		50	E	5	3	15	62	50	112	D	6	6	36	34	B	8	2	16	34	B	8	3	24	576	6.29	P	
			58	D	6	3	18	120	109	225	D	6	16	96	63	C	7	3	21	8.13								
			SGPI :-	SEM-I :	7.03	SEM-II :	6.72	SEM-III :	7.11	SEM-IV :	7.94	SEM-V :	8.13															
			SGPI :-	SEM-VI :	7.83	SEM-VII :	7.86	SEM-VIII :	7.00	SEM-IX :	7.97	SEM-X :	6.28															
			CGPI :																									7.43
13165	WARRIER RESHMA SURESH RAJANI 4 NAVI-MUMBAI		62	C	7	3	21	70	63	133	B	8	6	48	36	A	9	2	18	34	B	8	3	24	647	7.47	P	
			53	E	5	3	15	136	140	276	B	8	16	128	53	E	5	3	15	9.17								
			SGPI :-	SEM-I :	7.31	SEM-II :	7.78	SEM-III :	7.22	SEM-IV :	7.83	SEM-V :	9.17															
			SGPI :-	SEM-VI :	8.00	SEM-VII :	8.11	SEM-VIII :	8.00	SEM-IX :	7.25	SEM-X :	7.47															
			CGPI :																									7.7090.05
13166	YADAV NIKHIL NAMDEO NAKPATA 4 NAVI-MUMBAI		66	B	8	3	24	60	61	121	C	7	6	42	32	C	7	2	14	33	B	8	3	24	648	7.61	P	
			58	D	6	3	18	122	150	272	B	8	16	128	66	B	8	3	24	7.92								
			SGPI :-	SEM-I :	7.42	SEM-II :	6.44	SEM-III :	5.39	SEM-IV :	7.39	SEM-V :	7.92															
			SGPI :-	SEM-VI :	6.97	SEM-VII :	7.69	SEM-VIII :	10.00	SEM-IX :	6.92	SEM-X :	7.61															
			CGPI :																									7.22
13167	ZADE ANUSHKA ARUN LEENA 4 NAVI-MUMBAI		54	E	5	3	15	65	75	140	A	9	6	54	31	C	7	2	14	35	A	9	3	27	668	8.14	P	
			58	D	6	3	18	128	162	290	A	9	16	144	60	C	7	3	21	7.08								
			SGPI :-	SEM-I :	7.19	SEM-II :	5.56	SEM-III :	5.97	SEM-IV :	6.28	SEM-V :	7.08															
			SGPI :-	SEM-VI :	7.94	SEM-VII :	7.11	SEM-VIII :	8.00	SEM-IX :	6.61	SEM-X :	8.14															
			CGPI :																									6.93
13168	ZORE PRATIK RAKCHANDRA RESHMA 4 NAVI-MUMBAI		58	D	6	3	18	74	52	126	C	7	6	42	36	A	9	2	18	43	O	10	3	30	666	7.97	P	
			66	B	8	3	24	157	105	262	B	8	16	128	73	A	9	3	27	8.14								
			SGPI :-	SEM-I :	8.28	SEM-II :	8.25	SEM-III :	7.53	SEM-IV :	9.50	SEM-V :	8.14															
			SGPI :-	SEM-VI :	8.08	SEM-VII :	8.47	SEM-VIII :	8.00	SEM-IX :	7.81	SEM-X :	7.97															
			CGPI :																									8.21

R:O.5042A; #:O.5045A; #:O.229; +:EXMP CARRIED;/:FEMALE, AA:ABSENT; P:PASSES; F:FAIL;E:EXMP CAN BE CLAIMED; RR:RESERVED; -:DYSLEXIA; AA/ABS: ABSENT; NULL:NULL & VOID.  
GPA:GRADE POINT AVERAGE-SUM OF CxG / SUM OF C; GRADE F:BELOW 50%; GRADE E:50% & ABOVE AND BELOW 55%; GRADE D:55% AND ABOVE AND BELOW 60%; GRADE C:60% & ABOVE AND BELOW 65%;  
GRADE B:65% & ABOVE AND BELOW 69%; GRADE A:70% & ABOVE AND BELOW 75%; GRADE O:75% & ABOVE;  
GRADE F:GRADE POINTS BELOW 5; GRADE E:GRADE POINTS 5 TO 5.99; GRADE D:GRADE POINTS 6 TO 6.99; GRADE C:GRADE POINTS 7 TO 7.99; GRADE B:GRADE POINTS 8 TO 8.99;  
GRADE A:GRADE POINTS 9 TO 9.99; GRADE O:GRADE POINTS 10; C:CREDIT POINTS; G:GRADE POINTS; ADC:ADMISSION CANCELLED; RPV:PROVISIONAL; RCC:O.5050.  
Course Grades:-Grade-O(Outstanding) = 10pt., Grade-A(Excellent) = 9pt., Grade-B(Very Good) = 8pt., Grade-C(Good) = 7pt., Grade-D(Fair) = 6pt., Grade-E(Satisfactory) = 5pt., Grade-F(Fail) = 0pt.

ATTESTED TRUE COPY



*(Signature)*

Principal  
Bharati Vidyapeeth  
College of Architecture  
Santacruz Complex, Opp. Marghar  
Rail Station, C.B.D., Navi Mumbai



UNIVERSITY OF MUMBAI

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2021  
 COLLEGE NAME: 376: Bharati Vidyapeeth's College of Architecture  
 Page No.: 14  
 RESULT DATE: - AUGUST 06, 2021

SEAT NO NAME  
 <Course-1>  
 EX(200/80) C G GP C+C AC ACC SQPT RESULT REMARK 200/80 COLL\_NO COLL\_NAME

01. PROFESSIONAL PRACTICE

1114000 /GAVALI MADHURA ASHOK SAVALI

120 16 C 7 112 15 112 7.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 6.17 / SEM-II: 6.60 / SEM-III: 6.07 / SEM-IV: 6.30 / SEM-V: 6.93  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: 6.47

1114001 GOURI SAMEER SAREDDIN MADINA

115 16 D 6 96 16 96 6.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 5.90 / SEM-II: 5.97 / SEM-III: 6.13 / SEM-IV: 6.00 / SEM-V: 6.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: ---

1114002 /NESHAM NEETA GOPAL VANDANA

115 16 D 6 96 16 96 6.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 5.83 / SEM-II: 6.50 / SEM-III: 7.13 / SEM-IV: 6.20 / SEM-V: 7.20  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: 6.52

1114003 /BHATRE MANSI JAGANNATH HEHLATA

115 16 D 6 96 16 96 6.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 6.23 / SEM-II: 6.63 / SEM-III: 6.73 / SEM-IV: 7.00 / SEM-V: 6.20  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: 6.50

1114004 MORE BHARAT JAGANNATH RATNAMALA

130 16 A 9 144 16 144 9.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 7.23 / SEM-II: 7.73 / SEM-III: 7.10 / SEM-IV: 7.13 / SEM-V: 7.11  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: 7.47

1114005 /PATEL MANASVI HANSMUKH PUSHPA

135 16 C 7 112 16 112 7.00 P 376 Bharati Vidyapeeth's College of Architecture

CGPT: SEM-I: 8.37 / SEM-II: 8.90 / SEM-III: 7.97 / SEM-IV: 7.53 / SEM-V: 7.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30 CGPT: 7.86

Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4 G / 3 H / 2 I / 1  
 /- FEMALE, # - 0.229, B - 0.5012/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Failure, P - Passes  
 RR - Reserve, RLE - Reserve for Lower Examination, RPL - Provisional, MCC - 0.5050, ADC - Admission Cancelled  
 G-Grade, CP-Grade Point, C-Credits, ACS-Sum of Credit Points, ACG-Sum of Product of Credits & Grades  
 SQPT: Semester Grade Performance Index = ACG/AC, CGPT: Cumulative Grade Performance Index = ACG-AC / 4  
 Y Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 40-49.99 Less Than 40  
 P / 0



PRINCIPAL  
 BHARATI VIDYAPEETH'S  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

ATTACHED TRUE COPY

UNIVERSITY OF MUMBAI

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2021  
 COLLEGE NAME: J16: Bharati Vidyapeeth's College of Architecture  
 RESULT DATE: - AUGUST 06, 2021

Page No.: 15  
 COLL\_NO COLL\_NAME

SEAT\_NO NAME  
 <Course-1>  
 BK1200/801 C G GP C+G AC ACC SGPI RESULT REMARK 200/80

01. PROFESSIONAL PRACTICE

1114006 / PATIL HARSHADA JANARDAN NIRMALA 376 Bharati Vidyapeeth's College of Architecture

130 16 C 7 112 16 112 7.00 P RLE 130

SGPI: SEM-I: 6.63 / SEM-II: 6.47 / SEM-III: 6.43 / SEM-IV: 6.00 / SEM-V: 0.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 0

1114007 / PAMAR PRAJAKTA PRADEEP SESHU 376 Bharati Vidyapeeth's College of Architecture

120 16 C 7 112 16 112 7.00 P 120

SGPI: SEM-I: 6.13 / SEM-II: 6.53 / SEM-III: 6.30 / SEM-IV: 6.37 / SEM-V: 6.13  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30

1114008 / PAKAR SAKSHI DNYANESHWAR MAYANA 376 Bharati Vidyapeeth's College of Architecture

120 16 C 7 112 16 112 7.00 P RLE 120

SGPI: SEM-I: 6.43 / SEM-II: 7.07 / SEM-III: 6.77 / SEM-IV: 6.10 / SEM-V: 0.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 0

1114009 / SALVI SIDDHI JANARDHAN JYOTSNA 376 Bharati Vidyapeeth's College of Architecture

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 5.83 / SEM-II: 5.00 / SEM-III: 6.30 / SEM-IV: 0.00 / SEM-V: 0.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 0 / SEM-V: 0

1114010 / SHAIKH SAMAN JAMSHID DULSHAN 376 Bharati Vidyapeeth's College of Architecture

100 16 D 6 96 16 96 6.00 P RLE 100

SGPI: SEM-I: 5.73 / SEM-II: 6.23 / SEM-III: 6.07 / SEM-IV: 6.00 / SEM-V: 0.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 0

1114011 SONI KRISHNA CHANDRAKANT RAJESHWRI 376 Bharati Vidyapeeth's College of Architecture

140 16 B 8 128 16 128 8.00 P 140

SGPI: SEM-I: 6.13 / SEM-II: 6.17 / SEM-III: 7.40 / SEM-IV: 6.70 / SEM-V: 8.01  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30

Grade / GP: Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4  
 /- FEMALE, # - 0.229, @ - 0.5042/0.5043, -- 0.5045, S - Carried Forward Grade, -- Dylekta, A/ABS - Absent, F - Fail, P - Passed  
 RR - Reserved, RLE - Reserve for Lower Examinations, RPV - Provisional, RCC - 0.5058, ADC - Admission Cancelled  
 G: Grade, GP: Grade Point, C: Credits, AC: Sum of Credit Points, ACC: Sum of Product of Credits & Grades  
 SGP: Semester Grade Performance Index & ACC: AC: Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / GP: Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4



PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

ATTESTED TRUE COPY

UNIVERSITY OF MUMBAI

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2021  
 COLLEGE NAME: 376: Bharati Vidyapeeth's College of Architecture  
 Page No.: 16  
 RESULT DATE: -- AUGUST 06, 2021

SEAT NO NAME <Course-1> C G DP C+G AC ACG SGP1 RESULT REMARK 200/80 COLL\_NO COLL\_NAME

01. PROFESSIONAL PRACTICE

1114012 /SUKALE BHAGYASHREE VIJAY NEELAM

145 16 B 8 128 16 128 8.00 P 145 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 8.37 / SEM-II: 7.70 / SEM-III: 7.73 / SEM-IV: 6.50 / SEM-V: 7.90  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30  
 CGPI: 7.67 80.08

1114013 /TREVAR SHRADDHA MITAL ANJALI

150 16 A 9 144 16 144 9.00 P 150 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 6.70 / SEM-II: 7.23 / SEM-III: 7.30 / SEM-IV: 6.83 / SEM-V: 8.13  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30  
 CGPI: 7.41

1114014 /TODERAR VISHAKHA NARESH ANITA

125 16 C 7 112 16 112 7.00 P 125 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 5.93 / SEM-II: 6.13 / SEM-III: 6.50 / SEM-IV: 6.00 / SEM-V: 6.67  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30  
 CGPI: 6.32

1114015 VAVIYA DEEPAK GOVIND ANBUT

A 0 0 0 0 0 0 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 8.47 / SEM-II: 8.17 / SEM-III: 7.43 / SEM-IV: 5.70 / SEM-V: 0.00  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 0  
 CGPI: --

1114016 /VEZTA HARSHADA RAJESH ANITA

125 16 C 7 112 16 112 7.00 P 125 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 6.50 / SEM-II: 7.17 / SEM-III: 7.03 / SEM-IV: 7.27 / SEM-V: 6.33  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30  
 CGPI: 6.87

1114017 /YADAV PRIYA AMALNARAYAN SHASHIKALA

120 16 C 7 112 16 112 7.00 P 120 376 Bharati Vidyapeeth's College of Architecture

SGP1: SEM-I: 5.90 / SEM-II: 6.03 / SEM-III: 6.50 / SEM-IV: 6.23 / SEM-V: 6.17  
 CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30  
 CGPI: 6.37

Grade / Cf. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 5 E / 4 F / 3 G / 2 H / 1  
 / - REMARK, # - 0.229, @ - 0.5042/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dystekia, A/ABG - Absent, F - Falls, P - Passes  
 RH - Resit/Retd, RLE - Resit/Retd for Lower Examination, RPV - Provisional, RCG - 0.1050, ADG - Admission Cancelled  
 G: Grade, CP: Grade Point, C: Credits, ACS: Sum of Credit Points, ACC: Sum of Product of Credits & Grades  
 SGP1: Semester Grade Performance Index - ACC/ACG, CGPI: Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40



ATTESTED TRUE COPY  
 PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

UNIVERSITY OF MUMBAI

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2021  
 COLLEGE NAME: 376: Bharati Vidyapeeth's College of Architecture  
 Page No.: 17  
 RESULT DATE :- AUGUST 06, 2021

SEAT NO NAME C G GP C+G MC ACC SCPI RESULT REMARK COLL\_NO COLL\_NAME  
 EX(200/801

01. PROFESSIONAL PRACTICE

1114018 / ZINAL KANCHAN GULABAO MAVIA 376 Bharati Vidyapeeth's College of Architecture

110 16 D 6 96 16 96 6.00 P 110

SCPI: SEM-I: 6.47 / SEM-II: 6.63 / SEM-III: 6.77 / SEM-IV: 7.07 / SEM-V: 7.10 CQPI: 6.73 80.02

CREDITS: SEM-I: 30 / SEM-II: 30 / SEM-III: 30 / SEM-IV: 30 / SEM-V: 30

/ - FEMALE, \* - O.229, 8 - C.5042/O.5043, \* - O.5045, 5 - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Falls, P - Passes  
 RR - Reserved, RLE - Reserve for Lower Examination, RPV - Provisional, RCC - O.5050, ABC - Admission Cancelled  
 G: Grade, GP: Grade Point, C: Credits, AC: Sum of Credit Points, ACC: Sum of Product of Credits & Grades  
 SCPI: Semester Grade Performance Index - ACG/AC, CQPI: Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Cr. Pt. : O / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4 F / 0



ATTESTED TRUE COPY  
 PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI

SEAT NO NAME C G GP C+G 排 排 G SGPI RESULT REMARK 200/80  
 <Course-I>  
 Ex(200/80)

01. PROFESSIONAL PRACTICE

3000264 /BANDRE VAISHNAVI SANJAY SAILI

130 16 C 7 112 16 112 7.00 P 130

SGPI: SEM-I: 6.37 ; SEM-II: 6.60 ; SEM-III: 6.50 ; SEM-IV: 6.37 ; SEM-V: 6.40  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.50

3000265 /CHOUDHARY URMILA GOVIND GANGA

120 16 C 7 112 16 112 7.00 P 120

SGPI: SEM-I: 6.43 ; SEM-II: 7.03 ; SEM-III: 6.63 ; SEM-IV: 7.13 ; SEM-V: 6.47  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.76

3000266 /CHOUDHURI HARSHADA BHARAT SHOBHA

50F - - - - - 0 0 - - - - - F 50

SGPI: SEM-I: 5.77 ; SEM-II: 5.00 ; SEM-III: 6.47 ; SEM-IV: 6.00 ; SEM-V: 5.07  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

3000267 DAVE DEVANSH MAHESH SARITA

140 16 B 8 128 16 128 8.00 P 140

SGPI: SEM-I: 5.60 ; SEM-II: 6.00 ; SEM-III: 7.07 ; SEM-IV: 6.37 ; SEM-V: 7.07  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.57

3000268 /DUMBRE VAISHNAVI SANTOSH SIVARNA

90 16 E 5 80 16 80 5.00 P 90

SGPI: SEM-I: 6.20 ; SEM-II: 6.00 ; SEM-III: 6.30 ; SEM-IV: 6.43 ; SEM-V: 5.97  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.05

3000269 /GOUNDAY AASRA SALLIM ALLIYA

100 16 D 6 96 16 96 6.00 P 100

SGPI: SEM-I: 6.00 ; SEM-II: 6.00 ; SEM-III: 6.53 ; SEM-IV: 6.43 ; SEM-V: 5.67  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.11

/ - FEMALE, # - 0.229, @ - 0.5042/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
 RR - Reserved, RLE - Reserve for Lower Examination, RPV - Provisional, RCC - 0.5050, ADC - Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, #G:Sum of Credit Points, #P:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index - 排G/排, C:GPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gc. Pt. : D / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4

ATTESTED TRUE COPY  
 PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 MUMBAI



SEAT NO NAME

<Course-1>

C G GP C\*G

REG REG

SGPI RESULT REMARK

200/80

01. PROFESSIONAL PRACTICE

3000270 /KADAM DIVYA MANOJ PRIYA

120 16 C 7 112 16 112 7.00 P 120

SGPI: SEM-I: 6.10 ; SEM-II: 6.20 ; SEM-III: 6.40 ; SEM-IV: 5.97 ; SEM-V: 5.73  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.17

3000271 /KHODADE KAJAL GORAKSHNATH ROHINI

125 16 C 7 112 16 112 7.00 P 125

SGPI: SEM-I: 7.87 ; SEM-II: 7.10 ; SEM-III: 7.37 ; SEM-IV: 8.27 ; SEM-V: 7.70  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 7.60

3000272 /MANE ANKITA CHANDRAKANT LALITA

140 16 B 8 128 16 128 8.00 P 140

SGPI: SEM-I: 5.97 ; SEM-II: 6.00 ; SEM-III: 6.30 ; SEM-IV: 6.27 ; SEM-V: 5.37  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.18

3000273 MAURVA ROHIT JAYPRAKASH PUSHPA

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 8.07 ; SEM-II: 6.93 ; SEM-III: 6.50 ; SEM-IV: 6.77 ; SEM-V: 6.53  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: --

3000274 /MHATRE SNEHA KRISHNA-SUVRANA

110 16 D 6 96 16 96 6.00 P 110

SGPI: SEM-I: 6.00 ; SEM-II: 6.13 ; SEM-III: 6.33 ; SEM-IV: 6.40 ; SEM-V: 6.77  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.29

3000275 /NACHANKAR TANAYA DINESH PALLAVI

149 16 B 8 128 16 128 8.00 P 149

SGPI: SEM-I: 7.00 ; SEM-II: 6.60 ; SEM-III: 7.80 ; SEM-IV: 8.63 ; SEM-V: 8.63  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 7.76

/- FEMALE, #- 0.229, B- 0.5042/O.5043, + - 0.5045, \$- Carried Forward Grade, -- Dyalexia, A/ABS- Absent, F- Fails, P- Passes  
 RR- Reserved, RLE- Reserve for Lower Examination, RPV- Provisional, RCC- 0.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, REG:Sum of Credit Points, REG:Sum of Product of Credits & Grades  
 SGPI: Semester Grade Performance Index \* REG/REG, CGPI: Cumulative Grade Performance Index  
 % MARK : 80 and Above 75-79 70-74 65-69 60-64 55-59 50-54 45-49 40-44 35-39 30-34 25-29 20-24 15-19 10-14 5-9 0-4  
 Grade / CGPI : 0 / 10 A / 1 2 / 3 C / 7 D / 5 E / 3 F / 3 Less Than 40

ATTESSED TRUE COPY

PRINCIPAL  
 HARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI





SEAT NO. NAME  
 <Course-I>  
 Bx(200/80) C G GP C\*G **MR MRG** SCPI RESULT REMARK 200/80

01. PROFESSIONAL PRACTICE

3000282 / PUJARI KANCHAN MADHU PUJA

112 16 D 6 96 16 96 6.00 P 112

SGPI: SEM-I: 6.70 ; SEM-II: 7.50 ; SEM-III: 7.03 ; SEM-IV: 7.77 ; SEM-V: 7.83  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 7.23

3000283 / RAJPUT MAHIMA HEMRAJ MAMTA

125 16 C 7 112 16 112 7.00 P 125

SGPI: SEM-I: 7.40 ; SEM-II: 6.00 ; SEM-III: 6.43 ; SEM-IV: 6.47 ; SEM-V: 7.47  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.78

3000284 / SALVI SIDDHI JANARDHAN JYOTSNA

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.30 ; SEM-II: 6.03 ; SEM-III: 6.53 ; SEM-IV: 5.57 ; SEM-V: 5.33  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: --

3000285 / SHAIKH ABDOUL WAHEED ABDUL MAJIED ROSHAN BEGAM

100 16 D 6 96 16 96 6.00 P 100

SGPI: SEM-I: 7.03 ; SEM-II: 7.03 ; SEM-III: 7.30 ; SEM-IV: 8.30 ; SEM-V: 9.03  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 7.57

3000286 / THAKUR SUNAINA CHETAN PRIYANKA

120 16 C 7 112 16 112 7.00 P 120

SGPI: SEM-I: 7.03 ; SEM-II: 6.20 ; SEM-III: 7.20 ; SEM-IV: 7.03 ; SEM-V: 7.17  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.93

3000287 / UBALDE OM RAVINDRA PRITTI

122 16 C 7 112 16 112 7.00 P 122

SGPI: SEM-I: 6.87 ; SEM-II: 6.00 ; SEM-III: 6.53 ; SEM-IV: 6.90 ; SEM-V: 6.77  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

CGPI: 6.65 90.10

ATTESSED TRUE COPY

- FEMALE, # - O.229, B - O.5042/O.5043, \* - O.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
 RR - Reserved, RLE - Reserve For Lower Examination, RPY - Provisional, RCC - O.5050, ADC - Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, #G:Sum of Credit Points, #G:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = #G/#, CGPI:Cumulative Grade Performance Index  
 % Marks : 90 and Above 75-79.99 70-74.99 60-69.99 50-59.99 40-44.99 40 Below  
 Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4 G / 0



SEAT\_NO NAME  
 <Course-I>  
 Ex(200/80) C G GP C+G R# R#G SCPI RESULT REMARK 200/80

01. PROFESSIONAL PRACTICE

3000288 VAVIYA DEEPAK GOVIND AMRUT

A - - - - - 0 0 0 - - - - - A ABS 0  
 SCPI: SEM-I: 8.33 ; SEM-II: 7.53 ; SEM-III: 7.37 ; SEM-IV: 6.23 ; SEM-V: 5.87  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: ---

3000289 YADAV ANANT KRISHNANAND NEELAM

125 16 C 7 112 16 112 7.00 P 125  
 SCPI: SEM-I: 5.97 ; SEM-II: 6.00 ; SEM-III: 6.00 ; SEM-IV: 5.90 ; SEM-V: 5.27  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.12

/- FEMALE, #- 0.229, @- 0.5042/O.5043, \*- 0.5045, \$- Carried Forward Grade, -- Dyslexia, A/ABS- Absent, F- Fails, P- Passes  
 RR- Reserved, RLB- Reserve for Lower Examination, RPV- Provisional, RCC- 0.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, R#:Sum of Credit Points, R#G:Sum of Product of Credits & Grades  
 SCPI:Semester Grade Performance Index - R#G/R#, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : O / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4

ATTESTED TRUE COPY

PRINCIPAL  
 BHARATI VIDYAPEETH  
 COLLEGE OF ARCHITECTURE  
 NAVI MUMBAI



OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2023  
 COLLEGE/CENTRE NAME: Bharati Vidyapeeth's College of Architecture  
 RESULT DATE : - 03 AUGUST, 2023

SEAT NO NAME  
 <Course-1>  
 EX(200/80) C G GP C\*G AC ACG SGPI RESULT REMARK 200/80

01. PROFESSIONAL PRACTICE

1146263 /ADARKAR MADHUMANJIRI MADHAV DHANASHREE

A - - - - - 0 0 0 - - - A ABS 0  
 SGPI: SEM-I: 6.83 ; SEM-II: 7.90 ; SEM-III: 7.63 ; SEM-IV: 6.63 ; SEM-V: 6.43  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146264 AGATEERTHA SHIVNAG KEERTEPPA DEVAKI

A - - - - - 0 0 0 - - - A ABS 0  
 SGPI: SEM-I: 6.30 ; SEM-II: 5.90 ; SEM-III: 5.50 ; SEM-IV: 5.90 ; SEM-V: - -  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: - -  
 CGPI: - - -

1146265 /ANURAGI VEENA AMIT KARUNA

A - - - - - 0 0 0 - - - A ABS 0  
 SGPI: SEM-I: - - ; SEM-II: - - ; SEM-III: 6.30 ; SEM-IV: 8.30 ; SEM-V: 7.47  
 CREDITS: SEM-I: - - ; SEM-II: - - ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146266 /BHASHTI POONAM SHRIRANG SANGEETA

125 16 C 7 112 16 112 7.00 F RLE 125  
 SGPI: SEM-I: - - ; SEM-II: - - ; SEM-III: - - ; SEM-IV: - - ; SEM-V: 6.23  
 CREDITS: SEM-I: - - ; SEM-II: - - ; SEM-III: - - ; SEM-IV: - - ; SEM-V: 30  
 CGPI: - - -

1146267 /CHOUDHARY VINITA TILOKRAM DARITYA

A - - - - - 0 0 0 - - - A ABS 0  
 SGPI: SEM-I: 6.20 ; SEM-II: 6.53 ; SEM-III: 6.93 ; SEM-IV: 7.13 ; SEM-V: 5.73  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146268 /DAMALE NEHA UDDHAW VAIBHAVI

130 16 C 7 112 16 112 7.00 F 130  
 SGPI: SEM-I: D ; SEM-II: D ; SEM-III: 8.07 ; SEM-IV: 8.83 ; SEM-V: 8.00  
 CREDITS: SEM-I: - - ; SEM-II: - - ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 7.98

- FEMALE, #- 0.229, @- 0.5042/O.5043, \*- 0.5045, \$- Carried Forward Grade, -- Dyslexia, A/ABS- Absent, F- Fails, P- Passes  
 RR- Reserved, RLE- Reserve for Lower Examination, RLV- Provisional, RCC- O.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credit, AC:Sum of Credit Points, ACG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = ACG/AC, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : O / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4 F / 0

ATTENDED TRUE COPY



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Brihanmumbai City Corporation  
 Station, C.B.D. New Mumbai

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2023  
 COLLEGE/CENTRE NAME:376:Bharati Vidyapeeth's College of Architecture  
 RESULT DATE :- 03 AUGUST, 2023

SEAT\_NO NAME C G GP C\*G AC ACG SGPI RESULT REMARK 200/80  
 <Course-I>  
 EX(200/80)

01. PROFESSIONAL PRACTICE

1146269 DEOKAR SHIVAM SUNIL SHIVKANYA

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.73 ; SEM-II: 5.97 ; SEM-III: 6.37 ; SEM-IV: 4.60 ; SEM-V: 4.73  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - -

1146270 DSOUZA AARON ANTHONY MARIA

155 16 A 9 144 16 144 9.00 P 155

SGPI: SEM-I: 5.87 ; SEM-II: 6.70 ; SEM-III: 6.77 ; SEM-IV: 7.17 ; SEM-V: 6.57  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.85

1146271 /DUHEY ANJALI SHYAMLAL RAJKUMARI

160 16 O 10 160 16 160 10.00 P 160

SGPI: SEM-I: 7.23 ; SEM-II: 7.17 ; SEM-III: 8.20 ; SEM-IV: 7.10 ; SEM-V: 7.27  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 7.65 @0.10

1146272 /GADE GAURI GIRISH RUPALI

160 16 O 10 160 16 160 10.00 P 160

SGPI: SEM-I: 0 ; SEM-II: 0 ; SEM-III: 6.43 ; SEM-IV: 6.33 ; SEM-V: 5.80  
 CREDITS: SEM-I: - - ; SEM-II: - - ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 7.14

1146273 /GAVALI SONALI SANJAY CHANGUNA

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.93 ; SEM-II: 6.63 ; SEM-III: 6.93 ; SEM-IV: 4.57 ; SEM-V: 4.33  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - -

1146274 /GHARAT SHRAVANI TUKARAM HEMLATA

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.93 ; SEM-II: 6.87 ; SEM-III: 6.27 ; SEM-IV: 6.70 ; SEM-V: 5.47  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - -

/- FEMALE, # - 0.229, @ - 0.5042/O.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
 RR - Reserved, RLE - Reserve for Lower Examination, RPV - Provisional, RCC - O.5050, ADC - Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, AC:Sum of Credit Points, ACG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index - ACG/AC, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4

ATTESTED TRUE COPY

*(Signature)*



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Bhamburda Complex, Opp. Kharghar  
 RIN Station C.B.D. Navi Mumbai

SEAT NO NAME  
 <Course-I>  
 Ex(200/80) C G GP C\*G AC ACG SGPI RESULT REMARK 200/80

01. PROFESSIONAL PRACTICE

1146275 /GHOLAP RUTUJA BHAVESH BHAVIKA

150 16 A 9 144 16 144 9.00 P 150

SGPI: SEM-I: 7.70 ; SEM-II: 8.03 ; SEM-III: 7.83 ; SEM-IV: 8.10 ; SEM-V: 7.53  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 7.95

1146276 /GODE ISHA ANITAABH K GODE SWATI ANITAABH GODE

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 8.63 ; SEM-II: 8.70 ; SEM-III: 8.47 ; SEM-IV: 7.23 ; SEM-V: -  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -  
 CGPI: -

1146277 GUPTA OMPRAKASH LAXMAN SUNIITA

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.20 ; SEM-II: 6.07 ; SEM-III: 5.87 ; SEM-IV: 6.33 ; SEM-V: -  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -  
 CGPI: -

1146278 JADHAV YASH SUNIL POOJA

A - - - - - 0 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.00 ; SEM-II: 5.60 ; SEM-III: 6.27 ; SEM-IV: 7.00 ; SEM-V: 5.40  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: -

1146279 /JAMDAR TANVI SUNIL NEHA

145 16 B 8 128 16 128 8.00 P 145

SGPI: SEM-I: D ; SEM-II: D ; SEM-III: 8.30 ; SEM-IV: 8.70 ; SEM-V: 6.90  
 CREDITS: SEM-I: - ; SEM-II: - ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 7.98

1146280 /JANGID KIRAN SOHANLAL MANJU

135 16 C 7 112 16 112 7.00 P 135

SGPI: SEM-I: 6.07 ; SEM-II: 6.80 ; SEM-III: 7.10 ; SEM-IV: 7.43 ; SEM-V: 7.17  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.92

/- FEMALE, \$- 0.229, #- 0.5042/0.5043, \*- 0.5045, \$- Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F- Fails, P- Passes  
 RR- Reserved, RLE- Reserve for Lower Examination, RPV- Provisional, RCC- 0.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, \$C:Sum of Credit Points, \$CG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = \$C/\$C, CGPI:Cumulative Grade Performance Index  
 & Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : O / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4

ATTESTED TRUE COPY

*(Signature)*



Principal  
 Bhatati Vidyapeeth  
 College of Architecture  
 Belgaoda Complex, Off. Kharghar  
 City Station, C.B.D. New Mumbai

SEAT NO NAME  
<Course-I>  
Ex(200/80) C G GP C\*G AC ACG SGPI RESULT REMARK 200/80

## 01. PROFESSIONAL PRACTICE

1146281 /KADAM JANHAVI VIRENDRA VRONDA

155 16 A 9 144 16 144 9.00 P 155

SGPI: SEM-I: D ; SEM-II: D ; SEM-III: 8.57 ; SEM-IV: 8.10 ; SEM-V: 8.17  
CGPI: 8.46  
CREDITS: SEM-I: -- ; SEM-II: -- ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

1146282 /MAHADIK PRANALI CHANDRAKANT VANITIA

A -- -- -- 0 0 0 -- A ABS 0

SGPI: SEM-I: 7.37 ; SEM-II: 7.37 ; SEM-III: 7.43 ; SEM-IV: 7.30 ; SEM-V: 7.40  
CGPI: --  
CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

1146283 /MHATRE TEJASVI SANTOSH PRITTI

A -- -- -- 0 0 0 -- A ABS 0

SGPI: SEM-I: 6.10 ; SEM-II: 6.00 ; SEM-III: 5.93 ; SEM-IV: 5.70 ; SEM-V: --  
CGPI: --  
CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: --

1146284 /MORE SEJAL VIMOD VAIBHAVI

130 16 C 7 112 16 112 7.00 P 130

SGPI: SEM-I: 6.90 ; SEM-II: 8.00 ; SEM-III: 7.47 ; SEM-IV: 7.67 ; SEM-V: 6.23  
CGPI: 7.23  
CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

1146285 /NADKAR SHRUTI NILESH NITA

150 16 A 9 144 16 144 9.00 P 150

SGPI: SEM-I: 6.77 ; SEM-II: 7.43 ; SEM-III: 8.77 ; SEM-IV: 6.80 ; SEM-V: 6.47  
CGPI: 7.42  
CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30

1146286 /PANSARE MANASVI DINESH KISHORI

A -- -- -- 0 0 0 -- A ABS 0

SGPI: SEM-I: 6.40 ; SEM-II: 6.87 ; SEM-III: 7.57 ; SEM-IV: 6.23 ; SEM-V: --  
CGPI: --  
CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: --

/- FEMALE, + - 0.229, B - 0.5042/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
RR - Reserved, RLE - Reserve for Lower Examination, RPV - Provisional, RCC - 0.5050, ADC - Admission Cancelled  
G:Grade, GP:Grade Point, C:Credits, AC:Sum of Credit Points, ACG:Sum of Product of Credits & Grades  
SGPI:Semester Grade Performance Index = ACG/AC, CGPI:Cumulative Grade Performance Index  
% Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 P / 4 F / 0

ATTESTED TRUE COPY



Principal  
Bharati Vidyapeeth  
College of Architecture  
Belpada Complex, Opp. Kharghar  
Rly. Station, C.B.D., New Mumbai

OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2023  
 COLLEGE/CENTRE NAME: 376:Bharati Vidyapeeth's College of Architecture RESULT DATE :- 03 AUGUST, 2023

SEAT\_NO NAME <Course-I> C G GP C\*G AC ACC SGPI RESULT REMARK 200/80  
 Ex(200/80)

01. PROFESSIONAL PRACTICE

1146287 /PATIL ADITI BHANUDAS RENUKA

A - - - - - 0 0 - - - - - A ABS 0  
 SGPI: SEM-I: 6.40 ; SEM-II: 7.43 ; SEM-III: 8.03 ; SEM-IV: 7.50 ; SEM-V: 6.37  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146288 PATIL PRAJWAL KUNDAN RANJANA

A - - - - - 0 0 - - - - - A ABS 0  
 SGPI: SEM-I: 7.23 ; SEM-II: 7.93 ; SEM-III: 8.27 ; SEM-IV: 7.43 ; SEM-V: 6.07  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146289 PATIL VISHAL SARBRAO VANITA

A - - - - - 0 0 - - - - - A ABS 0  
 SGPI: SEM-I: 6.27 ; SEM-II: 5.77 ; SEM-III: 6.07 ; SEM-IV: 4.20 ; SEM-V: 4.80  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

1146290 PAMAR JAY DNYANDEV DEEPA

A - - - - - 0 0 - - - - - A ABS 0  
 SGPI: SEM-I: 6.00 ; SEM-II: 6.03 ; SEM-III: 7.17 ; SEM-IV: 7.27 ; SEM-V: - -  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: - -  
 CGPI: - - -

1146291 RAUT MANOJ DILIP ASHWINI

135 16 C 7 112 16 112 7.00 P 135  
 SGPI: SEM-I: 6.57 ; SEM-II: 6.40 ; SEM-III: 7.17 ; SEM-IV: 7.83 ; SEM-V: 6.33  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.87

1146292 /RAVAL DISHA RAJESH RITA

A - - - - - 0 0 - - - - - A ABS 0  
 SGPI: SEM-I: 6.33 ; SEM-II: 6.47 ; SEM-III: 6.97 ; SEM-IV: 6.17 ; SEM-V: 5.17  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: - - -

Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4  
 / - FEMALE, # - 0.229, @ - 0.5042/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
 RR - Reserved, RLE - Reserve for Lower Examination, RPV - Provisional, RCC - 0.5050, ADC - Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, AC:Sum of Credit Points, ACG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = ACG/AC, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 40-44.99 Less Than 40

ATTESTED TRUE COPY



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Vastu Complex, Opp. Kharjhar  
 Station, C.B.D. New Mumbai

SEAT\_NO NAME <Course-1> C G GP C\*G 3C 3CG SGPI RESULT REMARK 200/80  
 Ex(200/80)

01. PROFESSIONAL PRACTICE

1146293 SHARMA SUMEET SHYAM JYOTI

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.20 ; SEM-II: 5.90 ; SEM-III: 6.43 ; SEM-IV: 4.67 ; SEM-V: 5.10  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30 CGPI: --

1146294 SHELAR SHREYANG SUNDEEP MINAL

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.03 ; SEM-II: 5.83 ; SEM-III: 6.43 ; SEM-IV: 5.43 ; SEM-V: --  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -- CGPI: --

1146295 /SHIVANE KISHORI SHIVAJI KALPANA

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.53 ; SEM-II: 6.03 ; SEM-III: 5.73 ; SEM-IV: 4.20 ; SEM-V: --  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -- CGPI: --

1146296 /SURESHBABU ANAGHA SURESHBABU RATHI

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 7.03 ; SEM-II: 7.53 ; SEM-III: 7.87 ; SEM-IV: 7.13 ; SEM-V: --  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -- CGPI: --

1146297 SYED OMAIS AKRAM SYED SHABANA AKRAM SYED

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 5.73 ; SEM-II: 6.00 ; SEM-III: 6.00 ; SEM-IV: 5.90 ; SEM-V: --  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: -- CGPI: --

1146298 /SYED UROOJ AKRAM SHABANA

A - - - - - 0 0 - - - - - A ABS 0

SGPI: SEM-I: 6.37 ; SEM-II: 7.13 ; SEM-III: 7.50 ; SEM-IV: 6.67 ; SEM-V: 5.93  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30 CGPI: --

/- FEMALE, #- 0.229, @- 0.5042/0.5043, \*- 0.5045, \$- Carried Forward Grade, -- Dyslexia, A/ABS- Absent, F- Fails, P- Passes  
 RR- Reserved, RLE- Reserve for Lower Examination, RPV- Provisional, RCC- 0.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, aC:Sum of Credit Points, aCG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = aCG/aC, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : O / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 4

ATTESTED TRUE COPY



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Rajpada Complex, Opp. Kharghar  
 Rd, Station, C.B.D. Navi Mumbai



OFFICE REGISTER FOR THE B.VOC (INTERIOR DESIGN) (SEM-VI) (CBCS) DEGREE EXAMINATION HELD IN MAY 2023

COLLEGE/CENTRE NAME:376:Bharati Vidyapeeth's College of Architecture

RESULT DATE :- 03 AUGUST, 2023

SEAT\_NO NAME  
 <Course-I>  
 EX(200/80) C G GP C+G AC ACG SGPI RESULT REMARK 200/80

## 01. PROFESSIONAL PRACTICE

1146397 / RAWADE PRACHI BHAGWAN SHANTA

125 16 C 7 112 16 112 7.00 P 125

SGPI: SEM-I: 6.77 ; SEM-II: 6.27 ; SEM-III: 6.73 ; SEM-IV: 5.93 ; SEM-V: 5.73  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.35

1146398 / SALUNKHE VAIBHAV PRAKASH CHHAYA

130 16 C 7 112 16 112 7.00 P 130

SGPI: SEM-I: 5.67 ; SEM-II: 6.00 ; SEM-III: 6.10 ; SEM-IV: 6.07 ; SEM-V: 5.90  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.05

1146399 / TAMBE SHRUTI SANTOSH SUVARNA

150 16 A 9 144 16 144 9.00 P 150

SGPI: SEM-I: 6.60 ; SEM-II: 6.90 ; SEM-III: 6.23 ; SEM-IV: 6.00 ; SEM-V: 6.10  
 CREDITS: SEM-I: 30 ; SEM-II: 30 ; SEM-III: 30 ; SEM-IV: 30 ; SEM-V: 30  
 CGPI: 6.62

/- FEMALE, # - 0.229, @ - 0.5042/0.5043, \* - 0.5045, \$ - Carried Forward Grade, -- Dyslexia, A/ABS - Absent, F - Fails, P - Passes  
 RR- Reserved, RLE- Reserve for Lower Examination, RPV- Provisional, RCC - 0.5050, ADC- Admission Cancelled  
 G:Grade, GP:Grade Point, C:Credits, AC:Sum of Credit Points, ACG:Sum of Product of Credits & Grades  
 SGPI:Semester Grade Performance Index = ACG/AC, CGPI:Cumulative Grade Performance Index  
 % Marks : 80 and Above 75-79.99 70-74.99 60-69.99 50-59.99 45-49.99 40-44.99 Less Than 40  
 Grade / Gr. Pt. : 0 / 10 A / 9 B / 8 C / 7 D / 6 E / 5 F / 0

ATTESTED TRUE COPY



Principal  
 Bharati Vidyapeeth  
 College of Architecture  
 Belpada Complex, Opp. Kharghar  
 Rly Station, C.B.D, Navi Mumbai